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Parallel Observation of Strong Ground Motion
by Using both Acceleration and Velocity Type
Seismometers at Nakaizu Crustal Activity Observatory

By
8. Kinoshita

National Research Center for Disaster Prevention, Japan

Abstract
The purpose of observation of the strong ground motion at the Nakaizu Crustal
Activity Observatory (JIZ) is:

(1) the investigation of the base-rock motion in a near field, and

{2) the investigation of the strong motion observation system by using the
velocity type seismometer.

In the present study, the above-two subjects are considered based on the records on
the Izu-Hanto-Toho-Oki Earthquake (June 29, 1980) and its aftershacks. The results
of our consideration are following:

{1) in the short period less than 1 sec, the pass effects, probably, plays the main
role for the ground motion, independently of the magnitudes between 4.5
and 6.7 on JMA scale, and

(2) the velocity type strong motion observation is effective enough, especially,
in the long period more than | sec for the computation of the displacement
wave,
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Fig. I-1 Locations of epicenters of the observed earth-
quakes, i.e., No. I is the main shock and No,
2, 3 and 4 are aftershocks. Nakaizu (JIZ} is the
observation site.
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Table 1 List of the epicenters. (by JMA)

NO. ORIGIK TIME EPICENTER DEPTH  MAG.
LONGITUDE LATITUDE
M D H M 3 D KM M D MM km

1 6 2% 16 20 07.3 135 14 01 34 55 0 ic 6.7

2 6 30 2 23 29.5 139 14 01 34 51 01 10 4.%

3 7 7 1% 54 04.2 139 13 ¢l 34 54 01 1¢ 4.5

4 7 27 18 6 03.5 13% 14 00 34 57 00 10 4.6
JHA
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Table 2 List of the arrival time and hypocentral distance at JIZ.

NO. ARRIVAL TIME HYPOCENTRAL 3 3
DISTANCE B 8

¥ D H M ] km km/8 xm/s

1 629 16 20 11.41 24 6.1 3.3

2 630 2 23 33.60 25 6.1 3.4

3 7 719 54 08,30 23 5.6 3.1

4 72718 & 07.40 24 6.2 3.2
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o, L OKBREE OB B 2 ERMER O SMREEY, ToEL0HRYICE
WTHEHNE L i, HEOZELR -NRHMBOESRIC BT 2RBBHTAE > TFEHQ
BEReHLT—0RYAERYT LEDN S,

OIS UNEBRET I 50LBEHNAEHEERC B ANEOBAR-HAR (&
#)OHABREABEEL AR Mty — v, BEMBBA TR I TICHEREINT
wa. (Kinoshita, 1978)#& A, MBI 2RAFERTE, v/ =F2—F4
~SIEEORIRIC L 5 &, RIRBRATENC T AHETI 0.08%), THEEPFERCE T ZHETH
0. 2 BHEic e~ 7 2 b EBEEENER R vk, T, SEOHELEDT,
BROEEEAFM - FEABEEMEIOHBLBMD 2RI Pl e Xy — Y &rT.
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BRI - A THLNTO A, REDONSHEARSVTOERER 1 TRFRT EINT
H3H, AELRROBEMNELNS.
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hEGI B ARTHANL, | BTR~RJHEKESOTIThOTyn s, IS0
T, BEITEBELNAERSLIUSHOBBERUTOLITES.

(1) SERMEEHC LS T, GEMBcs] 2B L Rk, RIRROE CHBIIL
LT, =7 =Fa—FORNMN TR, 45~6.7)&hrbdd, BEIWLUT
OEBHNTIESOSEIRFET LA ( AEoMETIZ 04 WEE ). L, K
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Toah, EH(LLE, FRA) K0 TE, BREBAEAZMMEREROHR
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2~ F4~50BCHL T, BEEBCHBEREDZR I P /¥y - ER-THD
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ERE T REN LR,

LSEDRED & HN/IMBORB AR O EBERYROFEG TRA~DIEHI, &
FESEIHAECET AEBRBORE ( wan, 1978) TOEETRME LTRE
ANTVA. FHRTOBEHAS G, BEECEY 3 ZRABHOBABREEES
W ohDERRCETAHBESCE L bR, MICHETLITETSHS.
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4)

5)

- E X [

EIBRMER G 5 - (1979) : ERERBUOFAR O HREEEZ(LIZNT ZHA.
BRG] FEANSREEHRERASE.
Jury, E.1.(18964) : Theory and Application of the z-Transform Method,
Wiley, New York,
Kinoshita, S, (1978) ! Simple method for formulating the wave trans-
fer funciion and its application to deep and shallow borehole data,
Proceedings of the fifth Japan earthguake engineering symposium,
137—-144.
Iwan,W.D.ed.(1978) ! Strong—Motion Earthquake Instrument Arrays,
Proceedings of the international workshop of,strong-mﬂtion
earthguake instrument arrays,
Nikelic,Z.].(1875) ! A recursive time-varying band-pass f[ilter.
Geophysics, Vol. 40,Ma3, 520 -5286,
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haty $980-06=29
COMPONENT NaS
TesED)

T

0410
D20
D10
LA
G450
utll
.70
.80
.90

1.00
1.10
1,20
Yard
Ve
ta50
1,80
.70
1.80
.90

.00
2410
7eR0
2430
2.4
2,50
2,80
2.00
2.80
2450

$.00
3,10
3.20
3.0
3aul
$.50
Lanl
.70
14RO
S.90

Gapt
[0
[ 1]
4a30
Gatl
bes0
Lapl
4,70
4aA0
4a0l

EVERREREe Y s —HAES $H445

STATION

SAMPLING

0.87
Gaud
0uk®

1,44

X3 MEESICEERGER) olELids

9.87
Cy2®
Dok
1,08
-0.50
=0,30
0,28
0,11
Gath
te06

0.0%
-85
1,84
2 04
Lyk?
-tedh
1,06

INTERVAL 0,01

Table 3 Digitized data on main shock,

(SED) TOTAL COUNT OF

RECELERATON (GAL)

9,8/
0.87
0,87
-1, 0¥
0,4k
0,4k
0,6
0,0kF
1,45
U, EF

=-h,8%
-0, 50
2,23
2.8¢
a,87
-2, 00
1,65
=10t
2,63
-4, 01

2,43
1,44
=0.8Y
LR
-t ér
G,
-y, By
=Ry
1,74
U,0%

=0, 11
=1,
5,90
e, Uk
-4 ,5Y
-1, 00
LIRS
-2,.84
«12, tk
LT S

-t1,81
=%, T4
—Z.h4
-, 5%

B.2F
5,67
-5, 51
5,45
=73, %¢

14,54

Nes? 0,78
a,8? 0.27
n.27 0,87
«0,8%  «0,69
.28 0.28
T,22 0,28
=1,11 =0, 1%

Neaf 0,48
126 1,26
ne2R 0,28
=t Nk -t 08
=, AT =0,69
Z.%? 2,62
.50 3,21
1, R4 1,85
-2 b 2,45
1,2¢ 149
5,34 4,8
2uR7? 2
~EaL? 7,04
.23 2,48
Y 4, %8
fet P -0
Myaw =2, 0
S X 1,79
Fate 5,40
Nkt fLrh
=7ah -tLrR
Talt 3,40
=t.af [
T.AY 1,48
=1 nE g, 4R
PR 4,57
L N
=5.7n By )
=1.2F 2.0k
A, 8¢ 8,07

7,54 =Pl
=12,5% «19,41
[0 T

Vet =16,79
bt =17 07
=7 kb 4,8
P L

Roa7 ttem
Avh7 12,74
B A L
hye .18

CFE YA R AL

=14e34  =i5,%0

— 26.__

0,28
0,28
0,48
-1,78
0,87
-0, A%
0.48
-0, 89
1,28
1,45

-l,50
a,L8
1,28
1,85

-h, 2y

-1,08
1 R4
2,62

-1,78
0Lu8

L}
6,91
=r69
-4, 70
3,21
2,44
1,06
-0, 45
LA
noe?

1,24
C,?8
4,38
-4, 30
=791

T.55

7RG
-7.25
=1H, 8
-4, 0R

15,714
-1%,90
1,79
1,65
15,35
12,18
-17,27
I s
vt 09
-13,%7

NAKALZU CRUST&L ACTiyITY OBSERVATGRY(J1Z}

RATA 3000

0,24
.28
Cedf
-1,78
b.a7
al,50
0,248
=0,5%0
Y L.us
1,24

0,11
0,68
1,65
2,2%

=0,85
1,24
3.7%
3,40

=3.03%

=0, 11

0,47
5.3%
=0,489
=t,0R
3,01
ty2a
=T, 8k
-3,k1
1,06
5,74

2,45
5,60
G.87

=2.4%

=8,.30
0,47
3,99
=2,55
=1%,61

L

-t5,90
«15%,80
3,2t
Lo1R
15.49
11,79
-14,84
4,91
22,92
=157

1981%1A

BURATION 3p,00 (SEC)

U a?
0.87
. A?
»0,50
[rd
=0, 50
C.og
0,87
1,48
126

Taes
CuB?
1445
2.2
-1,0¢8
2,67
4,38
$.2%
=5,
a0, %1

Goak
.16
0,60
=1.2%
3,21
Tedh
-tee?
LY I T
.48
4,58

=4, 20
2,41
-0.30
g, B
ELES 1
3.60
1,84
-f. 1z
N
=4, 79

hATY-1]
=6,15%
Q,2R
f.69
18,22
.67
=7.52
12,94
=1¥,.0%
1,20

Gut?
GasT
0,09
“L.49
0.éR
-d,5%
0.8
Ceb®
=0, 30
VeH7

-0, 80
1.é0
Ga28

=1,2%

=503
1,26
1,06
LT
-4 uhs
=0, 469

FE-
2043
=t /R
T.65
a9
Tewb
-1.a7
Gauk
Tatt
$.21

=F
oén
2,4k
T
=e,th
he%h
ol
=r.u®
=12,
4,40

=to,aF
“ha 5
Uatk
IR
1/.25
CPFLY
-2 N1
1,40
=14 48
=Laed

0.87
u.8?
0,58
“Jub?
0,483
-0,9%7
0.28
0.2%
“N.57
0.87

=0.5%%
Ta28
0,69
-0,k
=284
1,74
t.2%
4,33
= B4
LIV -

.01
2,23
=0.%1
-0,
.87
1,04
0,11
Lok?
.2
vak?

5,54
2,24
-0, 1t
2o0?
7.7
7,39
1,25
-t2,92
10,28
-8.67

=la.ed
=4yl
ta45
7,04
634
t4.986
=Fabh
LIRS
~13,9%
5.6
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ety 19R0-04=27 STATION O NAKATZU CRUSTAL agtIviTY ORSFRVATORY(Jr2)

COMPONENT N=§ SAYPLILE IKTERVAL 0,01 (gEfy TATAL ENiINT UF carTA 3000 CURATIUN 3¢,0n (SFg)
Y(Sec ACCELFRATIEN (GALY

5.00 5,6 5460 0,42 t.ne TRb 11,721 11,56 AL te,th 10,81
Sa10 b7 b,91 i 67 =7.57 ~gg.l4 =37, 0A «38,77  =35.79 =3u,04 =30.14
S.20 -?N,5%  =20,74 -4, 01 ~5uh7 6,28 =7,51 7,91 =13,17 =1u4,15 =14,63%
5430 1B, B4 =tBehh m2h4,8F 25,07 -26,24 w2t 17 =21,%6 =t3,17 =10,8% =7,52
5440 5,76 G t7 20,95 PEPEL b, 02 34,07 43,84 12,46 3u,80 316,54
Seu0 42,99 weant 18,87 P2ua?? 7,45 CLIY] 6,56 =31.%1 -346,.77 =40,B%
5a&l wGh 57 mk3F ] abkp 15 g1, 77 =, 2 42,09 =35 06 26,82 <=27,02 -F4.A2
Sa 0l 20,52 =19.27  =0,50 1,21 15,49 31,0 10,51 65,94 LT 50,27
Sak0 51,37 S1e28 56,86 XL wh, &b 61,71t 59,35 4%, 81 34,00 H,RT
$.90 20,95 24,45 5, 1% G7ehl 43,48 19,28 16,94 73,49 te.# 10,82
b.00 -b,G¢ wP 7 mPh Be wit,k2 33,21 =24 ,09  «23,51 18,110 =S, 18 4,0
6210 -t,2%  =1.08 9,82 R, 08 E.rb 12,44 16,47 16,47 HLuR 7.5%
Aaon 2,57 =12,59 14,83 T, R -%,62 50,31 50,51 M, 70 27,00 24,81
Ba30 T .21 =4, 20 =3M,7k  =20,19 29,18 29,75 =32,09 =25,7% -29,7%
Baikl 22t,17 «td,27  «19,44 —hL 48 -6,54 =9, uF =B 50 el 87 =h,38 =&,15
4,50 -¢,0% “%a2? =3,6¢ =5,23 ~3,62 £,13 .08 10,47 19,00 14,42
Bahl ?h,22 2e.02 26,0¢ 14,48 1h,67 -2,04 G, 27 13,37 «1p,88 =15,71
Ay 20 =,h%  =10akd «10,.64 17,25 =10,4% 217,27 =21,8% =24,09 =21,%5 «71,75
&4R0 =TR,N5 «18,05 =18,24 =13,%7 =12,78 -4 98 2,08 4,1k .06 4,64
&,90 12,37 11,20 1,819 1,00 -0, %0 =11 AT 18,10 e18,8% «t5, 71 =14 9%
?.00 “0, 4 =5.87 =4 f% -G RA  =5,25 217,59 =16,10 «16,49  =Ti 15 =14,15
7.0 S12,50  wt,59 =12,5% -9,RA 8,30 ~7.45 43R 4,57 a9t 15,11
Fasll 19,87 ?1.5¢6 71,56 2?.52 28,54 12,07 15,14 56,18 12,24 ?5,5%
73l 24,07 P07 20,56 AR 24,66 ¥, 14 15,77 34,99 Zhaud 19,7%
Tail 12.9% haf? .35 mhati -5, 1% =5,74 =5,37 =5,57 =ra57 =%1,03%
?a50 “1T,78  =14,54 <4, 84 17,18 =13,17 =13,56 =B8R  =H,HR 0,09 3.01
7480 &,77 Fos0 6,91 R.a® 4.9 .60 -7, R4 ~1.67 1445 3,47
P, 70 4,1 6,53 5,94 LT 5,16 5,16 4,94 5.35 7,69 9.2%
ToH0 9,84 9,49 to.42 Bkl T.40 £,72 ~3.81 3,1 =R3 56 17,65
?auh 18,24 ~15,83 =17,4¢ ~17,59 -8, 74 =5,28 6,52 1 79,88 20,95
8,090 2115 7,85 f2,1¢ 15,40 5, %% 5.74 =k, 01 =-5,81 2.6 =¢.84
Ruth =754 0,67 -n,4% 745 -2, h4 =2 05 =-0,3%0 Q.48 2462 1,49
Be2l 3,21 se21 2.43 AT L -4, 98 “6,5% =12,7R8 =1d,9% =14,95 5,74
3,30 =713 -0.50 1.0¢ 1,80 1,49 3,2t 4,0% =1,24 2.és =0,%9
A,40 -0, 5,01 2.2 1.84 3,40 3,z 4,77 5./4 6,3% Fa58
2.50 .50 LELE] 4,06 RyRA &, 77 5,38 5,14 6,52 6,91 12.37
8,40 11.77 13,74 13,54 11,56 10,42 10,42 7,69 5,16 4ush ~2.e5
8,10 =2,0% LSRR =3, 8¢ =1N,RT =10,.%4 =10,¢% =B, 49 =6,54 6,15 =%,27
4,80 —4,0% -2.45% 1.0¢ 1.4% 5.5%% 6,13 11,01 12,57 1.t 1g.é2
2,90 to,01 beF1 5,74 Ba5% Faoh 10.2% Té.t3 Ta,9¢ Th,51t A.03
00 7,89 5418 P .16 LERL) 1,60 2.73 Sukt §.21 $.3%
a0 4,57 4y18 D, 4* 0,48 a%,57 i, 98 =hh 77 4,40 G40 =3,2)
9.2l -1, 81 -4.e0  =5,51 5,37 =4,%8 =5.8F 0 9,98 =5.,94  =5,96  =4,35
k0 ~5,37 =440 3,4 =5, 73 C,67 2,62 4,18 6,72 6,33 6.5
el 4,38 1,40 -t 67 -1, 2¥ w?, 9t ~11,462 =13,88 1,22 =tH 40 =YK ,8%
a0 =16,A8% wi16.10 «12,59 13,17 =13,9% =15,12 =15,71 «14,93 =%4.54 -10,25
et “7,15  =3.57 =3,23  .3,71  -1,78 —1,28 1,08 =P,44 =248 =2,4%
2470 =3,28 =342 =2.80 =%, -3,47 =2.06 =1,87 Q4R Gand D.A7
P80 D.b% G.28 B2k n.R7 2,82 S.T4 6,43 5,94 5,74 4 94
490 5,14 5,14 Lyttt L YA 1,26 1,85 .85 4,38 LR 514
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PATE 19R0=D6=29 STATIQN NAKATZU CRUSTAL 4cTPviTY ORSERVATQRY (Jr2)

COMPONENT Nm§ SAMPLING INTERVAL 8,01 (SECY TOTAL COuUNY DF bata 3000 BURATION 30,00 (See)
TCSEE) ACCELERATION (GALD

10,50 .18 5,91 b45¢ 5,65 b, 48 0,50  «0,30  =¢,B4  «i,82  +4,79
12,40 b, 04 mb,Th =P ,57 <718 =8,74 =5,%7  =5,37 =&,%R  =5.57  =8,35
14,70 LY - 11 =7,91 =10,66 19,41 =12,9A «12,00 =12,00 =11,03 -9, 86 =i, 87
10430 -5, 74 5,86 =2,0¢ w1,k =0,30 1,84 1,84 [YRL P [T
.40 &,52 LTS24 LR S S.ta 3,01 5,21 2,2% U,2B -0,%9
10458 =1.52 =5,42 -?.5¢ =R, 10 =B, 4% LY. 1+ ~B,6% =7, 7t 6,53 5,35
13,40 8,34 8,30 =K, 40 ~7oh¢ 7,52 =10,44 =10,64 «13,28 =14,7% =14,7%
10,70 SHE LAY 1G5k =12.8% 1N 4y =10,25 7,51 7,71 =5, 08 =g PR =4,93
10480 4,40 b 40 =g, 40 LA TLY: -3,h2 =4 ,59 -4, 7% =5,96 =8, 74 -5,74
10,50 3,67  =2,45 5,2¢ 1,65 1.6% 0,28  =0,50  =2,08 =440 =4,40
1i.00 -5,17 =6, 5% 8,30 =F,27 -9,77 7,13 =4,53 -6,35 6,40 =4, 5%
11,10 -2 Ak -2 Bl -2,4% mho i b, 20 -5,%7 =5,18 5,17 4,19 =4, 0%
Mzt -5, %5 =7,71 «%,6% =11,27 =11,0% «1t,08 10,86 10,84 =11,03 =11,0%
19,30 12,20 =1t,42 =1%,03 =1n,nS  =1Q,0% =R 10 aT,32  =0,%1 ~5./6  =5,74
T1aal ab 4 L P 5,03 2.0 a1, #g 0,50 .65 2,43 .38 .54
1,50 S.14 5.14 5,0t .04 3,40 3,21 3.21 3,40 T.85 5,14
el 8,18 LI Falt 12.1K 11,98 12,17 11,79 11,79 LYY 16.0%
11,70 TLRAS .11 o1 5,35 5,59 5,14 5.1A 5. 16 e 2R 4,7%
11,80 9,04 4,86 &8¢ ?.89 [ 7.1 6,52 &,.52 Lot 5,34
1150 S.18 .21 LT3 5,21 5.5¢ 5,14 .18 5.14 S.th 5,14
12.00C S,14 8,134 5,94 7.1 6,52 £.15 [T 5,14 QL tE 5,99
12,10 1,79 418 [ 3,24 1,45 O,87 2.8k =2,45%  =5,th  =4,8%
12,20 -%,9% 3,23 -§.47 =2.006 at, 47 =t PR =t 67 =1,47 -é bk -2.8%
12,30 -2,84 =7, 08 -1,80 1,08 -0, 50 -0,11 0,48 0,09 -G, 80 0,09
A 0,2 5,01 2,57 3,21 2,72 7L K 2.2% .81 2,07 .R?
12,50 Y4 4e96 4,7¢ i, 5F 4,18 0,38 0,24 Oy uk -, 59 -1,08%
12.80 =1,02 =1,08 -, Y -y a% 0,0k n,28 .45 Y.48 P 145
12,70 1,65 Uat? 1,0¢ 1aas 0.2k 0,48 =1,87 =2,04  =¢.0% =1,08
12,80 -1,2% =1,08 -, 8% =, e ot T -t,&7 ~0,58 0,47 1,65 2,75
12.00 2.2 2,23 2,25 ?.23 Y.ES TR 2,02 3,01 3,21 5.21
15400 .20 440 2,2% tah 0,09 0,48 0,78 0,11 v, 09 0.5
13,50 -0,5" -1,87 -E,2% “? 45 =3,42 =125 LT 811 -1, 2F “L,ad V.65
15,20 1.2 1,26 1,2¢ TLee 241 2,75 2,82 3,99 L,1F 5.1%
15430 5.14 by 94 5,18 Sa1m 4.8 L, 58 b, 3R L ¢oc? t.0%
AR 0,47 1,87 3,235 I, 42 =3.42 =562 LA =4, 40 4,40 6,15
13a50 =5,94 =Y. G4 "y, 9F wh R -k, 40 -k, 7% -5,57 PLIS LS -t 15 5,35
4,50 =5 LETS X =5.37 =5437 =3.73 5,08 =245 =f.45 éehS =Z. 86
13,70 5,25 =5.42 ALY w2, Ah 2,45 =P HE 3,42 =B, A2 w8,23 w457
13,50 ~5,A1 EA Y T4 =765 =2, AU 167 2,04 =2,4% TR L =440l -6i,99
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a0 -0, R0 0,69 U, 0t Oaa?® 1,65 2,48 2,62 2,2% &,2% 1,6%
4,30 2.4t PREY 5. 7% 3,74 [ORT] 4,38 L, 18 3,21 5,40 4.2
thaul .87 IS .14 2,8 2,23 1,78 1.45 1,48 1.24 1,26 1,469
L1 Te?4 1aks 1.2¢ tyRa 2,02 3.2 3,24 3,2% S.2% 3.21
Than .74 2443 Q.bf LY 0,4k =0 67 0,49 =1,24 LIY-L N T
Yhatn ba2e Ly 28 1,45 t.2¢ 1,0% =0,89 0,510 =-2,2% = eld mé bS5
TeakD =F At =245 2,45 r2e65 -2,4% “2,4% 2,45 =34 =5.¢3 =3.0%
T4.00 -2.45 al b 2,06 el b -1,r8 =2,06  =2,08 -2.45 LA ks
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15,00 LY PE T AT 118 New? 1,08 5.0t 2,82 5.2t 5.%9 4,18
18,10 5,55 5414 5.1¢ LPRE b,55 b,52 8,55 5,58 5.4 515
15,20 18 95 5, 1¢ LI 3,16 3.t [T 4,38 PPET. Ga38
15,10 5,01 340 5,21 LA 2,258 1,65 1,06 8,68  =u, 89 «0,67
5.0 1,78 =108 =1.6¥ afl A8 =0,%8 LY 0,67 1.4% 1,26 1,45
15,50 0,27  =U, 1t =1 0 w2045 =2,45 =147 <178 =U,49 UguB Y
1540 3.0t 3,79 PNt S, S.14 3,60 3,04 2.1 £4¢% 2.2
15,70 2,37 .0t 3,21 Y 2.h2 2,72 2,62 2,45 .67 2,87
15.K0 [ $e01 2.H¢ Zob? I 3,40 3,79 Ly18 T PR E]
Tiean 2,04 1,84 1,85 T, A% 1,6% 1,86 1,65 1,45 =1.47 -1,24
16,00 ¢ubha m@aBh =3, 08 23,42 w3, 82 =4, 40 =3B =62 -i.84  =1.8%
1a,10 N R FT LA BT Sy DY) -2,05% .06 =B,45  =2,45 =§.uF  md,B4
6,70 =5,n% -2.,84 -3,0% “tot? =347 CIPLY ] b b0 LT “5.¢% -5,2%
thast 2,84 =5,0% -5,03 “?.45 2,04 -7, 45 -F.b4 =Z.45 =2, 08 1,84
18,40 =t,n% -1,28 =-1,2r =2, bt 2,78 -1,.08 -1,08 -1,08 =U.69 =0.57
18,50 =0,8% =0.49 =0, 6V s1,47 i 67 -1,87 “Z, bk =& 45 -2 k5 2,44
1husl 2,80 =2.45 w2045 af,62 =401 “4 k0 =342 5,47 =5.42  =2,84
16.70 2,40 =1aa? -1,4¢ 0 4k 0,28 v.28 =-1,28 =1.0% -1, 08 1,23
14,80 1,47 =1.98 -1, 0r FLY w18 0,28 =049 0,50 U.ef 0,2%
16D 0,22 LY ] 0, 2F N4 4R 0,28 0,28 0,45% C.2R “L,.89 =0.52
17,00 -0, 47 -u,%0 -, 67 al. fE -1, 08 =1, 04 -1,068 =1,2%8 LR ! -1,0%
e -t 0% i, %0 =-G,85 -0, &7 1,06 t.7s 1e28 V.85 2,23 3,01
17,20 1,21 5,18 4.9 4,04 4,56 5,18 $,14 4,77 WA 5,70
1250 3,79 121 .21 el 2.82 é,462 L 7T A 5,60 5./ 3,80
17,40 1,77 3.2t 5,21 3,21 2,82 2,82 2.21 2,04 1,65 1,84
17,50 ti b5 2,482 2,08 FeRE 2,73 2,23 1,04 1,06 Qus? .87
7. a0 G R7 te26 1,2¢ 1,26 0,24 0.¢F 0,69  =1,28  «1,47 =1,01
17,70 atol%  =U,50 a,2¢ n, 47 0,78 0,09  =1,28  =2,08  =2,45  «2,64
Y7.80 =245 =2445 =2,84 -2, =245 =2.45 =249 =1,08 =U.6% 0,87
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19410 - L Takd 2,23 V.88 ‘e85 Tk D.u8 _ . O.48. 0 .29 Ul =087
19,20 ~0,8% ~0.89 -5, 08 1,47 2,06 1,88 «i,87 =%',08 0,89 =0,69
19,350 =1.0% =0,89 =1,67 1,47 1,47 =1,67 1,47  =1,08 0,49 0,487
19,40 .47 =1.47 =-2.06 -2, 64 -2, 84 -3,0% =3,04 %1 ~dadk *2.45
19,50 1,88 =2,06 =-0,30 )y B9 0,49 0,28 ¢, 28  =G,49 0,69 - 0%
19,40 2,04 w2,06 =2,84%  «2,R4  =2,64 22,66 w2,4% =245 =2.4%  =2,45
19,70 i w2 kS L =2pkS m2,45 =3,45 w2,45 =2,05 o w2.B4 . mBgb2  m5.2Y +3.03
19,80 =4, 40 =440 LY wli g 201 b, 20 =4, 40 b, 40 5,23 L P 5,42
19,90 2,45 =245 w245 et,47  -1,28 1,28  «1,08  «0,89 =1,28 «1,04



DATF 19B0w08=29
COMpONENT N=§
T(SED)

#0,00
20,10
20420
20,30
20enl
2050
20,40
20,70
20480
70,50

21,00
2t.10
21,20
21,30
21,0
AR
21,40
21,70
21 K0
21,50

22.00
22,10
22.70
22,30
22440
272,50
TZ.60
2z2.70
22480
2.9l

73400
28,10
25,20
23,30
25440
23,50
25,80
3,70
24480
P390

ZL,00
24,10
2420
26,30
24,4410
2480
1460
4,20
Zhag0
2hend

EEREERE e 5 HREE 445

INTERVAL 0,00

STat1ON
SAMPLING
L4 0,28
1,08 =09
=1,08  =0.,89
da24 18
1,84 ted5
0.2R =050
8,87 0,48
=0,R7  =0,49
1,45 1,26
3,50 =0,50
1,45 .26
5001 2,2%
1,24 1,45
145 G.28
Ta2h 2,43
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-0,69
-t 47
-k, 40
-t,u7
ST
2,05
i,03
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C.s7
2otd
=1,2%
1,06
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1,45
1
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0,49
=4, 20
2aih
¢,2R

1,26
3,40
Ug4r
“, §FR
C.67
Ta48
0,67
LY
=-0,49
0,87

-1.0R
O, 2R
=€, 08
=167
1,24
J.ce
[ d
2,08
=F, 45
=~¢,08

~t.28
=t.u8
UL HT
140%
1,26
U.2R
-0, 4%
1,4%
-l 0%
Uuh?

S0
=2, 45
tatt
Vs
tTadt
=1,0k
Tedd
1,45
1,28
L, %R

.ot
-U. 07
1,47
-1.48
-k, 51
=t.07
~ 6%
4,40
=laud

Uk

1,45
.40
b.e?
4,48
vea?
Tash
Ge07
3]

=¢.0f
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U.B?
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1S+ ACCELFRATINM (GAL)

25,00 —Fahh -ig2h =2, 0 1,08 =1,u8 =G, 4y 8,09 Uezf =C.n¥ 0,57
295,10 -89 =Uy69  =0,50 ANe8%  w0,50 0,68 =Y,08 =1,0F =y,&F =0,%%
5420 ~0,6%  =0,69  =0,69 Ouke? G.2R n,?8 1,78 1. 76 TabS 1,45
25440 2y27% 2y 62 2.5¢2 1.2 2,72 1,65 1.86 Y48 Tath T.24
?2Se4l 1,45 1,26 t.26 2444 2,43 2,82 2,82 2,87 é.23 R
25450 1 L 1,84 ?oud 2.lk 1,6% .28 1o2e $a453 Tk
25460 1,84 th26 1,645 Teth 1,54 2,75 2,24 2,28 1,65 T.65
29,70 Yidn Teld 1,2t 1,459 1,65 Ta85 .82 .52 d,01 3.0t
25480 ?.82 éaB2 2.0¢ .23 2.3 2.7% t.286 Teds 1.45 0,47
25,90 Deg® 1,26 1.20 Y 1,26 1,26 0,28 O.4& U7 Ta23
26,00 0,2%  =U,86%  =§,50  =n, 1t =0.50 0,89 1,28 =U,d9  =0.8% ~1,47
74,10 =1,47 =ldebé =2,k “?eth =2,44 &, hi =208 =2,2% =2,24% e, 06
78,20 =2,06 =?.bh =2,2% al e -2, 06 =208 P bl -2, k5 =245 "2, 45
?4.%0 =2,65 =2.65  =2,84 2.4 3,01 =31,08  =2,45  =1,Ba  ~1,pgR  -1,0%
Phailh 1,08 AU,50  =0,8%  w0,6% 0, 4R C,2B =089  =U,60  eL,g%  =1.0%
74,50 =1,0% 1,08 1,08 PR IS ~0,50 -0, 49 1,28 1,08 =1,28 1,61
Fbatl =1,08 =0, 6% =0, 4 0,50 «0,50 0,44 0,67 1,08 .87
26,70 04 H7 0,47 fe28 1,65 1,45 2,63 1,84 LT 1,24
26,80 UL AT . BL [ %] 43R t 38 4,57 b, 4% 4, 1R Get#
26490 5044 3,21 1,21 are 1,26 0,28 U,28 Ua2k Tab5
77,00 Tekh fatd el 1,506 1,6% 1,45 145 t.2h 0,87
27,10 Uy hE 0,28 0,28 0.7k 0,48 0,28 V&b 3.67
27420 21 3,21 2,21 3,79 3,79 4 1R 5,21 2o
27,350 tehS fe2¢ 1,74 1,26 1,06 087 Gabh U R7
?7.40 te2t 1,84 1,45 7,43 104 1,49 1.45 1,45
27,50 | - CtehS 0,67 0 n,B7 0,28 D48 0,28 Y] T.4B
27,460 V.28 1,45 1,45 LS 1,65 1,85 1.45 .24
220 Qyh8 -, =1,0R -1, 08 0,69 -0 69 etk T.87
2T R0 V.87 0,2 0,28 0.78 0,458 Q0,28 UabR TL4S
27,90 0,78 Gl bk D2 «0,69 -1,08 =t,28 =1,u8 =1,0%
4,00 . L Yed® L UL I PR 1 0,48 Oak& oo GGk G.87
28,10 “0,50 g, by ARG TL0EY =1,08 e1,08 -1.28  =1.04
28,20 -1, 08 =1,08 =1, 0 =N,R8  =8,5%0 =0,50  «0,50 =0 8% =1,08
2d.10 w0, 87 =0.49 =g,50 0,80 =1,08 0,50  «0,6% 0,50  =0,51
28,40 ~1,08 =t,08  =g,8¢ .11 0,28 0,k7 G, 87 V.24 1.465
28,50 ta2e YL 3,28 Dotk C,48 =0,6% -8,50 =1,2R =1.4?
28,80 o =V7 nbys7 =167 L2,06 22,06 L0 L. L -1, S LmULEY =069
28,70 =0,50  =U.50 o,ht n.67 0,87 0,28 0,48 Uead Dekd
28,50 =1,28  «1,08  =g,50 .50 0,89 0,48 0,28 UL 68 0,48
28,90 9,28 Gyt8 0,87 0,48 0.28 0,48  =0,11 ~1,28 1,03
29.00 =1, 2R =1,08  =1,0F 0,49 .0,6% =1,24  =0,89 0,67  =0,6%
29,90 . .._.=0,57  =0,30  =0,5¢0 =1,50  =0,n9 0,50 =011 _ . 8aB7 J,67
26,20 20T =G,69 7 m4,08  ~0,%0 =0,50 6. L8 0,28 U,ed 0,24
79.30 f.2% LL] 0.6k .28 0,68 G,28 1,06 Gatd Q.43
29440 0.2% =011 =0,8% 0,49 =0.6% -1,08 .47 =1,47 =2,0% 2,04
29,50 w2045 =mE,2% =2,06 1,47 =1,af =1,67 1,08 =1,08  =0,50 =0,%%
29,40 9.28 0,28 0428 0,28 0,48 0,28 0,28 O.2r G,87 0.87
29,79, Q.28 . =0450  =0.5b. . Q.68 . Q.08 —eDa28 0,68 9028 1.5 1,06
29.80 8,24 1445 1,2t 087 G.07 0,28 0,28 0,27 ={,6% 3,52
29,90 0,50 0,28 6,2€ 0,28 0,67 0,87 0,87 0,87 C.28 0,67
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-5.96
[T
LI}
T4
=5.%h
-1,45
&,49

2,25
11,0t
2.5
-3, 79
-5.%%
2,76
»5.55%
5,47
21,73
13,17

— 32—

~0,48
0,09
0,25
1,08
1,08
0,11
-5,47
C,%0
-1,45

AL

.2,82
-1,26
1,62
4,35
-?,23
-5,16
-5,74
4,15
0,1t
-1,84

-3,21
5,76
-5,16
V.67
-2,04
0,30
1,23
1,08
n,R9
1,28

2,06
3,03
1,47
=5,595
2,25
5,14
-n,27
=5,94
2,04
4,93

W70
12,20
-0, 87
-7, 0
-3,99
3,91
~R, B8
16,15

-73,FR

3,42

=3,43
=0,0%
0,48
1,08
L.89
=0,.09
0,48
0.50
~0,87
AR

=2.23
1,85
2,86
4,98
2,04
3,40
=1, B4
5.5?
3,0t
=316

.h,57
5,37
=5.74
~1,865
-3,59
3,81
~3,01
-0,09
3,81
5,37

3,99
1,467
1,45
“Zoh?
-0,0¢
6,91
187
=5,94
2,82
4,79

Tyts
11,81
-5.94
-0,00
~2,4%
-5.94
-9,R4
18,10

-23,28

3,08

198141H

DPURATION 30,00 (SEE)

=0, 4R
Oa1y
U, 48
0,30
0,50
-1,6%
0,48
0,50
0,50

=0, 4R

2,23
2,28

1,84

4,01
=204
2,45
-0,67

.18
3,80
~5,5%

= 57
5,37
-5, 7%
=1,45%
=3,60
5,03
~1, 8¢
0,11
3.42
6,79

=8.74
2,84
2,62
-4, 57
0,87
10,44
2,25
-r14
1,24
6.5¢

10,08
15,47
=4, 04
~5.79
6,93
tY,40
-7, 11
10,72
-, 8%
0,69

=0, 28
Gat!
=028
0,50
ULttt
=1,04
145
G, 11

4,79

“Yibh
3,23
418
=5, %4
=1,24
12,589
€atS
~7.50
t.a?
13

Fulih
19,12
- Y4
-3.6“
5,37
=1, 0t
-7.30
29,94
T

2,65

~Z,04

=5,01
=5,%2

4,12
.42
-3,99
~0.B7
-1,B4
1.23
5.0%
V2%
1,88
0,89

12,37
5,28
0.1

~&,13%

=3.,99
tz.5%
~2,82

10,62
3.62
6,57

15,51
te, 23
=1,6%
4,94
-4 1%
-4,94
~5.94
15,97
4.2
5.75%



PR & & VEEEHT X 5 MBI ERS R — AT

DATE 19B0-04=2° STATION NAK&ATZY CRUSTAL aptiyv]TY NDASFRVATORYLJIZ)

COMPDNENT €-W SAPLING INTERVAL 0,01 {sEl) TOTAL COUNT OF hATA 304N OURATION 30,00 (5EC)
T{8kC} ACLELFRATION {GALD

S.00 6,159 6,18 7.91 5.76 B.59 =45, 7k  =1h 13 =2T.SR =24,K5  =22,51
$.10 =15,49 =15,49 2,87 =5, 21 =0,48 -3,.9% «3,8%  =11,89% =12,37 =1%,47
5a20 =15,55% =13,15 7. 064 18,73 1e18 0 15,10 4,5% &, é0 1.67
5,30 3,41 LY 2 1, 8% -n,87 -4, 18 BLEF 8,10 21,75 2e,7% 78,07
Satl £2.0% 0,67  LB,27 47,30 §s, 9t 41,45 61, R4 30,52 21,75 13,54
S50 =11,01 =F,45  =35.9/ =42,99 ~48,4¢ =51,18 =50,7% «48.25 =43,8% =40.65
Sah0 29,540 =p9,36 11,9k =N, 47 4,40 1R, 24 16,64 21,7% 20,97 20,58
510 AR 27+9% 18,91 L F) 18,57 31,01 10,92 22.5% Z2E, V4 22,5%
SRD 2L 4% ?ha5 TR, 24 12. 18 tT.42 «1,86% =1,76 ~B.2R =14,97  =14,%2
500 =19,35% 18,03 =12,37 N1%,.7F  =20,0 «30,90 =2B,%6 =7h,4n  =15,30 =14, %7
6400 =t,28 =1,26 5.7¢ LPEL B, A& 5.57 4,79 Y47 57 415
b.10 28,51 2195 24, 6% IE $1,41 =3.79 =k, 3R =11,79 =17,/2% 17,06
4,20 =16,66 =Th,86 =T7,44 13,15 -12.74 8,69 t,93 15,71 .21 2,02
6530 2,47 41,39 30,14 17080 20,%9 17,59 9,27 3.62 =4,80  =3,01
b4l =0,00 0,50 Vel =i, TR =3,%9 =11,55  «11,79 12,57 =t95,10 =%4,91
A450 P17,8% &tTudd 17,29 S47.L4 =17, 54 “i7,66 =fb,88 =14, a8 -9, 84 =%0.2%
6,40 -1,01 ~hy Pk =5 P =R,47  =8,47 =100 7,50 =413 =% .94 =5,.74%
.70 =1,04 V.89 T.6F V.78 VLA 1,F8 Z.64 ¢,86 10,25 Fab?
6480 11,44 £ 14 &, 15 S04 3.3 8,RY 3,62 L I T 17,46
6,390 25,07 21,506 20, 3% R,1h 7.9 -2, 43 7,50 “B467 =14,32 -15.9%
7,00 =TALOR w18y 6? wlg bl e24,07 =23,10 23,79 «16,47 13,49  =4,94  =5,59
.10 -Z,82 =1, 45 -1,4% 5,74 8,0 15,51 20,97 21.17 27.40 29,14
Fa20 311,84 29455 29, 3¢ 13.95% 11,614 3,42 -5,94 =5.55 =1g,¢} ~11,9%
7,30 =15,4% 14,848 1,27 «G, 0k -8, 08 b 13 =2,2% -2 .42 -, 2k -3,01
Tadl «5,05 12,76 12,57 =21,74 =20,%% =20,76 «15,30 =15.88 =1%5_.47 e1p,.03
Ta5h sth 47 19,59 <1920 230,37 =17,2% -t5,10 =340 =3 99 11,22 14,34
Poah Th.LT TB.BT 18,44 14,49 11,89 .47 =360 =Z,23  =8,.3%  =3,99
tar0 -1, 01 =4, 18 LIYe1. -5,13 -4 ,38 -5,7% =k 3R =h, IR L TRE) 5,52
1.1 6,91 =594 5,98 =0, 2k 2,45 3,2% 1,47 3,21 2,45 3,19
Tao0 5,57 10,4tk 14,22 14,RR 20,78 2t.17 24,29 3.3 21,38 17,07
Bl00 . 12,007 5,71 15,04 15,37 5.57 3,37 L. 72 =10,81 =10,0%
.10 -9, 8% Ge8L  =1g,81 212,76 =12,96 42,87 -F,55 -t =5, 79
2,20 =3,%9 =¥, 21 =-3,01 LTI 2,43 -2,23 2,25 5,18 13,47
.20 12,5% 17,07 14,93 §7.58 3,81 4,79 0,51 .1t =0.48
B.40 =0, 4% 3,59 =5, 16 -5, 54 ~5.94 -3,54 +5,0% 2,43 =379
a,50 =3, -5, 18 -z.04 1,06 0,11 0,11 1,28 1,08 1.47
8,40 . . 1u8A Sa57 . T.5¢ 8410 %27 FLO08 . 9.0% __ €.35 . 5.37 =1.06
a,7h =1.04 =6.33 3,84 «10.42 =11.48 =11,20 12,746 «13,15 =14,7*
8,80 =13,93  =1%,59 =7,30 —hy 72 -1.2¢ -t 04 2,25 1.86 .38
4,90 O, %% =048 g, 30 0450 by 20 LTy 7.32 10,64 10,85 1,37
00 12,55 11,81 11,448 11447 10,63 10,84 10,08 9,08 .27 F.0%
Ba10 L BE% BL10 s, 1% 6035 0,89 0,89 0,000 (=145 <1445 -BL8D
9.20 =4,57 =5.%4 5,57 -he57 -5.%% =4,13 5,54 -5,21 =3,40 0,39
.30 1.28 2,25 2,65 2ekS 1,62 4,94 615 7,32 4,593 1.42
Pab0 2.64 2,06 a,30 0,50 1,47 1,47 1.47 9.50 U,88% 2,06
9,50 1,0% €,54 LI P 4,13 =B, 67 =0.84 =17,40 =11,01 -3.84
¥ k0 7,11 =6,3Y = 88 a4 TR w1,78 3.0% 4,59 H.10 7a71 .47
CBaTQ L 9.86 _ F.BS . 8,4 F.9t 479 . B3 2.0k 0,0 _=0.0¥ . =340
¢.80 5,77 =780 Al AL =10 RY =31,70 «5,45 -3,04 5,74 -5,.54 =-5,35%
ool -5, 04 =5,%4 =-r 11 =730 -7,89 7,89 -7.89 -4, 94 =3.99 =1.45



EYHEREREe S -HREE 4485 1981F1A4

DATE 19RD=08~29 S5TATTON Kakalzu CRUSTAL »efiv{TY ORSERVATORY(J1LY

COMPONENT Eui $avpLiug INTERVAL DL.0T (SECY TOTAL Couwt OF nara 3000 OIURATION 30,00 (SEC?
T(sEC) ACLELERATION (ALY

10,00 Catt 0,11 0,11 0,54 0,89 Talt 1,47 g,5n G850 0.1t
10,10 g.1t Uyt 1,44 ?.25 2.8 0,t1 B,41 -2.04 =1,45 =1,45
16,20 1,45 -1,28 8,5t 2,80 1,08 =0,48 =0,28 g, =u,0% =007
10,30 ) 7,47 w2y43 w599 a4, 1A 4,8 —4,%8  eh, 1B 2,04 =2,06  =1.84
10440 3,40 =5,40 =g, 58 e&.%% =6,52 6,52 w6,31 =508 =3, 2,43
10,50 =tz =1,45 -0, 24 ~00 48 0,78 =-3,99 =5.99 4,13 =50 -7.89
10,40 5,94 =9,%k =2,62 L 1,67 b, 20 3,62 2425 0,50 [ R
10,270 2,62 =2,23  =2,43 0,7k 0,09 2,25 2,04 2445 Te67 T.87
10480 0,19 0.8% S4f 2.2% 2.4% 1,42 T, 04 1.08 ~l.45 =1.45
10,490 =1,01  =2,42 =243 aD,4E =0 48 0,11 =0,0%  =0,48  +0.6R  =0.43
11,00 9,10 Ly 0% 0,4k 1ak? Tek? 4,20 [P E Y418 k40 Py
11,30 3,23 Zyus 1,61 0,11 0.1 -0,68 9,30 1,08 k.59 Y]
11,20 9,08 9,27 9,467 Ry k% 8,09 9,08 9,27 Yo7  1LLUS 10,05
11,10 1,08 B, 88 g, 80 7,71 7.7 7.0 8,49 7.08 G066 9,66
Tead.. . U8 11a8Y 12,000 10,83 11,22 11,081 11,81 12,00 14,59 12,39
11,50 12,00 12,00 12,0C 2,86 ?.88 ®,08 7 .52 2,84 3,23
11,460 2,45 4,01 G.2b 477 S.57 6,158 576 E ) 5,02 5,62
$1.70 J.42 $.42 Y42 1,28 0,8e =0,48 w2462 LIS T4 %, 47 6,18
$1,80 =4 1R w5,te  =5,t8  ~5.94 -5,94 5,9  «5,9k 5,9k  =i.9k ~5,%&
11490 =5.54 =594 5,54 5,94 =5,9% 5,94 -5,94 =5,94 =5,k “5,16
12.00 4,18 =54, 18 =5, 2 b7 2,04 -1,k 0,569 0,30 L] 1,47
12,10 1.54 2,06 2,08 3.7 4,40 £,79 4okl 4,20 J.23% 2,25
12,20 1,67 Tuk? Y 2445 2,84 2,84 ¢.30 0,350 =&,45  =i.49
tz2,10 =3,60  «3,21 =3, 21 2,87 =3,9% kTR b 1B 4,57 =594 =6,15
12.40 -5, 9% =4,13 -5, -5,94% =6, 72 -8,91 -7, 50 =, 11 5,94 =5.74
V2,50 . =5aTh  =3,60 =321 «t,84 . ~ll885 1,65 eV 26 wVad% mda2i 0 m6.913
12.80 wh 1R =594 =570 6,11 6,13 «5.54  =5,14  =4,57 =340 =2,43
12,70 “2.45 -fe 23 -1,65 «0,87 -0,48 0,48 =2,4% «3,21 18 5. 35
12.80 5,18 =518 4,77 4, 1R =5,16 =5,16  ab, 18 3,24 2,43 QbR
12,40 w0 4R 167 2,06 2.2% 2,49 2,458 1,86 2,25 2,45 542
33,00 3.23 b0t UL Y LR P S

1310 771 8,10 7. 7.7 5,57

13,20 w0, 4R =1,45 =-2,04 =244k 3,40

13,30 =5,79 =3, 79 =3,79 3,79  «4,3$B

13,40 =5, 7u LTRE =5,%4 =534 5,94

13,50 4,77 =5,35 =5 T4 5,74 4,18

13,40 ~5,5% =5, %4 =5.%% =5aF4 .. =5.5%

13,720 =5,9¢4 =5k =5, 74 5,74 i t8

13,80 2,62 “2y43 =1,45 =let b =048

13,00 al b =370 =370 =%.7% R2,73

Y4400 “2,06 ~t.85 =028  -0,87 =1,45

ThatO_ . =0.09 .. 08,50 2,25 __2.86 . J.42.

14,20 5.57 S5.76 4,93 474 t.i2

14430 5.37 5437 5,57 5e37 5,18

14440 5.37 5,18 5,18 8.37 5,17

14450 5,37 5437 S.1E k9B L4l

14460 5.37 5¢18 W79 ko 7% k79

ShetD a3 e _ 2445 3403 3,81

Th.80 T2 Tet3 6,15 641% 6,15

4490 .74 5.76 5,78 6415 6.1%




TERE B & UFEREEHC & 2 BEMED FEHRR — AT

DATE 1980~04=2¢ STATION  NAKAL2U CRUSTAL ag?IvITY ORSERVATORY()12)

COMPONENT Ewi SAMPLING INTERVAL 0.0% (SEC} TOYAL COUNT OF DATA 3000 PURATION 30,00 (SEC)
TC(SEL) ACCELERATION (GAL)

T5.00 4,10 8,10 7.7 7.32 7.32 5,57 5,74 4,79 1,81 3,42
5,10 1,28 1,07 0.89 N1t «0,78 1,45 =-1,268 U,11 -0, 28 0,28
15.20 8,6% (.30 o,tt aft, 28 0,48 =704 2,04 2,43 -3,21 -4, 21
18,30 =h, 3R =3,0%  =2.80 22,43 2,48 TS w5 =1,80 1,45 =145
15440 0,2R «0, 4R -, 25 e 4R -0,48 -2,0k wZ,2% -Z,82 2,43 -2, 0%
15,50 . =2,82 5,01 =321 -3,70 L3,.4Q LLTS LU R ¥ N LT 1)
15,40 3,75 =5, 01 ~2,43 -2, 4% =245 -2, 52 -3,60 -4, 1R =458 -%,3%
15,70 3,79 =5,40 =3 40 -3, G =3,79 =31,7% -31,9% -4, 18 -4, 18 -4, 38
15,80 =6,35  =6,72 =?,31 R, 0F  «B,08 =G, 08 =B84 =8,BA e, 40  =},B9
THQ0 L =P.8% =2450 =7.50 «8,34 | 6,52 =5.9% 5,04 =h.04 =8.52 =8,52
16.00 =~7.,50 =7, =7.11 5,94 =5.74 =5,7% 2,62 =4, 43 =0, ¢R =048
154180 =D,4R =0,09 =-g,0% 0,50 8.3 4,11 -0,28 =0yt 2,82 2,23
14,20 =1BL =184 =840 J1 s 21,08 =0,48  «0,09 =0,09 tea? 1,67
16430 1,28 1447 1,67 1.47 1,28 1,08 0,11 ¢ [‘PRE =0,09
T8,40 R P B I -1 (0,89 AT 1,47 17 R 1,67 1,47 1,28
16480 g.5n 9.50 5,5¢ =N h? =0,67 =-1,06 -, 28 -, 4 0,11 =-0,09
14460 «0 2% 1,45 =1,26 en, 2R L0,7R 0,48 1,67 1.7 1au? 1,67
V6,70 1,47 1,47 1,47 A4 1,88 T.Bb 2,65 2445 3442 3,81
16,80 3,81 5,37 5. 1¢e 5,37 5,17 5,17 4,20 4,20 P ] $.1%
16,50 5.37 S5y78 5,%¢ 4,18 5.%6 5,74 5,75 5,76 9,18 6,59
17,00 T TR 5,23 3,258 2.R4 1.2% LYY 2,25 Y 2425 2.25
7,10 2,45 2,25 2.25 2,04 1,47 TLkT o =G.87  =0,4m -U.aF =2,2%
1F.20 2,24 =teg4 =1, 84 «2.04 n2,21 =223 3,60 “3,40 ~3,9% -4, 21
1730 wd,in mle kD «3,4¢ =%,79 =3,40 =1,60 3,21 “3,40 =3,40 =3,79
T7.40 3,79 =5.40 e a5, 79 -k 38 4,18 =y 18 3,99 -3,79 ~2.82
17,80 _m2aB2 0 =5e 21 .3, 2T 23,40 -4, 3B LT S L TR E TS - T X
17440 -“, 77 =418 G4, 5F ~ha3k «3.7% =3,79 3,79 -3,79 -4, 79 —2.24%
ir.70 w2 6% =1.26 =0,%7 af,4a 1,28 0,R9 0,50 =0,28 =0,  =1,65
1T.40 =1,45 =1.45 2,04 =208 2,43 -2,73 =1,L% 0,50 0.49 1,67
17,90 1,2R 1,47 D, &Y 0,50 =0,09 0,28 =0,8B7  =2,2}  =2,2%  =3,01
18,00 __m2.82  m2,62  =2,4F 2,48 =1,26 =te26 =0,48 11 gyt .11
18,10 8,50 Tee? 1,47 1,47 1,47 2,06 3,62 1,42 $,28 1.81
18,20 3.8 4,01 .47 tek? z.75 2.k 3.42 3,42 3,47 Seh2
8,30 1.47 81 s.be Yeh? 3.4 3,62 3,04 2,25 2.65 Jebd
18440 1,81 b2 4,40 hash 5,37 b8 4,40 95,37 YL 1K 9,96
18,50 5,94 by1S 7,32 7.13 7,91 7,51 7,91 B3R -] 7.7
18,60 6,95 B,15 5.7 5426 5,57 4,98 4,79 4,20 4ak0 bokd
18.7¢ 1,81 Seb2 2.2% Zabs 1,47 1,08 1,08 1.0R 1,28 [y
18,80 1,84 2,064 1,67 Tak7? ¢, 50 0,28 0,45 =0,28 -G, 4R ~1,4%
L3-TY-14 =t,04 =ha2h 1,45 1428 ~0.¥7 1,24 ~ta4s =1,4% -t 4% 2,04
18,00 -3,01 =3.01 =4, =G, 1R =340 -3,79 3,79 -d, 87 LY Y4 =2.82
19,40 =2 2t ml 43 =2 el eP, 42 =B, H2 “2,25 =% ,B4 =443 =22t =2,4%
19.20 -3, 21 =340 -5, 7% -3,78% -31,99 IR L wh 38 -4 1R .y, 4¥ 4 1R
18,40 =5.14 =518 =4, =518 -5,35% b, 18 =4,35 =¢.43 -5.¢1 “3,41
19,40 -4,38 -3,99 =5, %5 LT ~5.55 4,18 =, 1R =5.21 “4,4% 5,14
19,40 =574 =h.94 5,96 ~5.5% 5,85 =3,21 =3,40 -2, 87 LF Y -2.82
17.40 2,21 -2,23 -z,23 BN -1,45 «0,28 w0, 4R -8y -G, 87 “0. 4%
1%,7¢ Oat11 .0y Dast Ta48 G, 54 hy 11 0,11 ~0,67  =0,09 0.1t
19.8¢0 ~C,.67 “lly b8 -,2F [N 1 G, 11 0, AT Y =G, 48 =g, &t ~p,a7
19.50 =1,43 1445 2.0k 24004 -2,45 2,43 m2,25 LYY “g, Q6 1,84



ErssRHFHEe vy —HEER H445 1981F1A

fATE 1580-04=2% STATTON  NAKATZU CRUSTAL ACTEVITY OHSERVATORY(J:2)

COMPONENT EaW SAMBLING INTERVAL 0.0% (5EC) TATAL CAUNT OF DAYA 30CE DURRTION 30,00 (SEC
TeSe0) ACCELERATION (GAL)

20400 w2.48 wB.4} =t B4 =1,6%  =1.65 0.t 0,41 “0,28  =0,4%  ~0,47
20,10 0, 4% <0, 28 6. 50 0,11 9,11 Y 1,28 1.08 1,47 1,47
20,20 2,45 2,84 v,23 ?2a2% 2,45 3. a2 3,23 2,45 1.47 1,47
70.30 1,25 1,08 1,47 teb? 1,647 2,06 2,06 1488 1.8 1447
20et0 .67 Tet? 1,47 tua? 1,47 04 2,06 2,45 5,01 2.84
20450 .01 2e2% 1,86 1,028 1,47 1,29 C,50 0,11 0,47 Qb7
70.bl 0,45 0.8 LY 1,45 1,45 -7 62 =2.4% 2,43 -2, i3 M TLE
20,70 =248 =242 =1,86  o1,2e6  =1,26 =0,28  =0,09 0,11 0.1 =0,07?
20.R0 =0 4% -1,26 -1,28 «2.4% «?, 82 -2,R2 2,41 2,82 -1, uk -1, A4
20,90 ~1.45 LAY -t ¢ =1, R4 =1, 8% =1 ,45 =i, B4 =Y, 65 =%,B4 -4,65
21400 w126 =186 =204 w2,42 o w2,43 “2,25  =¥,AY =d,2% =@,23 =2.04
21,10 “1,20  =0,2B =0, 4F 0,30 0,11 0,50 g,11 0,11 0,50 0,50
21,20 0,114 =0,0% -3,0% 0,00 [ 1,08 1,67 1,47 1.2R G.8%
21,30 [ PRE 2,62 w7, b3 L4, 3Rk w4, 'R L 3B 2,87 =Z,R? 2,42 =2,04
21,40 =1 BG w1426 w1,26 0,69 t. 08 1,67 3,23 3.03 3,23 342
?1.50 3,28 4459 P 5,57 .18 5,76 8,57 3.57 k% 3.82
21.60 3,62 1,23 3,81 4.9 5,37 5,76 6,35 5,98 5,18 5,13
[ARYL 5,37 5,587 5,1t 4,79 1,49 3,81 Z.84 Zobd 2425 1,67
21.40 1,47 1,28 1.67 Pe0K& 3.73 3,29 3,23 3.42 S.ut 3.03
21.00 3.0% 1,86 1,67 L] 0,50 0,50  =0,06 =D,6d  =1.4%  =0,4R
22,00 =0,4R =0,87 =1,2¢ 1,25 -1,84 1,84 3,01 2,82 =40t =1.86
22,19 =184 -0,28 o, N 56 0,59 0.8% 0,48  =1,04  -1.26  <1,45
22420 Ll =145 =1,45% «1.45 =-0,87 =0,87 1,45 1,48 1,43 =2,04
22430 =2,23 =5,40 =3 ,40 -3, 21 -3,79 -3, 7% 3,79 =340 =3,40 =37
22440 =1,5% =4, 1B =g 5t <k TR e4,18 =k, 38 w4, 38 =3,58  w5,5%5 5,94
PRS0 =5,94 =5,%4 5,5 B3 PLUSIRC TP § S “h 98 =5,.35  _ =3.16  =5.85 . -~5.35
22,60 5,35 =5,3%  =5,5% 5,74 =5.18 5,96  wh, 77 =h,55  eb, 18 =438
2T.70 4,57 =5,35 =5,1¢ =54%% =5, 74 “5 .7k =5.74 5,14 5,35 6,19
72,80 4,18 3,79 -3, 20 .00 =2, R2 2,71 =1,45 =0,87  =0,87 6.1
22,90 2,59 0.8% 0.50 0.50 4,50 0,09 =0,28 o, 11 0.t 0.1
23,00 .. 0,59 Yo 3l 0.5¢ _ 0.50.....1.08 1,08 9,08 0,50 . 0,80 ~0.48
23,10 1,24 =te b5 -1, 45 «1,4% «1,78 -0,28 =0,09 -0,28 -0, 28 o,%1
23,20 0,11 a1 0.5¢ 0,50 0,50 0,50 0,69 1,08 1,08 1,09
23430 1,47 Yol Z.0f 2.2% 3.47 6,59 4,79 .62 3481 3,28
F3440 3,42 Yeb? 1,67 3e4? 3K 5,18 5,18 6,35 LI .74
23,50 5.37 5437 s b0 1,89 (L) 4y 4,79 L, 98 b,37
23080 ... 5.tR BNET 4,20 4a20..  Lhah0_ U PUT AR PUY-SUNNE 1 5 S L IR o &
23,70 b,40 4a4l 4, 9P 4a20 342 2 FG Z 84 1,47 1,08 0,50
23.80 0,09 Va1t 5,50 T8 $, 08 o, ke 0,87 108 049 0.5
23.50 ¢.50 0.50 0,11 ~Be2® -0,48 0,48 -0,28 Gt ~0,0% g1
24,00 0,40 =0448  =1,6% 22,04 =2,73 3,40 3,20 =3,40  ~5,80  =3,79
Rhd0 o mRaQh___mqyb3_ =2,04  =8,B7 =0,4B 8,0 003 =R,p8  =0,78  =0,48
26420 w048 =028 5,11 =Tt R =0,48 1,05 =145 1,45 =1,54 -1 ,B4
24430 ., 26 1,28 ~0, 48 “bokh 0,48 =1,65 =145 =1.45 =1.0% =1,45
24440 0,28  =0443 w0, 4K D LB =0, 48 =1,65 =1,65 =@ 43 =3,40 =3,40
24,80 2,45 =243 #2,43  L2,43 =243 =1,24  =1.45 «1,45  =1,4%  =1,45
24480 =l AL =2.28 r2,88  +1,79 3,79 3,79 =3,79 ~3,79%  =2.43  =2,4}
2Aa70. . . =2a23 . =1,84 AP 1445 =1.45 Cow0,28. . =0,u8 _  m0.48  =1.48 0 =124
24480 =148 ~0u87 =0, 4F =0, 2R =0,48 0,48 0,48 =048 “lebd Q.49
24,90 ¢o11 =0y 28 =0, 4t .1t a,11 0,50 .50 [P 1 1,08 1.04
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DATE 1980a04w29 STation NAKATZY CRUSTAL ACTIVITY QBSERYATQRY(JI2)

COMPOKENT Ewi SAMPLING [NTERVAL 0,01 (SEC) ToTAL Count OF Data 3000 DURATICN 30,00 (SEC)
TesEL) ACLELERATION (GAL)

25,00 t.08 0.89 1,08 1,67 t,a? 1,B6 1,67 1,28 1.47 1.2%
25,10 8,50 311 .11 T450 0,69 .08 1,08 1.08 T.47 Ted?
25420 1,28 q450 0.50 L 1] 4,50 0,30 -0,28 =U,4n =1.45% =145
25,30 ComlLbS =126 =145 =t.eS 1,06 0 =0.48 0,28  -0.48 . 0,11 =3.0%
25,40 0.1t Q.1 0. 11 [XE 0, b8 1,45 =0,48  =0,kB  =1.45  =1,65
25,50 =184 1,84 -y, 54 -2443 1,54 1,45 -1,45 =1,2¢6 =0, 48 =3,2%
25,40 =0, 4R 0,11 g, =048 0,48 0,48 =0, 4R «0,44 0.t 0,28
25,70 «0,4% -1,45 -], 45 =743 wl bl -2 4y ~1,84 =-1,84 ~0,28 -0, 4%
25,80 0,48  =0,28  =0,48  «1,45  &1,45 =1,45% 0,48  «0,48  =(,48 0.3%
25090 050 0,50 9,50 0,11 -0,48 0,67 _=0,438  =0,09 1.08 0.5%9
26,00 0,50 1,08 0,89 5,50 0,11 0,1t 8,50 9.5¢ 8,50 0.1
26410 0,14 R 0,09 Batt 5.1t -0,0% 0,11 0.t 0.1 0.5%
26,70 0,59 Dy5¢ 9.56 1,0F 1,47 107 147 1,28 1,08 R
26410 b1t Goett g, 08  ah,48  =m0,4B 0,48 0,11 =0,06  =0,2R  =0.4%
ekt 0,42 _ =Q,48 _ =0.0¢ 8,11 g, 0,11 oot Q.30 0,50 0.1%
26450 0.4t 0469 0,89 1,67 0,89 0,50 0,1t 0,28 =0,48 0.1
26.50 011 Ot 0,4 .1t g, 0,11 0,50 0,50 Uedn 0.51%
26470 0.50 Ga11 0,87  «1,26 0,28 0,48 0,11 0,28 =0,28  =1,45
28,80 =F .45 LRI 1% -y 06 -,3F Q.69 0,.6% 1,47 toah? 1,47 Q.31
74,90 0.80 0,48  =2,04  -2,73 1,45 =1,45  =1,4% 0,28 Oatt 1,47
2700 LI ] 1,47 Te47 1,47 1,28 0,50 0,5%0 G.50 1,67
2r.10 1,47 Tea? 1,47 Tad? T,49 8.50 0,78 =0 4R 0 4R
r.20 =028 =GR 0,89 1,08 Tot? Y47 0,50 0,50  «p.0%
2r.10 =C,0% ~CakB n,f1 0,81 a,11 «0,09 4,50 .50 0.5
27,40 g,80 0.50 050 4,50 -0,28 0,28 =0, 4K =3, 2R 0,11
PTNS0 _ m0.2R =0,48 o+ 45 ERNT RN =2,23  w2.23 =~Z,B2  -i.¥2 =2kt
27,40 -2,4% =243 -1, 86 =1 AL -1,06& ~(,a7 -0, 4R LIS ] 0,69
27,70 -3,09 [ PRR] 0. 11 =0, 0% “D, 28 0,8 =068 ~0,u8 =1,45
27480 =t 45 =tak5 -1 .45 PR 0,67 0,87 =1.45 =t kS “1.45
27490 at,Bh  =T4B4  =1,BL et =1,65 =165 =0,28%  =0,4f =068
25,00 —— C.m0.08 =008 0 11 eltl 0 TR RS LLs0 Ua59 1,67
28,10 Tab? 1,47 Yo47 1,47 1,47 1,47 Yeu? Tou? 1,47
28,20 Tuk7 Tek? tal? Ta2R 0,50 0,59 =0, 4R U 4H 0.k’
28480 -0, 2R =0 kR -G, 4h -0,00 1,08 0,87 Taa? 147 1eb?
78440 0,59 D50 T, 0k 1.28 1,47 1,47 1,47 Tos? Tak?
2Ry 50 tL0R D489 1,08 Nes? 0,50 0.50 0,80 5,11 Uatrt
28460 ... . _...0.5%___U.5C pa1 ny3n 0,50 . 0450 _ 0,50 .11 0.11
28470 w47 =048 =0, 4R a1,24 0,78 =0, 4B wQ.4R =1,85% =1 ,84
28,80 =1, AL =2,06 =2,4%  w1,45 0,28  «=D,4B  ~0,4R  =0,87  =0,R7
28,90 =0,28  =0.48  =0,87  =1,45% =1,4% =1,45  =1,24  =1.8%  =1,45%
29400 w166 w1445 =§,4%  =t,45 0,28  =0,48 =0 4R =0,4k =048
29,10 w0,4%  =04B7  =1,65 o145 0,28  -0.09 =0,09 [ PR .11
29,20 0,11 «0.09 2,11 .11 0,11 g,11 =0,00 ["PRR g1
79,30 =, 4% -04h8 -0, 4t Tytd 0,1t 8,11 0,1 LIy 0,43
29,40 0,11 0,30 g.5¢ ] 0,69 a,11 0.1 0,11 0,37
29450 1,04 0469 0,50 1,88 1,08 1,08 1,08 0,50 .57
29,60 0.50 0,50 0,50 .50 [ ISR] 0,11 ¢, 19 U, oLt
29,20 - 0,57, U 11 0,11 Tt 0,11 0,50 . 0450 vt ga1
29,80 o1 wUa&R =0, %E  aft, R W0, K7 =165 =1,4%  =1.45  «0,2R 0,48
29,50 20,48 =U 4B =p 2K -, PR a0,K7 1,45 =1,28 =126 eU,? =124



DATE 19800629
COMBONENT UaD
Tesecy

O,

fe10
0,20
0.30
Oe4l
0,50
Y]
0.70
So40
0,90

1500
110
1.20
1.30
Te40
1.54
1esl
Te70
Te80
ta9l

2400
2,10
2.20
2,10
okt
450
Zesl
2470
2ak0
2,90

5,00
$.10
3.20
350
$ealb
.50
3,60
3,70
jaa0
1220

4,00
4410
4420
430
bakl
“aD
4at0
4470
Gy R0
&40

EupEBERE Y F—HREH F44E

STaT[ON

SAMPLTNE

O.2?
3.t
4,41
=3,49
1,78
Fa02
0,55
~31,BR
0,37
2.9%

«0,57
9,54
2,71
a1
5,73
S.6%
“3,8%
1,18
SetH
10,31

=heas
5,84
=Y. 54
-31,R%
4,76
-2,12
LT
=3.8%
7.2
5,68

-8,7%
=3.%7

4,02
8,02
a3, R
LR TR

2.17

9.3
.ot
10,5%

=ha&
A, AN
7,00
12,51
.07
Thett
2,7h
=3,4
a,21
=6,R"

Dot
0,02
0,41

-3,29
1,78

a0, 17

0,56

-3,29

-0.76
2,95

=g 57
-8.56
=2,12

2,58
2,75
u,02
6,22
2,12
6,85
-15.04

Gast
-0,95
5,49

L, 70
“2.%2

U2

9,19
a%, 73
16,75
w0437

St Ef
Y

7y 26
10,51
-5.583
-l kb
-0, 57
=3, 10

[N

2.7

—7, 78
1153
6,07
11,72

4.t
11,87
$.53%
iy 7t
balt
by 22

NAKALZU CRUSTAL

INTERVAL £.0F

(SFL)

ACTIvITY ORSERVATORY(J12)

TOTAL EOUNT OF MATA 5000

ACCELERATION (GAL?

0,41
G.0?
g 17
=1,34
1.5%
et
g, 1
=2, 51
-1,54
480

=tk
=r.19
-2,81
.17
1.%7
3,2
~T.19
2,95
-
-5, 24

1,01
-, 76
=5,2Y
3,97
1,18
n,at
5,5¢
3,95
1g,te
0.5

=r.9¢
=t .54

-1
-5, 4k
1,73
-4, 2¢
wald
-0,%7

2.9%
-1, 34

U,y
[
0,07
2,45
0,07
Gaue

15,21

-2, 51
n.At
F.8%

A6t
A2
=0,3%7
=1,5%
0,80
-1,17?
t.00
-, 51
194
A 3

-1.54
-3.uh
tofe

A TEL
-4, 02
=5,74
=553
Ny
3.59¢
RENT

b.A%
7051
=7.90

4,26
=2.51

§ .55

5.R7
R, 7%

9,77
-2u5t

=154
T,
.02
Ny TH
TN
=710
Sens
L
1,14
-1,y

=10, 35
LR
~1,37
T.5%
1,07
207
AR TR
=3.10
-t .54
Sabt

0,41
0,61
-0,57
-0,56
g,61
.0,37
1,19
«2,51
-1.5¢
1,58

-
-3,49
1,78
8,99
-5, 2L
et
-8,95%
6.RS
LAY
12,68

5,29
.2.90
.2,12

0,40
017

7.9

0,A1
=5.1%
14,78
<3.5%

2,04
a2
1,78

-8, 56
2,7%%

4?7
4,76

-0, 74

T
8,40

-5.,17
=14,12
wh b6
re. 70
12,7
-9,02
8,97
8,02
-13,43
F.R2

— 38—

0,41
0,61
“1,15
-0,56
0,22
-1,54
oLt
1,93
1,93
0,22

=l &Y
6,17
5,8
&,499
9,53
?.95
-7,78
T
=t,34
~9,92

3,74
=3,49
-1,15
=510
1,19
&,07
-0,95
-4, 27
14,65
-1 B8

2,56
t,02
5,73
7,78
2.7%
Y
7,06
=1,34
4,27
6,28

b, 61
¥, 14
b AY
16,84
AR ELE]
-%,14
Bykb
-t n7
-17,46
4.RS

0,41
0.2?
-0,9%
“0,56
.27
01.5&
oL r?
-1,93%
-1,56
0,8t

- b
0,17

31,75
10,14
=8,17
L, 51
-1,8%
6,85
btk
9,73

1.7
b, 27
1,58
b2
-0,54
T4, 8k
-12,85%
=3 4R
15,06
“0.76

=5,24
5,83
1,00
b,
3,73
5,49
15,48
=524
.58
4,12

=5,&3
-4 A5
-9,.5%
17,34
=13.43
-F,14
SL4%
=345
-12,07
b.85

198141A

BURATION 30,00 {SEC>

V.41
0,41
=1,15
Okt
~0,58
=154
0,17
5,18
Q.61
1, 1a

=%, 24
Duht
P T

1014

-y 34
b,09

LYIRA]
704

=5,0%

=F.73

1,97
-6, 27
1,16
3,73
0,54
15,87
«10,91
2,87
Tha2s
=t 5%

b, 27
“Uy 5k
=3o4w
=6,41
-1
=0,37
15,04
=b.54
te,uvn
5,09

0,564
-f, 10
0,81
10,5%
5,98
12,74
1,97
Cudt
t.3s
=4, 8%

Cudt
Taél
=115
Ceal
.6
=154
=U.37
=~ta1s
Upiet
.14

=-b.95

4,12
=174
1e.16
2412

£,56
LAY
15,41
=1.54
LIy

B,07
=310
=5, 80
11,5%
~2.12
3,67
4,95

5,68
t1,5%
=< 51

-5 14
5.09
=6.9%
“haut
3R
1,19
15,44
S
12.8%
2ed?

“b.th
IR E
Uet?
10,74
-, w2
=Yy, 70
TLul
dyth
=29
=3.a8

[HS]
0.893
=1.54%
1452
-0,%%
=1.54%
-0,37
=1,1%
Oubt
Pl

=~8.9%

k.12
=134

F.97
“2.12

2,17
-5.22
14,44
=5,6%
=5,05%

5.3
~2,51
-5.68

3,02
-1,5%
15.04
=5,0%

7.04

6,07
-&.75

3,78

6,07
=-5.07
=5, B4
.07

2.54
e, 7%
-%,34
15.87
LY

etk
=3, 74
Ta.0%
FITL]
19.6F

2422
1,13
a2t
Yo a4
=u.?



M L CEEIHT £ 5 REMEOR RS — AT

haTe 1980=-06+2% STatrow HAKAT 2L CRUSTAL 2gtIvliTY ORSERVATURY{)12)

COMPONENT =D SAMPLIVG INTFRVAL 0.UY (SFC) TOVAL CAuNT of nata 3000 BURATIUN 30,00 (5C)
T(SEC) KECELFRpAT [0y fGALD

Sa00 0,07 fre2 Th 4L T4, 20 th,b 7,04 6,45 =1, 54 LAPET] ~5.27
Se10 &, 27 w6 02 =g, 9Y t,an 5,07 B, 02 t.82 .14 Goel =5,24
5420 ELPA 5422 5,0% teth 2,58 -1,%4 =1, 34 4,07 i, f6 “1,5%4
5430 =3,40 LR s -3, 4y Ry EY L) s P 5.4k Y nn =3, 58 i, 75
Seal m5.05  =9,85 =g 06 =t tn m0,78 by, 68 5,09 ba.07 9. 6% 5427
Ses0 2,17 £456 §,92 PR TS 1,5% «f0,12 -9,14 =15.38 4.7 te58
8440 11854 19,75 TR,9Y 2,42 25,97 24,01 23,67 16,59 Sa41 9,43
5.70 haks 5,88 =034 7MY 9,74 20,06 =1R, 31 =37, t6 =16,94 =16,94
S.50 =21.74 «PU RL =22,20 =1h.04 =-15,77 ~1T LB =11,29 =/, 5B =10,50 =11,27
590 h,66 P2, (T3 5,02  =0,9% =0,57 1,5% 10,36 15,08 t§5,4%
6400 21,28 19,41} 15,68 14,47 13,87 20,11 17,38 12,114 G, 31 3.92
530 S54R 6407 B.9% LY 6,74 0,20 B,4% =2,5% -, &5 LYY
&apD =0,54 =l.5%6 =2,.%% 5,45  «5,43 7,07 «7,58 =7,7R «1(,12 =3,97
4430 =11, A% =10,70 =916 9,1k w9, =9,0%  «F,52 <11,0% =11,0% ~11,0%
betl 6 BN a2, 52 3,55 G5 b, 12 =&, 85 L2,.7t =1,54 2,54 2.7
450 by kA ‘.04 7.87 Th, 85 9.77 1,00 W0,17F 1,34 6,67 5,63
henl 12,51 12,70 13,0¢ 6415 Teld 2,36 6,07 [:H Tew? .31
8470 T4 0,56 =218 w7,.78 7,58 =11,29  =14,75 =18,8% =19,5t -1u,?%
LY. 4,02 =f400 =159 5,08 =5, 4k 5,83 5,22 6,27 RINY =1.34
4.90 =1 .54 =427 4. B =3, 88 =5, 68 =2,51 -2,51 2,51 -5,.¥5 =3.5%
fau0 =15,77 =10,351 -9,95 =T a5 wt, 15 4,51 1,92 1,58 fo? 7,04
7410 7.463 548K 5,68 &,07 6.8 7,04 5,68 5,29 1,97 3,58
7.20 6.07 4431 4,31 A.26 5,29 3,75 =3,28% 2,90  =9,73  =p,14
P30 =2.14 “54h4 -5, 4t a2,12 -2,90 5,49 2,32 2,51 1,94 -1, 73
Taal =1.95 1458 1.1% Na?2 2,46 3,71 16,26 13,28 16,06 11,3%
7450 P58 he6R §,65 7,12  «2,90 3,29 .24 6,07 6,02 G, 61
AT =360 =4,B0 =583 2e56 6,85 9,38 1,18 1,19 7,97 =7,87
770 =B,17  =2,90 =3,2%  an,%7 6,22 0,22  -2,32  =2,12 =540 -4,.45
7,80 =4 RS =Py 58 =g,B0 -hl27 =2,90 =E,5) =12,26 =11,00 =13,0% =12,44
7.90 12,26 =7,19 -7,00 -%,27 =1,73 -%,54 =1.54 -2, 7 b4t =11,0%
Benl SRR 18 PV A N SR P I DS L LI R L LS 1] _aP, e =2, -2432 . =0,17 .79
3,tC 1.%% 5,63 2,36 ANebl 3.t .14 1,19 1,3% 1.49 Z.75
Bep0 2,75 1a34 5,53 .73 b, N7 S. &7 5,29 Oy41 4,07 =3.49
8,30 “1.47 =4yl ~7, 7% -f0,90 =18,31 =17,58 19,48 7,92 «16,%5 =13,82
a0 13,82 »10,90 10,12  «9,53 2,90 =3,29 4,31 5,48 5,57 3,146
8450 2,95  «2,32 V.58 5,53 9,58 B,%9 3,09 10,34 Y.58 5,68
Beal . 6,88 .99 12,31 13,48 18,55 1752 1543 11453 tU.ss 7.8%
8,70 4,21 Re9? 8,21 R, a2 9,38 5,9¢ Tyl 4,90 4,51 -1,15
4,80 =115 by O7 =, 76 0,37 7,04 5,85 2,18 9,19 &,9¢ 5,68
8430 6,07 Se68 S.87 hati7 763 LY &3t 4,12 4,31 b.24
7400 b1 9429 3,73 5,78 4,51 &,90 6,07 7.82 T.52 10,18
Set0 L 9,38 19,33 4.9% 9,19 3,73 N PR £ U P4 SOV T % R TS AU T  §
9,20 2,17 .02 =5,6% 5,26  .8,17 11,08 13,62 413,43 =13,04 «7,78
9430 .kt =329 =195 a1,93 0,95 0,41 1,39 .95 2.586 =1.73
Faul ~1.93 -1.93 =3,4% 3449 5,563 -5,24 =4 85 =4, 85 =4, b6 “0.74
9,50 0.0 1458 5,54 3,14 1.1% 6,22 =0,17 3,73 a1t 6,31
9a80 334 2475 0,07 8,41 -0,5%6 ~0,8% =115  =3,6R  «$5,588  =g,41
SaPl w6441 =641 m5,24 | m5a84 =B.36 26,01 =6,41  =3,10  =5.88 . =5.0%
FuR0 -5.8% =5,83 5,24 =5.43 5,83 b b8 =ik -2,17 CENEY) 1.39
9a90 Setd Y 1. 7,24 6485 bbb §,44 Y] 4,02 (LY 6,07



EVPREERA e Yy —HAEAW $£445 1981F1H

SATE 1580=06=2% STATION  NAKALZU CRUSTAL ACTIVITY DRSERVATORY(J1D)

COMPONENT ywD SAMPLING INTERVAL 0,N1 (gEC) TOTAL COUNT OF DATA 3000 DURATION 30,00 (SEC)
T(SEC) ACCELERATION (GAL}Y

10,00 4,07 &,07 PR 1.53 2.75 1,73 1,73 5.7% 3,53 .34
10,10 6.07 5,87 6,07 4,07 6,07 4,73 1,92 2,17 4] 5.34
10,20 1.78 1.97 2.7% 2,95 3.4 2,38 2,56 4.5t 3,34 2,75
10,80 | o m0.87 8,02 _ *2,1F k.l _ 5,24 «P,58 7,19 | =19 7,19 =119
10440 5,26 =5,83% =10,51 11,87 =12,8% =11,48 11,48  =B,95  =¥,5%  =9,5%
10450 9,16 =8,9% =g, 2  -4,27 =3,58 =1,15 =1,73  =&,5% -2.12  =za12
10,60 =149 -3,49 =-5,0% iy 07 P51 =1,15% -1,93 -3,40 5,44 -5,8%
10,70 =9,5% =314 -9, 73 -R, 07 a?, 97 =5,43% 5,43 =4, 85 =6ail -4, 61
10,40 =8,72 602 -5, 4t =0a95 =0,95 .75 2,75 1,73 E.5h 2.3%
10,90 L% AU PR 1,73 te97 1,78 0,80 T 10 1,38 2445 .75
.00 4,51 5409 6,07 2,59 g,A0 & 0y 8.02 fa24 o,u7? 5.07
19,10 .12 2,38 n.8% =173 -1.%4 =-1,54 =115 =0,95 =1.%5% =0.95%
1120 0,02 1413 -1,%5 =340 -3,29 =349 R L kRS 1,54 =154
11,30 0,02 =023 =-1,5¢4 =099 =1.15 0,37 =1,1% -1,54 0,.u2 0,17
11440 Qubt . Ugbt g,41 1.97 1,97 2,386 6,51 5,09 6,26 §.07
.50 A07 .07 8,07 Aa0? .07 6,07 6,07 6,07 G,u? 8,07
11,40 4,07 4,07 &6.07 &£.a7 6,07 6,07 S.4R bebA G, 17 5.92
120 1.3%4 3,484 3,54 0,42 0,58 =2,90 1,74 1,54 3,48 4,2
11,80 5,53 =778 =P.7% 5405 b, 6 3,48  »1,9% =1,913 -0,47 0,17
Tte9t 3 ¥4 1,72 1,78 1,%9 1,58 1.78 0,22 8,41 .l 57 =-1,7%
12,00 “1, 56 w017 =017 1,97 2,79 .14 178 1078 =u. 76 =0,9%
12,10 0,95 -0,37  =0,%7 2.56 3.4k 3,73 1,58 1,78 Q.22 1,19
12.20 1,78 2.7% 3,74 5.87 5.09 4,78 2,56 2,75 4,14 1.07
12430 ] 2,56 2.5¢ 4.5t 373 i,%2 6,65 Fe48 Pe17 G061
12,40 Okt =2.90 =2,7% 345 =5.44 =5, 4% 7,00 4,00 7,197 =9,7%
12450 =-9,82  =%,73 =91« =2, 7R 7,10 =7,39 =9,3&  =B,05  =d, 34 =7 30
12640 =739 5422 LTS b 27 -7.1% -7 18 =585 =3, 24 =4, G -4 ,07
2,70 -k, 07  =1.15  =g,56 N4t 0,41 0,61 Tout 1,78 S.14 .24
12,80 5,87 L 5.6% b 07 7,04 T.ng a,02 [ 7 Gh b4
12.90 L] 4a85 r, 24 787 6,07 s,0? $.09 4,70 4.3t 3.73
1500 4,73 3,73 z.50 1agf g,z2 LR 0,61 -U,17 =Uynt 1.5%
15,10 1,40 1,39 0,27 Nen?  =0.%8 =0,56 0,02 1,00 1,19 1,37
13420 1,19 Oete? =0.95 =1.3k =t 54 =1.54 =2,51 =251 -2,51 =2, 581
13,130 22,77 =1,8%  =1,97  .9.9%  «3,51 2,52 =1,8%  =1,5: 1,56 =1,54
13,40 =1,54 «0. Y5 -1,54 A 0,51 0,840 2,34 2,54 246 7 4%
13,54 275 3.73 3.3t 3.1 S R7 5,68 4,07 {04 falid Y
13.60 LIYY] 5,48 [ 1,97 1,73 4,12 .3t 3.34 L.84 2,17
t5.70 Yot 1,39 =1,15 1,95 »0,37 0,56 0,57 =T,34  =l,54  =1,5%
13,80 -2.17 2,51 b TE0d =149 =he, "7 =5,24 .22 8,95 8,75 Rl PEA]
$3,90 -9, th =% th =914 9.7 =10,12 -40,57 10,17 =9,53 =y,5% -7,7%
14,00 =8, 51 b, 02 ~4,0¢ -4,02 -7.4% b, 61 ah, 27 5,82 -5,8% =5,24
4410 b 07 -3.49 =349 PLIvA «3.45 -5, ~3,8% 5,29 =3,49 5,07
14,20 =2, 71 2451 -1,73 ~1.93 -1,49% -1,34 =115 V.61 Cath 1.53
T4 th 1,47 Ta% -, %7 -,37? -1,18 -0,17 -0, 17 =%,15 =t.1% -1, %%
16440 0,17 -0, 17 .41 LIS 1.%¢9 0,61 Q.41 .39 1,40 1,32
Taestt 217 2,17 3,34 .78 .31 S.48 5,68 S.4® 5.0% .07
T4heal Al07 §.07 &, 20 bohh 7,04 Y ) LY 5,00 4,72 275
14,70 1,78 t.78 .22 0,02 =0,17 1,39 1,19 1.8 1Y) 5,75
Vi, 80 1% 3,54 2,14 .17 Y. o7 7,48 .85 3,54 £.¢5 2,34
taapn =0,%/ Ne2 =056 =1t =tL3k =154 wT.54 =1,54 -U,76  +D,54%



IEREE 35 & UHERE I & B BB DERERR— KT

BaTe 198C=06=2V STRTON KAEADZU ERUSTAL ACTIVITY ORSERVATORYLIIT)

EAMPONENT U=D sAMB| UG INTERVAL 0,01 ¢s#C3 TOtAL CRUNT Of naTA 3000 BlIRaATION 30,00 (SEC)
TeSEE) ACPELEwATINY (GALE

15,00 6,07 =0.17  =0,%6 29,54 =1,93 =0,95  =1.34  =¢,51  wd.gw =3.29
15,10 1,15  =l.h =057 =n,17  -0,54 “1,73 w1,54 2,12 -1.54  =1,5%
15,0 -.95 -1,15 ~t, 56 L S =-0.56 =0,56 0,37 =017 -, 57 -0.37
15,80 1,64 =tab&  =1,54 =1,83  «1,93 5,49 =3,10 =¢,51 =1,%4 1,54
15,40 G.ht ekt g4 1,78 .78 1,78 2 17 2,7% 24?5 2,75
15.50 3,34 4,12 5,2% S hK 5,48 6,07 5,6R 5,29 5,29 h,23
15,60 5,44 5.09 PR 7.17 2.5¢ 1,28 1,58 1,59 Cadt 0.61
15.70 -0,17 Dabt 1,1% 1,78 1,78 1,39 39 1,39 1439 1,357
15,80 -0,17  =0.9% =1,54& =t,54 1,54 -1.54 “1,56  =1,5% 1,54 =1,54
15,90 =2,51 =241 =2,12  «t,56  =1,% 1,56 1,15 ~Y,15 =1,k =1,74
ta, 00 ~3.49 -5,84 =3Bk =2,37 2,51 2,51 2,12 =E,12 =t,93 LT
14,10 -1,54 0,37 =g,1? 1,54 1,58 2,95 1,97 1,97 =057 =4,37
14,20 -1,54 =0, 17 -0, 37 P ) -0.58 ~D,56 1,54 =154 =1.54 -1,15
146,30 afl, 54 0,56 -G,50 154 -l -1,5%4 -2,12 =1,93 =2,91 =i, 711
14440 2,580 =k A% =4,89  -5,6 =506 =k RS =&, RS =5,05 =3,6R  =3,64
14,50 =5.47 -5.49 -5,09 =310 -2,%1 “1,9% -0,95% =0.95 -u. 57 =0.37
16,40 -0, 17 14319 1w 7. t4 Y. 44 4,12 5,48 S.6R 5,29 5,29
16470 5,27 j.7% 3,75 217 .78 1,39 c,80 1,00 1,97 2,75
16480 3,14 [ %3 [ La§! 4,5 b, 5t dotz 4,51t 5429 5,27
14,90 5,29 b 26 6,07 A,07 4,07 6,07 5.68 S84 5,69 L]
700 (-1 $.75% 31,75 2,75 2.58 2.36 [ 4 Ve27 =056  =0,5%
1710 -0,5% U.81 LY 1,39 =0,37 =0,%7  «Z,32  =1,93 =1,k =i,54
17,20 t,54 =2.51  w2,5t 2.4t 2,51 “2,51 3,49 =300 =2,51 -2,12
17,350 -2,12 -1,5% -1,73 1,54 -0,54 0,56  =0,58  =U,78  =u,95  =1,54
17,40 =1.%4 =154 -1,94 1,54 1,54 -1,54 =0,%5 =0, 95 -1y 56 0,17
17,50 0,87 Uy 0,64 RN 1,39 1,39 1,78 2,17 I8 1] 2.36
17,80 2.%4 2ot 1.8 1.3 1,07 1.78 V.59 1,58 Taf? 2,34
17,70 2.%4 2475 L] 5,73 4,31 b, 31 5,&H 4,90 470 haldl
17.80 b8 218 1,74 .39 0,22 0,41 0,41 .19 1,59 1,39
17450 Tats Dutet [P et =0.17 0,17 0,17 «V,54 =1.56 =1.54
18,00 ~%,54 ate%3 1,94 2,12 .51 =7,%0  +3,RR  =b4,07 =4, 07 =%,05
ta,10 LTS L) =349 5,49 -3,29 =310 =2,7 =1,93 =1,54 =1 ,54 =1,5%4%
13,20 1,73 1493 -1,¥3 «1,95 -?,12 =1,9% «1,93 =1,53 =1.93 =2,51
14,30 =-7,17 =12 —t. 5k =1,5¢% 0,02 =017 =017 -0,95 =095 o,02
18,40 n.02 .41 G bt Aokt 0,57 0,41 .39 1,39 159 1,319
18,58 1,19 t.39 1,59 1.0 1.8 1,19 1,19 1,57 T /R 1,19
18,40 taze 119 fa3¥ 1,59 1,38 Oost . =017 =04t7 =, 17 155
18,70 1.3% 1,39 =g,57 =n,17 0 1,54 “2,12 =2,32 =2,%1 .51 -2.%2
15,80 2,17 1,93 =2,51 n?.51 1,73 =-2,32 +2,51 -1,%3 “é,17 =2.51
TR.90 =2.%1 =245 -5,k ~3.40 =3,10 -2,37 2,51 1,34 =1,54 -1,54
19.00 =1,54 =1.54 -1,94 -1 V4 -1,54 -1,54 =1,5%4 .02 -0, 17 =(0,5%
19,410 =095 =095 -1,5& BN 17 atl, 18 ~0,17 0,17 1,58 Te39 1,39
19,20 1,39 138 8.07 LA 1,459 1,78 1,39 1,78 t.4% -,17
19,30 =017 =7 =3.56 0417 0,01 2,54 2,17 5454 245% 1.55
1904 2.34 2,36 1,39 1.19 V.19 2,36 ST 1,58 U.d2 =115
19,40 =212 «l 93 “2.71 LY ¥4 -2,12 -3,29 3, 0% =5.6% 5,24 =5, 644
15,40 b, 77 =hoté -3.2% =2,51 =251 ~1,54 =1,54 0,02 0.8 9,95
19,70 . w0,58 =048 _=0,95 =1,15 1,15 g n2. _ 0,02 9.4 Cakt taebt
19,80 1,10 1439 1.1¢% S | G.81 1.39 1,35 1.97 1,58 1,54
19,90 .19 1.39% 1,39 1,319 t.5¢ 2.55 2,75 2,34 Pl 236



EUKHERE Y 5 -HREH £445 1981F14

baAty 19BO~0&=29 STATTON  HARAIZY CRUSTAL £¢TTy1TY ORSFRVATORY(Jr2ZY

COMPONERT {ab SAUPLING INTERVAL 0,01 (SEC) TOTAL COUNT OF DATA 3008 DURATION 30,00 (SEC)
TESELD ACCELERATINY (GAL)

20.00 2,7% 2yt7 1,59 1,78 1,78 1,39 1,58 Te?R fLy? 1.73
70,10 1439 1,00 g, 1,1% 1,19 t.58 1,00 [ Buat a.81
0.20 0.4t 8,41 1.9 1.3¢ 1,19 2,38 2,56 2,78 .36 2.34
20,10 0,27 _ Uy02  =g,5¢ 0,17 ] =0, 17 =G, 07 =0,17 Gedt Getl
20440 0,61 -b.t7 =3,5¢ EL LT 0,5%8 =0.5%6 0,54 0,54 V.07 =0,17
19,50 G.n7 Uyt 0,41 a4 0,41 0,41 0,22 0,02  =0,56  =U,54
20,80 ~0,9% -0.37 =-0,17 4,17 8,02 0,54 1,34 1,34 =1,54 -1,34
20,70 1,54 -1.93 =-1,9% =7.5% 2,42 -1,34 1,15 0,95 =1, 54 =-1,34
20,80 0,74 0,95 0,75 S ) 1,54 -1,34 -t,15 1,15 Co0? 0.02
20,30 4,41 1,58 1,39 a6t 0,22 0,56 =0,37 «0,17  =0,17 [ ]
21,40 1,89 2,36 2,97 t.78 1,5¢ &, 80 0,80 0,8&n [ 0,27
21.10 Gaetl 1.39 to39 t.97 2.7 1.1 2,75 4,75 2.7% 2.95
21,20 3,34 2,12 2.36 1,778 1,00 o,ut [ NS 0,41 0. K0 0,61
1.0 Tat1 0461 o.41 Dot 1,00 1,319 1,39 T.58 falt .97
21440 . 1.7% Ty ?8 1,57 1e3% 1.39 1.39 .39 .39 T.7R t.58
21,50 1,58 0.2 6,27 1,15 -0. 78 0,57 ~0,54 0,74 =1.54 =t,56
21,40 -1, 3% =1, 5¢4 -1, 34 =0, 85 =0,%7 =0,17 ¢,02 =017 Gau? =0 17
21,70 =0.17 «0.76 -5, 37 PLI .41 Dedt S.61 0,81 -] Q.22
21,80 0,61 0,56 =056 w017 W0,17 0,02 1,58 1,39 1.39 t.37
21,90 1,19 1,97 2,17 Z2.%6 1,19 1,39 0,22 [ R Vot 017
22,00 0,07 «0,17  =5,17 0,02 0,17 0,17 1,15 =1,56  «1,%  =0,9%
22,10 =1.1% 0,402 t.22 Nepe 0.4t 0,41 0,61 0,02 Va2?  =0.5%
22,20 =0,37 ~0.56 =0,56 0,37  =0,% =0,56 «0,56 0,17 0,17 w(,56
2230 =-0,78 =173 -t 15 0,95 0,02 a,n2 0,41 0. 02 0,02 =0.17
22,40 0,17 =017 0,61 N4 1,58 1,89 1,19 0,61 [} A
22450 o _.Bage =017 0,028 0,17 1,73 =1.54% «0.95 . =0.58 . =0,56 “0.56
22,80 =0.%7 “G, 17 0,4t (PR -0,%6 -0,76 0,95 =0.5%¢ .56 ~0,5%
22,720 «0,Th  a1,54  =1,15  a1,15 e.07 -0,%7  =0,36 =0,56  =0,5¢ 0,02
22,80 G,80 1.78 1,39 tas9 Q.22 0,41 0,41 0t 0.4 -0.17
22,50 g.22 D441 O, bt Tt LU | 1.00 1.39 1,356 1.3% 1.3%
23,00 _1,58 1,7k .78 1,78 L bLRO C0a6Y 1439 t,s9 0 1,97
23440 1,38 1.7% T, 78 1,78 1,39 1.5% =47 =0,95
23,20 =056 =0.17 Ta00 o, B0 1,19 1.5¢% 1.00 -0.17
23,80 =Uyt? =0.56 -n,76  a1,54 =1,15  =1,4%5 1,45 =1.54
25,40 -1y54 0,57 -0,37 0,17 R,22 [ b,z =0,17
25,80 =097 0,17 0,17 -0,58 =D,%6 -0,37 1,34 118
23,80 LT E AL PR L LT AT 1,56 =134 LUt =0T
23,70 w017 =q.17 Nen? 9.41 1.%9 1,19 =095 =154
23,80 -2.32 =2,5 =2.51 =2.51 =1, =1.54 “1.34 =1,44 =1.5%
25,90 LA 1) =0,%5 =NeTh 0,74 -t,73 =1.54 =154 =134 w134
24400 =454 “0,9% «t, 58 -1,54 ~0,9% 1,15 0,95 =0.75 =0.54
L 75 | G20 L WAL T T I N L R w017 D17 a0 5A =13k =1.34
24420 0,95 0.02 1,15 1,3¢ 1,97 1,58 G.41 ~lo 17 =0T
24,430 C.22 0,37 =0y17 g.u2 -0,56 «0.54 0,56 =0, %8 0,56
2haul Gyt 0,41 0,17 g,n2 0,17 =017 -G.17 T.3% 1,39
F4,50 1,37 1,39 1,3% 1,72 1,18 1.78 t,97 2434 Y] 2.34%
2he80 2,56 217 1,97 1,39 1,39 0,72 0,02 =0.17 =0,37 =0,37
Bho?0 Lo . m0a58. w037 =007 L 0dt 8,41 ] LTS P UL DR g.02
244R0 =0.17 Q.22 0,41 Dot [ R [ 1,00 1,19 ¢, 0,63
P4y 90 Babt 0402 =D,/ [ 0,61 0,61 0,41 ] 1,48 1,37



TATe 1980+04=25

COMPONENT U=D

IERE S & EERTIC L B REMBOHRELN — KT

SAMPLING

TTEvarion

IMTERVAL 0,0 (geECY

NAKAIZU CRUSTAL ACTIvITY ORSERVATORY(JID)

TOTAL COUNT DF DATA 3000

PURATION 30,00 (5g¢)

ACCELERATION (GAL)

Ti8eC)

5400 1,39 1,39 1,39
25,10 B.08 0,37 =g, 17
2%.20 0,41 1499 1,19
25,10 =1,95  =1,5& «1,5¢
25440 «0,17 =0,17 =p, 17
25,50 Gat? =017 =~0,17
25,60 «0.56 =154 =1, 3%
25,70 *0,17  =0g17 = 17
25,80 g,22 gl 0,41
25,90 1,38 1.3% 109
28,00 LY Ugdt 0,27
24,10 0,81 =078 =0 37
24,20 0,17 1,58 1,39
26430 n0,17  «0,56 =0,56
28,40 3,58 =1415_ _=0,76
24,50 0,41 Outt 0,61
26.80 Gaigt 1439 0,80
24,70 1,19 Dagt 0,02
24,80 0,22 0456 =0,1/
26,50 0,17 =0,37  =p,37
2¥.00 TTTTTTTUURY B, e TR 8
1.0 5,10 -1,93 -1,%5
27420 =212 =1.36 =230
27,50 2,51 =Ze5t =-1,5¢&
27440 =1,56 =156 =g,37
27450 ..QA.” Qs .__._0._-_".1
27460 2,34 1) 2.36
?7.70 1.00 1439 1.3¢
77,80 2,17 2.7 .36
22,90 1.9 1439 1,3%
28,00 _ 3% V.39 1,3V
28,10 1.97 1.78 1.TE
28,20 0.41 T 1.5%
28430 9,02 =0,17 g, 61
28,40 =0,17 =0,17 -0,17
78.50 0,54 =058 -t 15
28,80 AP R 1 PR A L
78,70 =817 -0.17 =4,56
28,40 =1,54 =ta56 =-1,%
28,50 1,54 =1y56  =1,3¢
29,00 21,94 =1.9% =q,93
29,50 R T L I ST B P
29,20 1,54  =1,54 =1,5&
29,10 =0,54 1415 1,54
29440 0,17 0,02 w0,17
29,50 0,61 P46 0.t
9.0 n3,17 -0,17 0.1
000 . L S I - < PYOS | Uab!
29,40 1,39 1.3¢% 1.3%
29450 1,78 2430 2,56

— 43—

1439 1.39
B.02 =017
Gy22 0,22
002 =017
T.41 1,00
=%a15 -1, 34
1,5 -0,95
-0,17 -0,17
=417 0,22
L=bet? . 037
ta02 0,37
=017 1.19
fe39 1,3%
0,37 =0,17
0456 _=0,17
Dedl Gkl
fett Q.41
B.02 =¢,56
0,17 =0,17
=356 -t 5k
ELE PR S L
~1,93 =1,93
=2.9n 3,49
-1.94 -3,37
=My 54 -0,17
LR S S P R W
24%0 .49
.19 1,78
T 2,17
Y19 0,40
T ',19,,,, ,,0,!“1,,
te?R 2,38
0480 ¢,41
Tetl Gob1
.22 g, 61
=078 -3, 58
tat? .39
~0,17 =017
-t.54 =0, 5
mte§6 =1,54
-1,34 =1, %
=ie54  =1,5&
-t 54 -1.5%
=0,57  =0,5%6
tegt C.41
-0,17 =1,17
.41 4.4
L t.3%
1,19 1,18
1,78 2,17

1,59 1,39 1,39 =017
=0,37 0,56 ~0.54 Qais?
0,47 w017 =017 0.4t
“0,37 _ =017 2,12 §aD2

1,78 1,78 178 Ue22
1,54 0,58 =0.5¢ =037
0,%6 «0,54 ~0,56 0t
0,17 LS 0,22 U4

[ | 1,58 119 0.B0
=C.58 . w0L3P __=B.57 0 0.6
0,37 0,02 9y02 0,41

1,39 «0,37 0,17  «0,58

0,76 =0,37 «0,17

=0,17 =017  -0,17

mDaS6 0402 UagY

-0,17 -0,37 0,586

0,41 .00 1.5%

=017 =017 =0,17?

0,17 0,41 061 Uyt
1,54 =1,54 =1,158 =0, %5
=-1,%4 =1,54 -£,52 =2,582
2,12 =2,51 -3.49 =3,49
=3,2% =3,10 =1,93 *.y3
=0,56  =D,56 =1,15  ~u,45
0,17 0,17 0,41 Dab1
L1a18 1,39 . 1,97 1,78

0,614 0,41 0,41 Heid?

1,58 1,39 V.39 1,59

1,92 1,07 V.39 1.39

1,19 1,19 1.3% 1,39

1,19 1,39 1,59 1,58

1.97 1,67 V.59 1,59
=G 17 0,02 Q.41 D.é2

L4t 0,41 =0,17 f.02

0.4t 0,61 0,61 U,L2
0,56 =0,5¢ =0.17 .22

1.3¢% 1.19 . 0,22 Vab2
=0,17 «0,17  =0,17?  =0./8
=1,54  =1,54  =%,54  =1,5:&
=1,84  =1,56  =1.54  =t.9§
-1,34 =-1,564 -1.,54 =154
=154 L =1,3% 1,15 =1.5%%&
0,95 0,76  =0,5¢ =y, 8?7
0,7 0,22 P22 +UL17
0,4t 0,41 a1 Gt
~0,57 «0,37  «U,5¢  ~u,$7

9,4 1,19 1,35 1,89

1,59 1.3¢9 APe 1] 1.5%

1,39 1,39 1.3 1.39

.36 1438 158 1.9

O.02
Qed

. Qadt

Gedt
-0.17
-0,17
-0,56

Gakh

0,41

1,57

0adh
.17
-1,54

-3.88
-2,32
2,51
-1,54
Dutt
2,35
Bygd
1,57
1,39
1,39

1,97

t,3y
.17
=17
.17

Gugt

002
=0,95
1,34
1,93

1,54
=ta54
-0,37
0.7
Gakt
0,37
1,37
1437
1,538
1,37



BATE 1RBOs06=26

COMPONERT NaS

T(sEL)
0.

0410
Oe20

C0e30

Oudl
0450
Oetl
Da70
0.80

0e90 _

1460
1518
ta20
150
_1e40
1.%0
1,80
1.70
1,80
1.90

2,00
2410
2420
2430
24440

HUBKHEHEL Yy —TRER E445

STATION NAKALZU CRUSTAL AtTIVITY ORSERYATORYC(J|Z)

SAFBLING INTERVAL 0,01

1,082 o,1e% 487
04094 04094 0,105
6,096 0,917 D,40%

_.0,000 6,000 0,00

(SEC}

0,070 0,059 0,047
G409 0,082 0,082
n,082 0,059 0,087
0,05% 0.059% 0,0%4
D,070 0,004 0,09

S 0129 0.129 0017

6,174 0,152 0,17¢
0.185  0.t05 0,082
Dotée 0,189 G 176
0,257 0,268 0,281
Dekptl U.h2t  0,51%
0,374 0,374 0,339
0,114 0,516 38 ¢ 4
By491 T [ Y
0,737 Gy 749 0,631
0,632 0.620 q.538

Tnlked  TaL,ea% 0,827

0,782 0,757 0,67%
0.995 1,006,971
0,9% 0,936 0,913
6,R56 0,854 0 A5t

C0a%35  1.8IR 1,08k

1,229 1,205 1,158
1,170 1,170 1,182
1.063% 1,063 1,100
1,220 v,217 1,217

1,295,322 3,38%

1,138 1,123 1,112
1240 1.252 1.287
T80 1,318 1,310
fat1s 1,100 1,087
DahZt 0,421 9,621
N.722  0:842  0.Ke¢

BT TE I I R D

[ %1 Neh3d Q0,89
0,737 =0,BF7 0 B3¥

=1, 287 wl,662 e1,580
=2, A9 =2,73B a2 P26
3,488 =3,568 3,557
w3,334 =3,358 =3,35%
2,813 2,781 2,773
8,743 1,815 =1, 43K
“f 832 m0e515 =0.550
~10 275 1,217 =3, 217
0,808 «0,955 w0983
2,724 w2902 =2,92%

TOTAL COUNT ©F DATA 3000

T TUECBELTY (R ?NE) R

—_ 44 j—

0,117 04094
0.12% 0.12%
0,094 0,059
0,000 0,035
0,05% 0105
0094 0+0%4
0,004 0,059
0,082 0405%
n,082 T,10%
01T gttt
0,187 Ge160
6,094 .19
0,178 0,254
0,287 Ge374
£.593  Q.456
C.328 Gal4é
0374 0598
C,4a0 04538
0,811 04819
n.,5%%  0.503
0,527  0.542
0.4 D.T81
n,%83 1,018
0.913 0,913
n,862 04854
1,135 1,158
1,817 1240
tyl23 12100
ty120 tL182
v,217 1,229
1406 1,404
. 0F8 1.074
t,187 1,354
s.217 0 1,229
(4889 0.901
Teb5h 04445
1,076 14065
1,112 1,123
PRI 0,094
=0.926 =0.934
=1.74% =1,767
=7.390  =2.872
=3, 487 w3487
3 L5851  =3,440
2,586 2,504
1,474 =1,29%
0,643 0,574
w1, 181 =tf,076
1,486 =1,81%
*T,159 =3,346

1981£1H

DURATIGN 30,00 (SEC)

.09 8,10% 04105 [ RN
B.12% B.405 Q105 0. 1Y7
04070 04096 8,059 0,047
L Be035_ _0.070 0,055 6,012
0,09 G,05% 0.070 0,059
0.082 B.059 0,094 0,0%4
0.0%%  §.047 0,082 0,082
0.070 0. 10% 0,038 0.0a?
G.105  §.09& 0,105 04094
Ga129 . 0.176. _Be'B7._ 0,147
0e152  0ut40 0,187 0,178
0,117 0,117 Bge%29 0,117
G.257 Q.281 Gy 257 0,281
0.386 0,421 Gel33 0,421
OabRT Qa8 0pd45. Dabse
g, 281 0,281 Ce%16 0,304
GeuBD Ged bR PN L] Q.beR
0a5B% 0,585 04455  O.he7
8a772  0.781 GoT8t 0,737
G4503 00503 Gyt 80 Oy bhef
0,608 0,307  Q,60F (0,608
0.948 0a9186 G371 0983
0.971 0,971 0938 0,98
04854 0,854 D4B7R 0 R54
0,968 0,938 8,956 0,971
C1a828 0 lk217 0 a229 1.229
1,193 1,158 1470 1,158
14076 1,065 1,030 1,053
TLIBZ 1,183 1,183 1,217
1,264 1,875 14346 1357
Neh04  1435F  1a810 1,170
1,112 1,142 1,112 1,188
1,549 1,369 1357 1,322
1,158 1,158 1,135 1,100
Qe84 Qo702 Dy 89% O.hwt
8,421 Oeh6B 09480 0,B0A
170 _te182 0 1,058 1,252
1400 1,061 1,030 0,886
=0,2%1  =0,43% =0444% =0,520
1,006 =1,04% =1,055 =1,182
1,919 ~2,176 =2,176 =2,4%7
=8, 159  =3,3%4 ~3,323 =3.593
*3.,440 =%,323 =3.%u6 *3,35R
«3, 440 3,299 =3,288 ~%,112
=2.434 ~2.05% =2,083 1,747
«1, 217 =1,053 =1.041 =0,877
=1,006 =~1,286 =1,228F =1,P87
1,053 w0 831 =0aR1% . =0.020.
9,860 «2.340 =2,385 2,515
=338 3,568 =3,522 =}.487

2,094
6.082
~0,012

__B.oe2

[RTH
0,074

-0,432
1,205

=2.521
~3.628
“3,544
-5,00?
-1,755
=3,702
1,284

1]

-2,70%
=3,558



MEEE L VEEH & 2 MRS O RN -— KT

CATE 19B80+06=29 $TeT)

COMPONENT Ka§

ON NAKA) 20 CRUSTAL

SAMPLING INYERVAL 0,01 (SEL}

T{5gC YELOCTITY (KINF)
5.00 c3,830 0 WD 289 3 299 a31,274 =31,1E2 w194 =2,029 =2,01% =2,738 =2 586
5,10 =2,5F4  w2,504 2,582 w=z,632 «3,042 e3,042 3,779 3,878 c4, 247 =4,.7%5
5,70 b 897wk PF6 =l P4Y  wy,P4T =4, 06) =4, 061 w5171 =54242 =5,394 5,639
5410 25,628 w5990 =8,142 =5,178 45,786 Comly125 =Pel60_=T,25) =7.242
Sek0 =7,23t 2,020 6,821 8,587 5,897 «5,335 =5410% =4, B352 =4,02%
S5e50 =4,095 3,358 a3, 1386 7,980 =72,785% «3.112  #3,428 =3,6310 =4,5%)
5440 G bR =5, 265 =8.45% w5,920 =g, k6 «7.102 w7,28% =7,35L «7,58%
5.70 =7,8%5 8,026 =7,956 27,921 7,488 8,856 =64%41 =6,107 =5,125
5480 =5, 148 =4 ,282 =3,815 «5,358 =2,05¢ 1,193 «0,?14 =0,5%0 =0,0R?
5490 =009 0,304 0,74% g, 8Pk 1,720 2188 2ab3a 2,457 2.514
s.00 2,469 2,509 1,895 tJERS te182 D.B7H Q4725 0.725% G.AGG
61l Buba? 04619 0,725 0,737 0.959 1,240 V4474 1,683 1,521
6220 1,615 1,217 Q0,985 0,983 1.100 1,650 2,200 2,200 Z.621
6,30 24597 2eb5¢ 2 457 2,449 Y42 14568 1,008 1,030 ¢,515
X1 — o DalAS | Ga257 0176 0,187 0,012 o082 =0e257  =0.248 0,388
6e50 w0k45 0,838 0,897 w0,597 wly667 =0e550 =0,306 =0,%1¢ 0,094
6480 504 0,527 0,936 0,8A9 1158 0,998 Ged90 Qu?l4 o421
4a.70 0.33% 0e257 LT H Dy176 w0,047 «0,328 «04R07 «0,777 ~=1,13§
é,80 *1,29%  w1,392 1,708 a1,685 1,87 =1.BB4  +1,8BL «14755 =1,743 =1,52%
6,90 =5.3649 w1334 «1,%47 w1187 =1,20% P A06 =1, 430 =1,TPR  =1,787 =1,077
7.0l 2,09 @206 =2,074 +2,223 =2.387 2,542 2,588 w2,9%3 2,837 =f,142
Tard =5.288 =1,299 =3,533 3,537 =3,427 3,568 =3,568 3,893 5,335 =3 07
7e20 2,781 w2.74% 2,200 «2,158 =1,R2S =Ta275  =1,287 =0y5%E  ~0,4%6 =217
7430 Og227 0,214 8,608 0,782 0736 1,488 1,451 2,054 2,174 2,387
?enl Fa554 2.527 2,559 2,504 24457 24305 2,817 2711 2108 2,038
_Tas0 e e = L TTA V,Bg2 1,520 1,627 1.368 . 1,088 Ta312 . Qa%BL. 1.0480 | 1,085
7ot 1,047 1,135 1,322 1,392 1e651 1427 1,416 Vb2t 1ol 1,392
Ty70 1,521 1,509 1.603 1,681 1,485 1,802 1,802 14918 2.00% 2.024
7450 2,223 2.211 2,375 Feko2 24527 2.597 24574 2ybt5 2,258 2,211
7,90 1,837 1,837 1,580 {ok% 1,439 1,562 1,439 14603 1,837 1,860
_Beg0 2,%0% 2,363 2,728 o843  F. B4 0 24859 2,820 24738 E L N -7 4]
8,10 2.821 202 2,621 7.339 2581 24504 2+500 4504 2,539 2,527
8e20 24633 2,621 Z2.621 2,621 2621 2a492 2. 5R7 24235 2a048% 2,083
8,40 1,989 2,012 2,024 Z.04R Z.039 2,083 2.071 24048 1.989 2,00t
840 2,059 2+048 2,048 2,083 2,083 IESLL 2,176 24188 2 307 2,317
8440 2obty 2,551 2,609 2,750 2.750 2,867 2,902 2,937 3,141 3.089
_Bagl J.28F 3,663 3.86% 3,779 3,767 2 4072
8,70 3,978 31,884 1,861 T.687 34639 3eh28 3.323 3N 3,229 3.229
8.80 N TR EA 1012 .12 .M 3,19 3,299 Jabk?5 . 34087 1,754 3.787
890 3,878 3,978 3,990 4,tse 4at?? 4271 4a528 4540 4,797 4,809
9400 4,902 LORLL 4,984 5,090 5.078 5,101 52180 S¢160 5,218 5,250
9410 S.26% 5,300 %,300 5,300 5,253 L} &, 98¢,
9420 La¥37 4. BP9 4,879 4,715,692 GaBeT  4o543  LeS56F 4,399 4,574
el 4.30) haZ35 4,259 4189 44200 ha2v2 4a2%9 o259 bat X4 6,498
Peil ha528 4a 540 4,528 [FLEN 6,352 o282 4e02% Le037 3.709 3,498
980 3a%D5 34067 3047 2,913 2,794 2750 0 2422 24434 2,188 1,106
Febl L0906 2,012 2,024 1,577 1,942 TeP42 1,807 1,907 1.%07 1,437
9.0 J.825 1,747 1.FP8 763 32 1ath).  _l.bel.. 1,488
F.80 1,885 1,685 1,688 1,685 1.75% 1.767 1,8%5 1,219 2,001 2,024
.50 e 2aB2 0 24129 2,128 2,165 2al61 2ot 24200 24223 2.258 2,387

TOTAL COUNT DF Data 5000

ALTIVITY OBSERVATORY(JII)

CURATIGN 30,00 {SEC)




DAt 1980=DE=2%
COMPONENT Na§
MiTIEN

10,00
10,490
10.20
10,38
10448
10,50
10.a0
0,70
10,80
10,90

1,40
11,40
Ttep0
1.zl
11,40
.50
1,40
1M.20
11450
.90

12,00
12,10
12,20
12,30
12440
12,50
12,40
12470
12,40
12450

13,00
13,10
13,290
15.30
AR TTA
15.40
1540
Tie70
15,40
13,90

ta.00
14,10
The2
144350
LYY
Thatl
Toanl
Taa?0
14,00
14.90

EBREERR e ¢ —HRER BH445

STATT

SAMPLLIYG INTERVAL 0.0

2,587
2,434
1,825
LM 772
1.008
1357
6,597
LT
=1,2R7

a1,?2n

=1,84%
2,445
ol RbA
=3.87%
why5is
b, 2%
=3, 721
=2.492
=1,720
0,334

0,480
n,057
-0,087
0,310
0,317
0,087
f,057
0,082
O.0%%
0,129

0,339
0,590
Qe?22
05158
0,254
rL oK
=0, 140
-f‘_&i«'\
=0.81%
1,170

=t 2R7
-t,27%
=ta310
aty 147
=N, 17?2
=N,%87
-0,351
0,514
LN Tal
=0,455%

ok NAKALZU CRUSTAL AETIVITY OBSERVATORY(J12Z)

2,518
2,328
1,681

_BaTa1

1,123
1,275
G0
-0,597
1,369
1,743

1,907
2,480
2,902
-3,896
=t g540
nk 2355
=3,721
a2, 492
-1.728
0,948

0,480
0,35%
-0,082
«0,316
0,339
=0,070
f.059
F.905
1,023
Dal60

fgd7h
Oelad
falit
b.408
0,851
fa3%6
~0,26%
0,578
~0.BFT
ot 26k

=1,25¢
-1,22R
1,287
1,088
«0,707
=-,53%8
#0,339
=3,351
.0, h48
-l 855

(SEL)

TOTAL COUNY Of DATA 3008

YELOCTTY (K [KE}

2,527
2,293
tat1s
&.761
1,205

-1,404
Y for

~2,8%9
-2,492
=3,12¢
-4, 135C
=4, 575
=4 130
“§,475
=2,293
1,480
0,514

=0,1%1

0,117
0,817
-0, 33k
0,304
-0, 021

8,05%

0,31
=0,287
-0,.57%
0,877
=1,252

-1,25¢
-1,22¢
-1, 2R¢
-3 076
=0, 714
-0,52¢
-0, 32F
-0,31¢
0,48t
-0, 718

Zy3he
2,223
1Te54k
0.777
1a240
1,170
T+ 324
-, B31
-1,397
1,702

- 047
-7 kg?
3,100
=L, 118
g 57%
=%, 1E0
3,451
=2, 2R
YY)
wp, 2?27

0,267
n,152
0,152
0,381
0,789
0,047
AL
L t57
[SPLs
f.187

rekid
Gad0
0,257
X T
R4
f.711
an, 816
R
PLLTA
-1,2%7

1,158
1,227
-1,27%
-t 017
-, 714
“hy5th
-0.316
NPT
0,421
-0, 737

2.479
2,406
Vo299
G772
IR
0.9
0,157
=1,018
=1, k2
1,708

7,148
=2.546
5,229
294
T
i 083
=3,274
2,255
=1,381
=0,851

=0.244
By1ta
=0uthi
“N.874
af 257
nyna?
f1.000
A, 1582
0,030
Neis2

Getlt
nte3%9
he2%7
Ne714
ne72%
Gete?
0,328
0,832
-01,9%6
-1.299

=1.193
=1, 264
-1.247
=0,.%4%
0858
=1,491
“n.2R1
=0a 281
-0, 550
0,702

— 46.__

2.67%
2,106
1.322

0,772,

1546
0,971%
Qs17&
=1,041
1,474
«1,708

-2,22%
2,609
=3,334
=4, 579
=& SR
=4,025
-3, 042
=2.08%
=1,2%2
~0, 7410

3,129
F.10%
-0,19%
=0, 363
~0,15%
0.12%
0,033
0.152
0.0%%
f.2%4

0,421
0. 26%
PR AN
Qe772
Ta655
2.1
~0,361
0,412
=0.914
=1.510

1,193
1,275
-1,275
~G,871
«04455
0,481
-0, 281
-0, 2F1
0,538
“0. 714

2e621
24012
1.088

Q0786

1,349
0.819
0.023
-1,170
-1,50%
=1,68%

-2,281
~24856
s5,.381
+ho B4t
=~44594
4,013
=3,030
=209
=te284
=0.t72

=0, 140
g, 117
-0.199
=0,343
0,199
De117
0,835
9.12%
0.012
0,236

a4
Qa2t6
0,339
D818
0,808
0,05%
~0, 374
0,679
~R.F94
=1, 287

=t 194
-1,32¢
1,182
0,864
~04557
-0,458
=Ded14
0,318
R LE
~0.112

1981%1A

BURATICON 30,00 {5EC)

7,609
2,001
1,030
02831
10392
0:745
“0y 140
=1, 705
1,551
=1y743

w2y 375
=2,749
=5,580
Ores:
dy45h
-3,741
-2,77%
1,989
wty123
.49

Gy 035
G082
0,187
=0.35%
=04184
0,084
0,050
0,094
+0.023
0,257

D,421
0,227
0,139
M. R19
0,897
Q059
=Ny363
w650
aly 3oL
=1.287

1,191
1510
=1,%9%
BT
~0,808
w4413
-Ga316
~0,%49
RNt
0,772

Z.582
1.,9¢7
Dy
U.85%
T.392
G,7387
0,152
=1,1932
=t.403
=1, 752

2,315
2. 749
=1,5%80
=4 4p?
"G 43R
-3.896
-2, 71K
1947
=1,100
=0.643

=0,02%
0,023
0,234
=0,%83
=0.152
0,0k
0,417
0,035
0,038
0518

04621
G, 187
0. 46"
G854
[T
=0.035
~N,4sR
“0.714
1009
=1.322

=1.193
1,247
~t.170
0,531
0,597
=0, 348
=0.3151
=0,174
0655
~0,7¢2

2.4%%
1,825
8,769
1.008
1,589
0,409
=0.488
1,264
-1.73%2
=1,A02

=2,434
2,794
=1.77%
4,481
=4,42%
=%, 10t
=2,597
=1.842
=1,232
0,597

0,000
0,023
-0.244
=2,384
=0,16%

0,094

n.117?

0,035

0,035

0,104

0,u21
n,197
D454
8,854
B, 487
-0.05%
0,445
0,747
1,11
=1,2%7

=1,20%
=1,341
=114
0,744
=0,597
~0.35%
0,114
=0,u33
~0,455
=C. 584



DB & X BRI X 2B O FRRR —AT

NATE 1980=06+29 STAfON NAKALZY CRUSTAL A¢THylTY CRSERVAIORY(JIZIY

COMPONENT Ne§ SANPLIMG TNTERVAL 0.0% (sFC) Tor&lL COUNT DF Data 5000 DURATION 30,00 (SECY
TCSel) WELOEITY thvINE)

15400 «0,A54 w0,88% =D Bde =0,F8k =0 R19 0,851 0,796 =0,740 =D,737 =0, 470
15,10 =062 w0, 820 «0,53F «0,515  =0,3%1 =0, 351 eN,248 0,187 =0,175 =0_07H
15420 ~0,088 0,035 0,105 o105 0,734 8,254  0,2R1  D,32R 0,328 0,4%3%
1510 Ted3l Np456 0,480 LI Ua515 3.515 3,550 0,515 0,518 0,482
1500 Neb Ak D448 0,621 [T PR L Q4456 0,456 0,503 C.S0d 0,487
15,50 0491 Ny503 0,433 rLa3% 0,398 0,574 B.574 0,358 Q,3%R N,¥93
15,40 0,431 0,491 0,535 1,580 0.40K 0,620 0.LE55  B.707 0.707 D714
15.70 04725 0?37 0,771¢ [ A OyeRS$1 G.8454 D.8TK G, R7R 0uREY 0,%13%
15.80 .94k 0,571 1.006 {995 1,065 1,088 1,500 1117 1,13 1,173
15,40 1yt93 14193 1,193 t,ipt V4264 1,287 1,275 14310 1,799 1.217
16,00 s-1s 1170 1.10¢ ta1an 1,018 Q.583 0,971 O,901 0,513 0,953
14450 DJRED 0, BTR 0,819 C,K19  n,T9e 0,74% 0,737  Nah&?  D,667 0,455
14,20 D,4QF 6,597 b.s2/ f,51% 445 0,456 0,454 0,328 D.5¢R 0,781
14430 D.2%4 a.i22 L N IR FA Catt? 0,117 Gutt? 0,059 0.047 6,038
Th440 n,000 0,017 =0,.02% w0015 «0,047 20,058 0,058 ~0,04? =0,0%R ~0,082
14,450 0,058  w0,058 «0,117 «0,105 «0,117 =0, 175 a0, 16k =D,185 =0,1%9 =0,193
16,40 =0,257 0,246 =0,24f a0, 539 =f,4%6 ~0.65% =0.43%  =04519 =0,535% =0,5%%
14,70 =R, h0% 20,507 =0_.397 ep,597 0,608 0,597 =0,507 20,587 ~D,hzh =d,83Z
14,80 =0y 555  =0,655 0,87 af, 843 =n,812 "0,820 -0,632 =04837 =0,543 =0,843
16,50 a0 820 w8,520 «0,%97 0,587 0,597 "0,632 «0.620 =0,597 =0,597 «0,5§7
17,00 0,597 w0,9%7 =0,5%7 <0 A0 0,632 =0,65% 04643 =0,5%7 =0,679 =U,87%
12,10 0,680 w0800 =0,7%% 0,490 w0,8650 =0,850 «=D,629 =0,65% =0,547 =0,5%7
12.20 =0.533 #0,%03 =0,645¢ 0,339 -0,3%1 =0,266 =0,234 =0,19% =0,105 =0,117
17430 =0,082 #0,870 =0,058 5,023 =0,023 G,070 0,082 0,082 G.157 0,157
12440 0,258 04257 o,281 [-E % 04281 0,374 04354 0.33% 0,453 0,621
17,50 . Qa454 04645  0.45¢ 0315 0s515% 0:538 Qe3R8 De538 0,523 0,542
17,40 0,588 0,597 0,82C 0,597 0,608 04655  D.58S  0.57% 0,538 0,559
17,70 0,53# 0.582 0,582 0,588 0,542 2,550 D.515 0,515 0,410 f 4zt
17,80 Deb21 0,398 0,39¢ 0,328,328 Q28 0,257 0257 0,257 0,257
17,90 0,284 De222 0,222 0,722 nezM? 0176  0.18B7  M.476 0,105 0,105
18p00 0,094 04082 0,096 0,023 . 0,047 L e 03% 0,035 Q035 C.035 0,012
18,18 =0,02% =0,117 =0,105 -p 117 0,129 #0140 «0,234 ~0,234 =0,2%7 «0,292
8,20 «0,337 0,398 0,386 =n,L53 =0,62) =Pedf1 0,528 =04515 =0,515% -0,4%1
18,30 0,691 =0, 4B w0, 480 wD,u56 0,433 =0, k2Y  =0.363 #0,383 =0,281 =0,249
15,40 =0,257 =0y166 «0,16% a0, 140 w0140 0,140 «0,082 =0,082 «0,058% =0,079
8,450 =0,082 0,082 =0,087 =n,082 =g,10% 0,117 «0,140 =04140 =0.148 =0,117
3840 _=0,117 _w0.082 =0.09% wC,140 .w@,152 200140 =0, 140 . =0g129. =-0.145 =0,10%
8,70 04117 0,117 0,105 =0,082 w0023 *0,0F3 =,058 =0,0%% 0,012 0,035
18,80 Ge2s 0,108 0,117 t.159 04257 0,257 0,816 G218 0314 0,384
18,90 G, 388 D491 0,499 0,536 04,620 0,620 0,655  Oe667 0,879 0,714
19,50 0,702  0.F37 0,737 0,737 Q.172 8,261 0.831 DyBsd  0.913 0,389
19,00 . CuBBY  .0,P48  0,95%  0,959_ 0,959 0,971 04959 0,571
19420 0971 6,913 0,911 n,%13 04854 QBS54 8798 LR
19,10 04813 0,796 0, 74Y 0,749 (.679 0.679 04,655 DL.490
19,40 Ne679 0,032 D 585 0,578 0,49 9.50% kel 0,374
19,5¢ 0,383 0,316 0,316 o, 314 0,316 0,316 0,293 0,281
19,80 0,267 04257 0,222 0,227 0,340 0,140 0,084 0,059
19278, .. 04023 e02023 _=Q.023 _=0.023 =0,117 eDe 17 m0et40 . =049 =0.%89  =0,2%2
19,80 =0,304 0,304 =0,421 ag,42% w0.491 =0,503 =0,515 =0,573 =0,%6% =0.45%
19490 «0.650 0,714 0,79 w0,7% =0,7%% =0,760 =0,796 «0,772 «0.780 =0,702



BATE 1580=04=2%

COMPONERT Ha=%
T(SEC}

20,00
20410
20,20
70410
20440
20450
20.m0
20,70
20,80
29,50

2%,00
21,10
24,20
24,10
29,40
21,50
21.a0
21.70
21,80
.90

22440
22410
2220
7230
22440
22,50
22440
22,70
22,40
22450

23,00
23,10
23,20
25,30
23440
28450
23440
25,70
25450
8,50

24000
24410
24?0
P30
heql
26450
Phaal
264070
24480
24,50

B REEREe Yy —HEER $445

STATIONK

SAMPLING INTERVAL 0,01

-0, 768
=0, 784
=t 819
=0,725
*G, 538
-0,108
=0,884
ELIYE]
-0, 598

=0,383

-l 421
=0,240
-0, 504
-, 070
-OFA‘?
f,082
G.025%
n,08%
0,227
De314
4842
N,737
6,769
Nehl7
Ba50%
9094
=-0,082
-0,199
-N,51%
=0,784

0,757
-0 432
-ﬂ‘k?ﬂ
-0, 781
0,08,
n,22?

0,291

Dya1n
0,884
d,410

fab4s
N.374
B384
D214
0.152
BL211
fa187
0,117
-n,117
=034

w0760
04750
04831

I PAALY

T
0,398
=0. 398
e hks
~0.398
=0,343

=0, k(9
=N, 269
=0,318
0,094

Lm0,047

G.094
040835
8,053
Te199
G.328

BuTve
0,772
0,658
0,445
1,059
~0,082
0,144
=0,608
831

C=baf72

3,632
«0.339
0,222
fa152
0,187
0,539
0,42t
0,386
0.398

Net5d
0,374
008
n,234
But40
0,222
0,178
8,117
-0.10%
RS- L)

TRy

i8E0)

TOTaL COUNT OF pate 300D

TREVOCITY (R INE)

w0, 79
-0,8%1
0,854

=0,7ik

a0, 455
=0,433
0,319k
0,445
-0,33¢
-0, 395

.3,30¢
-0,727
-9,31¢
~0,10%
-0,02%
0,082
0,055
0,0%%
0,187
8,339

0,569
0,774
0,760
0,644
0,448
0,047

-0, 087

0,175

a8, 400

-0,81%

~0,737
-G, 837
-, 52K
=0,147
0,187
v.22¢
0,363
0,39k
0,421
o, 89¥

0,480
6,374
0.3%&
0,187
o128
0, 17¢
n.19%
0,087

-0,117

0,383

0,796
=0,819
Gy BS54k
=i, 480
=040
al,k2%
-0,33é
0,456
-, 343

RISLT AN

-0,421
-0,227
-0, 257
0, Tl
th, 035
n,117
000
f,070
n,2s?
Na.3%6

0,447
W 749
0,702
¢,58%
0,586
#0090
a7
an,1g¢
0,655
“n.?94

=D 714

=C,632
-0,316
=0,175
0L 187
.222
[ 3 21
[T
Nyk2t
pLh1N

fL4RD
n,374
6,308
c.1e9
Celhu
0,18t
D IRT
LL,0Rg
-0, 140
=0 ,345

=0.737
~0,831
0,819

=0e832

0. 491
=433
=0.361
=N, i5é
=0,341

~04471

0,421
04234
=0.257
=0, 140
0,023
ne117
Qa012
g.nlo
Ny2bb
n.374

04655
1772
Be74
0.58%
ny324
n,012
“0, 179
0,246
=D.4TY
“-Ne7%6

0,479
=0,573
=N.30%
=n.t05
T.187
De199
0.3728
0374
Nab?d
Oaie??

YAl
S 574
0,363
0.187
ne140
Dt B9
N 18T
0094
0. 40
=ny3t4

— 48—

=0, 749
=0.,819
0,798
0,397
LT
=Qab5é
0,374
=3, 398
=0, 343
=7.398

«p,3e3
«0.257
=0. 164
=0,140
0.070
0.0R2
O 070
0.152
0e246
0,421

D855
-T2 R4
Q714
C.542
O, 2R1
¢,012
=3.140
~3.257
=T AT
~G.796

~0.,679
~0.57%
=0,%04
0,105
a,187
1.18%
0,351
3.384
Beupt
0,410

R.421
Qe35t
C.22%
0.152
Ca174
0,152
G152
0.059
0 284
~34598

NAKALZLN CRUSTAL AETIWITY DRSERVATORY(J12)

=0, 760
0,831
=G.BO07

L=0. 608

04456
~0.458
=D.383
0,398
~0, 363
~0.40%

-0,36%
0,281
-Ta164
=0,129
D.082
0,070
0,023
Da12%
Gy304
Qeh®1

0,855
G,737
Geb79
U,538
0272
0,047
=010
~0.318
-0,737
0. E31

=3,690
=0, 668
0,314
-0y 047
O.222
D234

B4598,

G398
Ted}3
fi. 598

0,421
0.%39
0.314
Qutbe
G768
Getod
Cals2
¢u05%
=le248
=0, 384

1981418

-0,772
=0,B19
8,737

=0g597

0,421
0.4 21
04600
“0,421
=0,3¢%
-61454

=039
~3,419
«3:175
=0e10%
8,117
0,070
Dy0Q0
0,117
D,y304
04503

Deh%5
0,737
Cyn?e
0,538
C,222
G,02%
=0t
0,128
0,743
0,818

“0,690
=0, 48R
-Gy 281
T. 017
0,222
0,257
Ny388
D.%94
0,13%
Teb 3y

8,421
0,339
Ha314
ty117
N.211
Be211
0.%06
=0 0138
=0.722
=hed s

=0.777
-0.81¢%
=0.74%
~0.58%
=D 433
=0.421
=0.40%
0,481
=0,%43
0,454

«0. 202
=0,318
=0,140
=0.117
0,117
0,117
0,070
0,152
0,281
0,538

0,655
0. 784
0,45%
0,502
Dat52
-0.0e3
=0,175
~0,39R
=0, 794
0,819

0,679
=0, h56
=0,257
0,045
0,222
Da2iub
0.398
0,598
0.33%
8,62t

0,
D4
0.
D.129
0,187
0,ta?
N.12%
=0,035

“0 266
=0, huK

PURATION 30,0¢ (SEC)

N.421

0,351
9,339
0,504
a,152
0,187
0,174
0,157
0,047
“0.244
=0.4%1



TRE R & BE T & SRR O ERBEN — KT

NATE 1580=064=20 STATION NAKAT2U ERUSTAL 2CTTIVITY UBSERVATORY(J(Z)

COMPONENT Nw§ SAVPLING LNTERVAL Q.01 {$ECH TATAL COUNT OF 0ATA 3000 DURSTION 30,00 (SEC)
TCSEL) VELOCITY (wME}

2%.00 wl,524 w0,515 0,800 «0,5R% =03,967 20536 =0.5%50 «0,608 =0,%8% <~0,57%
25,10 ~0,417 0,832 -0,53%7 0,597 =0,397 =0y652 =0,620 =0,420 =0,%¢7 «0,597
2520 B, A87  m0,063 «0,48F ac,65% ep,65% =0, 400  «0,67%  =0,443 =0,632 0,432
2530 0,547 w~0,562 =0,8¥8 -0,51% =0,51% =0,421  =0,445 =0,480 =0,44% =0,454%
25440 0645 af kb5 =0.433 e0,L09  =0,3P8 0,306 r0.306 =0 314 =0,246 =0,287
75,50 “0,757 w0.266 «0,236 =0,140 =0,1%2 mOa2%6  =0,175 «0.140 =0,140 =0,14)
25460 el 14 af 129 =0,117 =0 ,0RP  «(,08F 0,047 ~0.03% =N,08% 0,085 0,035
?5.70 DLATY 0,085 n,023 0,089 0,089 G117 0,117 0129 0,tE7 0,174
25,80 AL 19% N, P36 0,245 0,231 Ny 2Rt 0, 2¥1 0,281 D.281% .23 0,285
25,90 0,351 N.31¢ 0,5%¢ Ly 8Nk 0,318 04374 0.328 PESS K] T3l 0,363
Z6a(l oy 151 n, 318 0,31¢ (1,304 0,5%6 0. 304 Q.18 Ol.ite Cu30% 0,795
26,10 0,257 0,199 9.211 c,19% Oy 16k Q.0F2 T.117 0,117 fa047 G, 247
2ha20 0,035 =0,070 =000 «(, 012 =0,03%8 “0,1197  =0.140 «0,1480 =~0,211 =0,t87
26450 0,190 =0,292 =0,281 a0 386 =0,374% =0, 585 =0 456 =0,p445 =0,421 =0, 456
2ha40 w069 =B, 421 =0 427 =0 4854 «(3,456 “0,4656 =0,656 ~0,456 =0,480 =0,49%
26,50 =0,51% =0,515 =0,515 ar, 5%k =0,520 «0.319  =D.873 =G,573 ~0,%42 =0,%7%
26480 =0,577 «0,808 =0, 40F =0, A%37 =0.65%% 0,853 =0,620 =0,6352 =-0,597 =-0,620
26,70 w0837 =0,632 0,820 =0 571 =0.53RS ~0,585 =0,575 «0,547 =0,.53F =0,534
28,80 a0, 8TR &0,503 =0,52¢ 0,515 =0,421 0,408 =0.%63 =0,%%1 ~-0,281 -98,21%
26,50 =019 b, 164 =0,%40 =0,175 =3,140 =0,140 =0,160 =0.140 =0,1¢9 =3_140
27.00 “C 160 w0,105 =0,105 =C,087 =0,0k7 =0.0%8 =0,02% =0,025 0.012 =0,047
27,10 0,047 =0,02% a0 U8R =0,023 “0,025 =0.023 ~0y012 =0.02% 2.024%
27420 n,a2y T, 105 .17 0.28%% 0,222 0,187  0.7354 b.zat 0,314
27,10 N304 ¢.51e n,31e Qa5 4 0,576 G374 C. 388 0,398 C.374
27,40 AT 0,398 0 ,39R 04491 0,4B0 0,656  0,4BO 0. 451 9,51%
27,50 04503 4.680 C0L4R0 Qak80 9.4R0 CakBO Y1 T2 G489
27,40 0,451 D491 CLEAD 0,538 3,550 0,597 Q4573 0,587 0,597
27,70 n,58? 0,550 1,538 Ta538 0,538 G.%38 Qe 53R 0,558 7,553
27,80 B354 0,538,538 0.558 0,538 0,538 04562 0,567 n.50%
27,50 ny5%a 0,515 n.51% 045159 #.503 Q04515 0,538 0,538 Ta412
28,00 o LN L G,A%T . P B0 0,445 0pb56 0,445 _ Dg595 0,505 0,480
28410 Ny&aRN 0,480 fiykgl DebRO 0,4¢¢t 04515 O4t21 0.63% 0,638
28,70 Na3G% 0,380 n,158 0,378 0.398 0.364 Gpl2n 04339 0.33%
28,30 0,32% 8,314 na3ng 1,281 0. 781 g.281 By248 4,257 0.26%
7B.40 n, 757 49,222 n,e2e LPEAR t.z2e2 0.222 Ge257 0,257 a.2at
28,50 0,294 G,281 0,269 04257 04281 B,28% 0,281 0.76% 3,227
8,80 L D99 C.a7¢ 0,176 Ga1%2 Q,10% Qo129 . 0087 0,094 .0%8%
28.70 8,094 4,059 r,05%  g.070 0,094 0,082 0.094 0,054 0,184
28,80 0,082 a.059 0,082 0,09 0,085 0,035 0:0%4 0,05% 0,035
23,90 0,09 g.02% 0,047 04059 N.059 3057 de03% 0.0a? 0,0%7
29.00 =-N.035 0,023 ~0,02% =0,073 0,023 =0,015 0,058 =0,058 =0,747
29,10 . =fl0R2 0,105 -0,117 =012 =0 117 =0 017 =0, 307 =047 =0.105%
29,20 =f,117 =0,140 =182 3,117 =0,1L0 =0.152 =0,175% =0,%64 =0,17%
29480 -0,129 w0 140 =0,140 =0,140 0,105 «=0,12% ~04764 =0.%17 =0,117
29,40 -0,10% 0,140 0,154 =0,164 =0.129 w0175 =04746 =0,2%4 0,734
29450 -N,292 =0,281 «0,376 0,383 =~0,363 *2,139 «0,363 0,398 =0,374 =0,%64
29,40 0,198 w0386 «0,374 =0,343 40,363 0,319 0,363 0,398 0,343 =0,.383
29,70 L o=D,363 =0,363 =0,363 «p,39k 0,398 =0,339 -0,363 0,361 =0,339 0,359
79,30 «0,%38 =0,339 0,339 -n,304 =0,5%6 =0.339 =0,316 0,304 =0,151 =0,%%1
29490 a0, 145 m0,351 «0,351 =0,339  -(,35% =~Q.343 =0,351 04739 =0,304 =0,314



PATE 19AQ=04=29

COMBONENT E=W

EIrsRFRRE Y s —HREH B4 45

STAT(ON

SAMPLING

INTERYAL €,0% (56C)

T(Set) VELOCITY (+1NE)
G af,080 0,011 9,011 0L.028 0,012
010 0,023 =0,000 0,611 0,03% 04023
0,20 0,000 0,000 0,011 B 025 n0.084
0,30 «0,417 m0,117 0,096 «0,004 «0,153
Tat =0,0%9 w0,047 8,059 =0,07% =0,038
LYy «0,0589 0,024 «0,03¢ 0,074 =0,012
0,80 «0,N57 =0,094 =3,047 =0,088 ~0,05%9
G20 =0,129 «fi,141 =0,153 0,14t =0,15%3
0.80 0,09 wh157  =0,14%  efi 14t w0.176
0,90 =0,164 =0,153 #3117 0,117 =0,12%
1,00 0,117 o0,%17 20,125 w0, 117 =0,176
1e1l =0,42F w0457 =0,56¢ =0,53% 0,550
1,20 =0,A%A  w0,679 +0, 819 0,798 e),749
1,30 0,716 oD, 726 0,691 =0,679 =0,527
ey oo=0.314 $351 20,340 -0, 381 =0,445
1.50 w0488 w0457 0, 8621 W0,821 =0,761
1l “0,R0R  ~0,BOR  =0,841 L0, Bgé =g,972
1.70 w1, 065 1,065 «1,03{ 1,007 ~0,8%0
TR0 ~0,457 wN 44 =0,39F 0,39k w0375
1.0 =0,576 w0,576& 0,879 0,679 0,726
T 2400 TUUUTAREOY TR Ry T, 140 T A0, 088 =040
2410 =1, 720 w1,732 #1778 =4, 7T mt,755
2,20 #1640 w1060 =t 67h =t 4R 1,321
2,30 =1,840  «1,826 #1779 =1 ,732 wt1.8%7
2,40 1,759 1,744 =1,857 =1,858 =1,91%
L2e80 o m2, 77 =2y 185 2,212 2,235 w2215
2e60 2,060 =2.071 =2,083 .7,025 2,013
2.70 1,861 +1.B81 1,74 «t,7S%  w1.75%
2,48 1,685 «1.697 =1, 458 ef,660 =1.4%8
2,490 440 e1,628 #1,381 =1, 35K =1,1%E
5400 =1,120 _=1,170 -V 16/ =7,100 1,100
.10 w1 AGF wmisfbh =V B3/ «t, 7?9 1,779
3,470 1,521 #1,4P8 <1479 =t k40 =1,440
1.30 *1,568 =1,643 =1,427 1,709 =1,6497
Yeul =2,0F1 2,005 =2, 0F% «2,0%6 =2,0%¢
Ja50 «2,106 =2,7310 =2,1%8 2,040 «2,0K0
Sanb =i, ke 1,311 1,301 k1,299 =1,29%
.70 w1, 299 =1,416 =1,40C =1,605 =1.6'5
3,80 =2, 221 2,294 =2,2%4 =2,329 =2,32%
.90 =2,217 =2,188 =2,388 =72,148 =2,060
400 et 650 w4,592 1,592 1,521 =1,488
_het0 20,702 w0.3LD =D0,340 0,046 _ 0,070
by 2 0,982 1,275 t.2?h 1,474 450
(YR 1] 1,064 0994 0,996 0,740  0.TAQ
badl 0,561 0eeS6 B,458 0,304 DeZt0
4450 fNatd? 0,081 0,081 0117 0.493
Goall «0,3463 =0,378 0,318/ 0,375 =0,515
6270 «1,0Q07 »1,770 wf,1k7 231,112  =0,99%
LeBD 0,643 0,842 ¢, 772 0,5t 0,140
4e 90 =0,29% Ce245 0,248 0,596 G713

pu— 50.__

Tolal COUNT QF

NAKA[ZY CRUSTAL ACTIwITY ORSERVATORY(J12)

nATA 3COO
G0t 0,000
g.023% =0,000
=0.03s  »3,000
=3 141 =0,457
“J,076 =0.016
0,012 =0,07)
0,059 =h,047
01kt =0,117
0,183 «0,211
a0,129 «0,153
=0 188 =0,199
=0,582 =0,574
0,702 =0,447
=04 kP2 ~0.448
0,457 0,468
=0, 7R4 ~0.80R
1,030 =%,030
=0 T84 ~O.TRL
0,375 =0,17%
=0.738 ~0.749
=1.,498 =1,510
=1,603 =1,415%
=1.674 1,674
=1, 462 =1,482
=1.5%4 «1,986
=2, 177 =2,177
*1,543 =1, 546
=1, 770 =1,720
1,803 1,982
=1,358 =1,321
o =1,100  =1,%24
. 109 +585
=1,416 =1g851
®1, 779 =1,814
*1,5378 =1,%89
*1,978 1,877

198141A

BURATICN 30,00 (SEC)

0,071

0,023
=0yN34
-0,0%4
.0%8
04038
0,094
LR
=02730
w117

-0,758
.0,597
NIT
a0, 300
0,527
w0pRE3
=1,045
“0.879
w0445
0,913

w492
a1, 510
-1,75%
1,407
a2y 025

IRETREE Y

1,755
-1.521
=1,252

UL PR & 3 L 3 - -
=1,407 1,779
=2 381 «2,%87 «2,19% ~=2,294
1,931 =1,849 V4 R26  =t,68S
=1,39% =1,252 =%,252 =0,983
L0 1B 6,508 0,691 _ 9.780
140439 t.240 1240 1,064
0,725 Q.725 Gel2h Qeb0B
0163 0.108 0,198 0,265
Q105 =0,371 =0:07% =0,340
=04550 =0.,808 <0,786 «0,925
“D P0G =0,506 Q0,408 0.140
0.0RY  =0,433% =0,375 =0,%98
0,725 0,807 0,783 G,81%

6,035
-8.000
“8,147
-0,047
-0.038
=0,05%
an, 117
-n.104
-0,164
-n,1t7

~0,387
=C.644
=0,691
=0,281
0,492
0,819
=1,n6%
=0,%50
=0,492
=1.085

=1,453
1,498
=1.824
=1,720
=2.080
=2.0%9%
1,954
=1,75%
=1,441
1,159

LAY 1)

~1,.5%2
-1,521
=2,001
=2,034
=1,540

_=1,217

=2,034
=2.282



MERE S & U EE I X 2EENBORRRN —XKT

PATe 1980=06+~29 STAPTON  NAKRTZYU TRUSTAL ACTIVITY OBSERVATORYL }2)

COMPONENT gai SAMPLING INTERVAL 0,91 (SEC) TCTAL COUNT QF DATA 1000 CURMTION 30,00 ¢(SEC)
T{sEL) VELOCITY (KI1ME)

5.00 0,959 1,088 1,076 1,158 1,088 1,088 5,594 0,516 0,140 =0,258
5410 =0,270 wf,962 0,527 0,557 =0,550 0,550 0,444 0,724 =0,801 1,208
5.20 w1, 184 1,404 =1,287  «1,124 +0,748 F0, 773 =0,L68 0,480 «0,43% =0.419
5430 Com0,410  =0,316 =D, 316 w0,3%6  =0,375 0,375 «0,05% 04105 0,327 . 0.924
S.40 0,900 1,860 2,246 2,647 1,591 30510 Ge317 ApheP 4,656 4,778
5450 by TER 317 3,907 5,59 IR LE] 24527 L) Y4008 Qubné  =0,183%
Sa60 20,108 =0,597 0,621 «0,E56 =(.445 =0.457 =0,000 0,245 0,386  0,k54
5.0 PLLY 14474 1,807 2,147 2,948 2,878 3,428 B,450 3, 7hb 0 4,238
5,80 H.22% 44586 L, 785 4 R85 4,972 44937 44808 heddd G809 4,153
590 _al Y55 3,802 3,545 3,45F% 2, 8R9 L2GBTR L 2,65 L 2eM12 1,885 1,709
4,90 14744 1748 V,80/ 1,930 2,129 24117 2,187 2211 2,223 2,445
4410 2.562 2,889 3,287 .80 a6 59 3038 J.274 24795 2.995 2,974
A28 Zeb9? 2,223 1,895 1,895 1,719 1,778 1,825 gel29 2,117 Z,808
4,30 2,971 1.29% 3,849 3,829 talt5 Le??3 44329 4ed4n 4,329 he23%
LT S Co e d67 ke 247 & 247 4a?35 4295 L haQ0Y L _3.BB4 Jo565 . 3.5eR 5,217
4,50 1,045 2o854  2,55¢ P57 24184 2,000 1,838 1485 4,509 1.119
8440 1,294 1.287 1,323 1,134 0,947 0,854 Q.72 Qe QR 0ub20 0. hS4
8,70 0,491 ne50% 0,573 0,540 04585 Q.663  Dy868 0,772  0.TP2 G.982
1.1} 1.099 1.158 1,268 1240 1.278 1,310 1.822 14521 1,546 t.Re5
4480 2e23% 2304 2,691 2ut55 24761 Za b4 2,437 2,383 2,340 2,094
7.00 Y. 815 1,790 1,388 1.287  0.8K% 0,5T4  0,30% 0,210 0,722 0,149
718 G 178 b.128 2,10% 0,163 Bal04 0,420 0ub20 Te134 1.251 1.664
P20 2,248 et I-1.7 2,543 24960 2,913 2,901 2,114 2,845 2,589
Tt 2,082 2,096 1,755 1,719 1,602 1.497 1509 19476 1,650 1.427
Tau 1,251 1251 ¢.90C 0,728 B.524 0,0%1 0,128 «0,270 =0,375 =0,504
Fo80 . oo 055 204843 =1, 311 e1,475  =1,627 ~TuB98 =084 m1eBR6. ~1.085. ~1.592
et «1,206 =1.241 =0,831 =0,69% w0.597 =U k&0 =0,504 =0y87¢ =0,87% <0,714
770 =0, TRG w784 =0, B&O #0936 w0972 *1,042 9,042 «t,1385 1,229 =1,.252
LY 1 miyk63 =1.651 =1,521 1,510 =1,4%8 =404 =1,406 =1,381 1,287 1,274
Te90 =1.13% #1,089 =0,843 +0,%74 =0.550 =0.059 »0,024 GyYez2 6,890 t.73
5,00 10029 1,064 1,310 4,682 Tab 82 309 1,482 e %48 1.46 Tatas
8,10 0,877 0.819 0,643 Do 346 C.409 04140 Go0B1 =0,4059% =0,1746 =0,%44
4,20 0,244 w0,240 0,256 =0,314 =0,316 =0,375% =0.36%F =0,%0 =0,1866 =0,97%
8,10 0,105 f.222 0,186 0,631 B.hOB 0a655 CGed55 0,643 Cubil 0,443
.00 0,58% o561 G.538 7,351 da182 G.210 2,198 Oy 198 0,105 0,145
5450 06,02% w0,012 0,084 «0,059 =-0,05% =0,036 0,036 ~0,034 0,011 =0,800
Baeld 0058 0,08 0,163 0.31% 0315 R PRS2 0.408 __ Qo648 _0.71X . 0,890
8,70 0,883 0,514 0,479 Del22 J.198 #0,071 =0,199 0,223 «0,547 =0,542
5,80 =0,818  af,995 =1,018 <1,135 =1,174 =t fh? =9,053 «9,042 =1,030 =1,030
5,90 =1.007 21,0583 =3,06% ~1,007 =3,995 “0,9%8 =0,749 «=0,761 =0,550 =0,480
?200 =0,258 ~0,059 0,00 t.198 G223 0.33% G.5%8 0526 Q.702 0,748
CWaq0 L 0,856 037 0,959 5.08R 1,074 1,076 1,053 1,05% 1,041 . 1.004
9,20 TaF4T 0,783 0,795 0,631 Ge5RS 054 Bedit 0,421 [ 1-1)

Fa80 o397 Q.456 0,456 0,514 0.53%8 0571 04690 0,678 0,830

Pkl G.B7F  0.877 0,B7T 0,912 0.924 0,934 1,006 0,994 1017

7450 tL097 1,017 t,pdé 0,%00 0.E19 0,79% 0,503 0,514 0,292

LIy 0,175  0,08Y 0,070 -0,08¢ =0,012 0,008 0,117  O0¢t40 0,318
_Se20_ PakSh 0,702 0,690 Q.795 - 0aB00 0.2 0,000 __0.877

980 B.R19 04598 0,561 0. %27 0,152 D047 =0,047F «=0,0%4

9490 “0.72% 0,398 0,422 -0,515 =0,726 =0, 754 «0,.5%} =0,90% =0,%1%




Eus kM EHRe vy - HRAER F445 18815F1A

DATE 1980=04w20 STATION  NAKATZY CRUSTAL A¢TIVITY DBSERVATORY(J2)

COMPDNERT Ewi SAMPLING INTERVAL 8,01 (SEC) TOTAL COUNT OF NATA 3000 CURATION 30,30 (SEQ)
TISRL) VELOCITY C(KINE)

13,00 0,925 w0.P00 =0,94b =D, F4R  w0.92§ =0.925 0,R7B «0,A78 =0,855 =0,8%0
10,10 0,890 0,831 «0,531 0,831 =0,773 *0, 784 =0,784k =0,79¢ =0,808 ~0,9%01
10,20 w890 w0,555 =0, 863 0,831 =0,84% 0,831 0,831 =0,831 =0,B11 +0,901
tog30 ... . =0,901  «0,94E  ep,972 =%,030  _ e1,062 =1,326 =)e158 1,170  <T.217
10,60 =1,299  =1,393 e1,440  «1,627 1,615 1,732 =1,767 w1,779 =+%,849
19,50 -1, BY7 =1, BY? =1,B37 av1 824 =1,508 1,308 =1,989 <2,071 ~7.005 =2.294
10,80 «2.270 me340 2,352 a2,357 2,329 w2 317 =R, P4T =24 YRR m2,1gR  «2,177
10,70 =2, 18R =2,188 2 270 a2,270 =2,177 ~2,1RB =2,188 -2,Y10 -7,130 =2,%640
10,80 =?,083 =2,095 =2, 0kb =2,04F «1.943 1,931 =1,877 =1,872 =1,R72 =1,96%
10,00 L whaP4s  =1,98F  +Z2,04K  ~2,048  =2,048 =2e0UB  =Z,058 =2 03p.. =2.04F =2,001
1,00 a2, 036 =2,071 =2,048 7,016 =t,943 =1,919%  =1,872 =1,B14 «=1.814 =1,485
19010 1,862 w1,0638 =1,405 1,615 at,b15 SV 627 =1,638 =1,415 1,603 «1,45?
13,20 =1,358 =1,3%1 a1,112 1,112 =0,878 *0,756 =0.74% 0,527 =0,535% =0,323
tY.n0 =0,188 ap,1g4 =0,017 0,024 0,117 0.257 04292 PR 0,479 0,480
$1080 . . 0,830 0,865 1,064 1,088 1,310 L1e858  Mgh62 373 1,755 1,942
XN Y 7,129 2,152 7,38¢ 739K 7,558 2 66T 2,667 24772 2,772 2,819
$4.80 2.4 2.554 2,948 L 24995 T35 Sela? 34242 3,264 31,299
11,76 3,314 1,822 3,3¥3 1,381 31.3R1 $a338 3.334 3,22% 1,159
11,80 T,077 3,077 2,915 2,918 2.878 2,737 2,737 2.527 2,457
t1.90 2.38% 2+375 2,118 24141 2,082 1.930 1.947 1.7k 1,743
12,00 0 7 T U TELETRTTTOEEE T4 1,50k 1,532 1,487 1,509 1,9312° 1,532
12,10 1,591 14602 1,681 1684 1,708 Y838 Ta225 te?18- 1,942
12,20 1,965 t.Pe5 1,089 7,024 72047 2,082 2.070 2,0%2 2,000
t2.%0 1,80 1,930 1,835 1,7¢p 1,778 1,708 1,696 Y508 1,485
12,u0 oy 1,345 4 258% 1,154 1,11 P4t 0,934 0,690 0,694
V2080 Lo . . Ma56% 0561 0,528 0.5tk 0,503 0?9 GabS6 0,421 0,357 0,597
12.60 6,063 .69  0,22¢ t,070 0,078 0,071 «8,087 =017 0,153 =0,141
12.70 =N, 246 =0,2486 «0,270 =c,270 =p0,258 =0, 281 «(,305 =0y314 =G,L10 -0,394
12,80 Al 510 w0,562 0, 44l =0,601 =0.691 =0, 7RG =0,B31 «0,890 0,025 =0,925
12,50 =f 901 =0,B85% =0, BOF af BNE  w0,808 =0, 776 =0,714 0,491 =0,652 =0,632
13,80 =t 574 =0,515 =0,485 -0,340 =0.351  =04258 _=0,21) 0,188 =0,024 -0,036
13,10 0,128 @,210  ¢,26% 0,397 0.3197 D514 0,538 L858 0,538 0,539
11,20 Ne5a3 0,503 T.514 Badd b Daddi 0.355! 0,280 Ca245 D175 0,187
13,30 a,105 0,070 0,058 0,036 =0.034 nB,004 =0,1%% =0,176 =0.281 =0,281%
13,40 20,359 0,468 =0, 4Bl =0,621 =0,8%2 0,726 «D,796 =0,R0B «0,9GY 0,901
15,50 0,949 =1,053 «1,806% «1,195 =t1,208 #1204 =1,2866 ~T,P486 =1,356 =t 344
13,60 e e YabD 1,568 21 SBL =1, Pubk wt,THG 12729 1,837 =1, RE7  *1,960 . ~1.987
15,70 e?, 034 =2 118 2,130 -7,317 =7,305 “2.294 =2,387 «2,387 =2,387 2,411
15,80 =2 46T w24504 2,506 «2,52% =72,528 =2,539 2,504 m2y516 -2,5¢8 -2,574
15.90 «?2,610 w2680 =2, 66F -2 ,7TR «2,750 2,762 =2,785 «2,785 =2,R7% =2,892Q
a0l =2,%02 =2,907 «2,90¢ «2,B&7 <=7.9%4 2,937 =2,984 w2,984 =3,047 ~3,019
14,10 . F3 007 R2,872 =2,900 =2,914 2 R00 “?, 879 _=2,80R _=2.797 =2,69% =2,433
4,20 =2 621 =2, 65T 2,457 2,294 =2.23%% 2,273 w2,04R =2,04Kk =1,934 =1,R57
14,30 aY,524 w1,685 «1,685 «1,A08 «1,565 =1,535 =t 406 ~1,393 =1,2909 =1,217
Theel 1,217 1,077 1,077 1,007 «0,878 =0,846 =Q,738 0,726 =0.654 =0,982
Tha50 “0,582 w04h22 0,398 0,314 0,270 =0,270 =0,1%3 «0,153 =0,09& =0,035%
Teeal =0.0%4 0,128 0,140 0,187 0,268 0,269 0,539 0,374 N2 0,677
Te 20 . B Y Y- LU - A 1 G, 338 $u58% __ Dayedld 0e86% 0,772, 0.B07 0,842 0.o71
16,80 n.971 1,181 voete 1,251 1,352 1,392 1,485 Y.579 1.8 1,799
Thyal 1,719 $.907 1,918 1,930 2,059 24067 2,176 2,284 2.52R 20433

—50—



M S L OEE IO L 5 BB O MR — AT

OATE 1PBO=06~2% STATION  NAKALZY CRUSTAL ACTIVITY DBSERVAYORYC(JTZ)

COMPONENT Eww SAMPLING TNTERVAL 0,01 ($&8) TGTAL COUNT OF DATA $000 DURATIUN 30,00 (SEC)
T{$EC} VELOCITY (K[NE)

15400 2,634 2,597 2.4 2,726 2,889 2.7 2.93¢6 3,006 3,018 3,089
1Set0 3.077 3,007 Y077 3.077 3,077 3.077 5,055 34030 1.048 .04
15.20 3.039 31,053 3.030 3,018 24983 2.971 2,936 24913 .93 EPLAR
Y330 2,812 2. 061 2,71L 2,71k 2,620 o 2a832 24620 E45RT 2,597 2.597
18,40 2.574  2.%27 2,527 2. %5%H 2,468 2092 2,50% 2e42% 2ot 2,384
15,50 24375 2540 2,246 2,246 2atbe 2,129 24082 11965 TuP85 1.907
15+40 1.28% 1,860 1.790 14790 1719 1.71% 1,708 1,564 1.602 1,462
19.70 1450 1,427 1 3BL 4,192 1,322 1,287 14251 1,123 1,128 1,045
15.80 0,987 8.936 G.783 N.783 3.573 Jud79 Dek21 DelpA a,21% 3,044
The90, L =0,059  =0,%08 0,281 0,270 «4,472 0,452 =045%15  =0,67% =0,679 +0,8319
16400 —0,960 1,007 1,170 -1.75% =1,2%2 1,286 =1,264 «1,28¢ =9,289 =1,32i
14,10 m1,25% 1,299 =1,2%Y 1,287 1,244 =le2kd ~t.284 =14289 =129 1,321
16,20 +1,36% «1,%49 1,406 1,418 m1,404 *1,38%  =1,.38% =1,38%1 1,781 =1,35%
14430 1,289 #1,299 «1,323 1,299 =1,284 *te26t  =1,.24%  w1,208 =1, 217 =1,2414
I e mla2al w124 W1, 206 «1,206 w1, 182 *1a124 =1124 «1,088  =1,049 =1,089
16450 =1,042 »1,047 =1,065 =1,08% =1,0645 =ta126  =1.124 =1,08¢ =1,077 =1,06%
16,60 «1,065 =1,077 «1,100 «f,124 =1,124 *1,08% 1,100 «1,08G «1,04% =1.N42
1670 0,583 w3,P83 o094k «0,925 0,925 =0:855 =0,855 =0,808 =0,7et =0,74%
14,80 =0,656 w0,058 0,574 «0,497 =Q.6hB =0.328  =0.340 =0,258 -0,2t1 =0,21%
1a.90 =0,0%7 »0.0t2 0,081 0,175 Q187 0,292 0,304 84397 0,468 0,683
T1Z.00 0,585  0.985 0,820 N EFE G686 0.768 G .760 B4RI%  0.8t% 0,807
17610 0,885 n.3a¢ o,9t¢ n.S7t 0. P59 Ta004 G.994 By994 0.036 0.93%
17.20 A,Re5  0.877  QLATT 0,830 0.B19 DLFRY  0LTH0 04702  0.A7E 0,674
17,10 f,5R% 4,581 0,83 n,en% 0,471 0,397 0,351 04339 0,245 0,249
17,40 0,187 04948 0,105 m0,000  =0,000 “0,056 0,082 «~04106 =0,%55 =8,15%
17,50 . =Ge284  m0,270 0,281 0,387 -0,375 *0,k68 =D, h92 04492 «0,585 =0,5¢7
17,80 =0,735R w0,726 =»0,72¢ -~0,B4% =0,B43 =0,801  -0,9386 04948 =1,047 =1,.042
17,20 ~1 100 =1,077  =1,064% «1,0%0 ~1.042 1,042 =1,06% 1,065 =1,065 ~1,.065
17,80 =1,065 1,112 1,124 1,080 «1,184 =T 1E2 =1.182 =V, 182 =Y, 00T =124
1700 =065 =1,08% =1,100 =1,08% =~1,06% “1.08% =1,124 =1,124 =-1,1%¢ =-1,15%
18,00 “1,182 =1,206 «%1,200 =1.511 _=1,247 1,286 1,264 =1,7864 =1,284 1,264
18,10 =1, 264 1,245 =1,241  w1,206 =1,187 “F,159 1,089 «1,100 =1,007 =0,98)
18,20 0,960 =0,8%0 =0, BPL 0,706 <0,773 w781 0,691 «0,491 ~0,657 =0.585
18,30 =0,550  =0,45%7 @D, 45¢ =0,32P =0,340C =3.351  «0.25R a0,2%R =0,199 «0,144
18,40 20,155 =0,067 Q,05Y 2,035 0e0%3 G128 0?34 Ge245 0,359 0,621
18,50 D632 0,573 g,58% ra713 B.B42 0.865 1.041 1041 1.470 1.287
18,40 . \FYALEES LY T4 TLht? 1,932 etk Yol 1,710 1,751 1.R2% 1,RB%
18,70 LL.LE 1,955 1,955 1,9RY 7,047 2,067 2,000 2,812 2,088 2,047
18,80 F.05% 2,082 2,094 Zatab 2.108 2.108 2LOF0 2,059 2,024 2,047
18,90 2,067 1,%89 1,989 1,945  1.950 Y.9u2 1,965 1,942 1,907 1, AB%
19400 t.R8Y T.fFB 1,755 1,719 1,449 Yeb4d® 14554 Y532 1.5u% 1,474
19,10 T, 485 Pkt 1,392 1,388 t.333 1,333 ta275 t.247% 1,251 t,214
19,20 1,216 1,099 1,066 1,083 [P AT 0,994 ¢,900 Q. 854 0,818 5,72%
19,30 0,725 0.843 0,585 0,573 Doks2 0.4kt .09 G397 0,397 0,297
19440 0,282 0,822 0,152 f 140 Ba011 04073 =0,000 =0,071 =0,082 =0,188
19,50 «3,199 a0, 793 0,363 wr, 343 «0,468 0 4AB  =0,527 0,574 =0,57¢ =0,409
19,40 4,821 =0.854 «0,697 wn 401 ~0,726 0,776 =0,724 =0.776 ~0,7¢6 =0,724
19,70 a0y P48 0,891 an, 707 #0,6% «0, 681 =0,4891 =0,A487 <-0,47% =0,847
19.50 «0,691 @0, 691 «0,691 =0,728 “0, 702 w0,891 0,491 =0,681 =0,74¥
18,90 ~0, 786 a0, B0% <0, RAR  =0,%43 0866 =0,890 =0,90% =0,901 =0,409




EHUBEMEFRRt 7 -HRER $445 19081514

DATE 1580=04=27 STaTION NakAlZIf CRUSTEL acTIyvlTY CBSERVATORY{ILZ)

COMPONENT Buu SAMPLIuG LNTERVAL O,1% {$EC} TOtAL CAUNT OF DATA 000 CURATIGN 30,00 (SFEY
T{5eC} YELOZTITY (VINE)

20.08 B, 225 «0,948 =0,983 «0,977 =0,%/2 =9, PR =3,98% =0.972 -0,98% =},01%
20410 =1,007 «1,018 =0,97/ ap,a5 =0,%%3 «3,985 =0,972 =0,9137 =0,91% =0_,844
20420 D B10 =N BOR  =0,7kY =0, 78R =0,6%1 =0, 646 0,637 =0,%3% =0,5%0 =0,5%7
20,30 w804 0,492 =0,45¢ 0,445 =n.39R =0s351  «0,351 0,340 =0,52R =0,25%
20,00 m0, 270 =0,270 =0,234 arn,27%7 =n,2N1 «83,15%% =0,15% =0.087 ~0,059 =9.902
20450 f,029 0.023 0, a5 r,ngf 0,115 &, aR1 o, 081 Tyt08 O.0pt T NET
20440 5,081 0,081 0,05k 0,058 D.05A «0,ar0 0,011 «0g04p =0,059 =0,082
78,70 af, 117 =N,117 0,10t a«fi,t537 =0,174 w114 =0,117 =0,1%% =D,153 «0,153%
70,80 “0, 117 w0, 117 a0,176 =0, 2%%  =0,203 “0,2%% -0.29% =0g3%ts +~0,5G5 -D,29§
20,50 =035 =0,340 =3,3151 An,373  =0,363 ~0, 540 «0,186% =04445% =0,457 =0,449
21,00 0,457 wm0,k88 0,497 0,539 =0,550 0,589 0,985 =0,AG4 =D,a%6 <=0,4867
21.40 a0, 707 40,691 0,702 0,681 0,702 =0, 47% =0.8%1  =0,4ub 0,844
21 .20 e, hhT w0 BE7 w887 =0, B37 =0,A52 w0557 «0,874 =0,527 =0,527
AR £ =0,947 =N,542 =0,574 =0,A01 0,491 =076t =0 7RG =0, A1 =0,3%%
21,40 =N, B0R a8t «0,88F =0, 808 w0803 “0 773 0,728 =0,597 =0,809
21,50 «0,574  ~0,515  =0,48F =0,350 =0,35%1 a0 184 =04129 0,010 =0,000
21,40 0,070 0,081 0,18%  ,24% 6,257 0,397 04421 0,5¢% 0,573
21,70 0,47R a.72% a,72% G4B45 04854 0.987 0,582 0.%54 0,994
21,40 ‘. 029 1,086 1,074 1,134 1,144 1.287 14298 1.38R 1,56%
21,90 1197 1.462 0 1,47 1,474 Tekd 1,427 1427 Tehs0 1,427
22,00 VL5357 1,357 1,34k 1,392 1,368 t, 251 14251 Te216 1,214
2210 1,214 1,191 1,493 1,228 1,228 ta2bt 1a20% Tel1o1 1,148 1,144
7220 o134 1,958 1,35k 1,08% 1,099 1,099 4,061 Yefat 10T Y nEd
22430 t,017 0,559 6,571 0,92 N.8%4 B.819 Ne?25 Te7R7 Qe 702 Y13
22440 DaAtt 0,561 0,56% 0,648 0,197 0,362 0,292 0,292  0,17% 0,081
22,50 0,0Tp w0012 =0,012 .0, 0t7  =0,188  =0,19% 0,220 0,270 -0,351 «8,410
22480 =0,483  wQ,574 =0, 542 -p,6%7 =0,77H «0, 738 w0819 =0,819¢ =0,8a46 =0,949
22,70 ~0.577 =1,077 =Y, 027 =1,150 =f,2%2 w1266 =1.334 =1,386 =1.38) =%,(8%
22480 1,488 =1,533 ~1_55/ ~1,A15 =1,450 *1,8%8 =1,706 *=1.,68% =1,662 ~%,415
22.90 w1 615 =1,0605 =1,597 w=1,.357 ~1,545 =1.557  =%,557 =1,%545 =1,521 «=1,484
25,00 .. ._e1,69% =1,535 <1,51C =1,498 wt,475 _ =1,673 _=1,4675  =1yhe3 1,075 =1,479
?3.90 =1,47% 1,698 1,610 =1,531 w1543 1,533 e1,4%3 =1,49R =1,49R =1,53%
23,20 21,521 w1.675 =1 475 =1,475 w1440 1,440 wl.kk0 1,593 =1, 358 =1, 3B
2%.10 =1,38%  =1,33% =128/ et 244 =1,185 1,159 =1,124 =106 =1,042 =0,972
23.40 977 0,841 =0.B19 an, Ra3 =0,714 w716 =0,60% 0,692 =0,4e8 =0,32%
21.50 “0,340 w0,298 =0, 164 ap,15% w0.082 =0:071 =0,000 0,081 0,105 9,290
23,80 . 0,2th 0,280 Q,386 0,396 0,488 LQes7 _0L526  D.bgn 0,620 0.79%
23470 0,787 0.81% 6,812 6,900 3,371 [Lr 4017 Te0i Telat 1,078
23,80 104 14041 1,191 1,090 1,076 1,089 te134 1,099 .11 1.1%4
2%.90 S EY 1.738 1,158 1,158 1,158 1148 Te134 14099 T, 111 t.099
2ha Q0 1,084 1,074 ,061 1,061 1J0F9 0,971 2,936 ¢ 900 D,500 0,819
2hg10 o ha?8% Q.77 0.6l 0,760 0,37 L 0pTAO 0,760 0,737 __0.757 0,737
24420 Ge272 9,783 o, Tet D740 Q747 0et50 0u678R 0,678 0,878 0,678
24430 04655 Ged55 ¢,808 04 60F 04585 04,596 0,585 0,561 0.561 0.573%
24040 04473 G361 0,538 0520 0e338 045013 04503 Oglbd Oabuk V621
24450 0,408 0,21 0,327 0,349  0.327 0,2KO 04,280 04289 0,26% 0,245
24 ,n0 a.,222 fa222 0,187 0,187 0,117 04058 B5.0%4 =D,000 »Q,012 =0,038
Phaetl. =0,059  w0,059 «D,12% 0,108 =0,0%4 . .. _ =041%7 =0.106 04117 =0.129 =0,14%
24480 wd,174 «0,176 2D,153 0,151 =8,141 =0, 174 0,176 =0,176 =0,176 =0,174
24490 aBy14t =04153 =0, 176 =0,153% =0,141 m0,153 =0,15% +04117 =0,117 =0,117



IR £ UER N & 2 RBRIBOE KR — AT

DATE 19800629 STATION  NAKAIZU CRUSTAL ACTIVETY ORSERVATORY(JtZ)

CGMRONENT Ew SAMPLING [NTER¥AL 8,51 (SEC) TOTAL COuNT OF DATA 3000 DURATION 3n,u0 (Sg¢
T(SEL) VELOCTITY (RINE)

25,00 w0, 047 ~0,05% «0,026 40,036 =0,036 0,070 0,058  Q,0%8 0,081 0,181
7510 0,081 0,081 0,105 0,105 9,105 4,105 0,817 0,128 0,1} N 14}
75,20 04165 0,175 0,987 0,187 0.187 G,222  0.222 0,187 0,18 0,140
25430 . 0,128 0,117 0,417 0,195 0,105 0,105 04105 B 117 0,195 0,108
25440 0,108  N,165  ©0,%0%  o,%9% 0,10% 8,105 0,481 CunigY 0,041 0,081
25,450 023 04011 =0,000 =0,036 =0,05¢6 0,096 w0.071 #0¢M59 =0,059 =06,259
25460 0,059 «0,096 =0,117 =0,054 =0,0%9% 0,129 =0, «By117 =0,117 =0,107
25470 0,17 w178 0,199 en,tey  eg,211 ~G.236 =0,270 +0,293 =0,2%8 =0,270
25,80 =0,37%  =0,314 =0,316 an,316 ~0.816 =0.318 «0,316 =0,318 ~0,351 «0,540
75,0 *0,3th =0, 316 &8,31¢ a0,3ts  =0,3528 =036 0,540 =04351 =0,2%1 «0,291
26,00 0,243 0,270 «0,27C a0, 270 =0,25%8 =0a234 =0.234 =0,234 =0,19% =0,711
26,10 «0,234 0,211 w8,21% ap,24% =0,199 *0,211 =0,178 =0,176 =0,176 =0,%7%
26,20 a0 176 0,999 =0,19% =0, 106 .0,10& =0,0% =0,106 =0,117 «0,089 =0,0%9
26,30 =0,099 «8,059 =0,05% =0,05% =0,071 0,084 =0,117 «0,117 =0,0%4 =0,117
26,40 0,155 0,117 =017 a0, 147 =0,104 =0, 117 =0,TI7 0017 =D, 117 =0 084
264590 «0,005 0,117 «0,117 0,006 +5,0%9 =0,0%6 =0,05% «0,05¢ «=0,059 =0,05%
24,60 =0,055 =0,024 =0,08¢6 =0,088 =0,047 =0.059 0,01t =04000 0,005 0,011
?6.70 0,011 =0,000 0,00l 0,035 =3,012 0,036 =0,000 0,000 =0,0u0 =0,0824
26,80 =0,834 «0,05% 0,059 «n,059 =9,05¢ 3,059 1,81t =04000 =f,00u0 0,923
24,50 8,027 =0,000 =0,012 ~0,0%4 =0,059 #0,0%% =0,096 «0,082 =0,05% 3,036
27.00 =0,06%6  =0,000 G011 n,d%5 0.070 0,0%8 0,054 0,081 0.1uS T,a87
27,10 0,081 0,175 0,163 0,14} 0,147 0,1F7 0,187 0,187  0,%s5  0,1e%
27.20 0,165 0198 0,147 r 147 0,2¢2 1,210 0.222 0y222 0,222 0,734
27430 B,222 0,222  0,p2¢ 0,222 0,272 0,222 0,222 0,727  0,2¢2 0,247
?Teul Da2yh 0,257 0,245 rL 245 0,245 D.2&5 Q. 280 0,257 D.24b 1,245
27,50 G265 0,245 0,210 G, 1R p,ta7 0,187 0,128 0,081 0,01 0,02%
27,40 0,035 0,058 0,072 0,024 0,036 «0,026 =0,000 =0,047 =0,0%0 =0,02¢
eT 70 «0,0%34 0,058 =0, 03F 0,034 =G,074 =0, 036 =0,024 ~0,0589 =0,0%e =0 129
27,50 20,106 B, 117 «0,117 wn, 117 «fi,15% =0.153% «0,193 =0,14Y =0,15% =0,24%
790 “0,2%h wD,?34 0,270 wer,25r ep,28% 0. 2B e, 2R1 0,270 =0,270 =0,%5%1
3,00 0, 31A w295 e0,318 w0, tn =0, 241 =0,29% =0,79% =0,7R1 =0,29% =-0,254
P8,10 =0.236 w8211 =0,164 =, 174 =g.14% *0,129  =0,117 =0,117 =0,11¢/ =0,05%
28,20 0,014 aQ,038 0,000 =c,040 =p,000 0,07% 0,08% =0,000 =0,000 =0,009
23,30 =0.024  «0.036  «0,000 ¢, 060 ~0,000 0,028 0,023 0,088 0,038 0,354
28,00 N.NR1T 0,081 0,105  ,10% 0,105 0,128 0,128 0,19 0,1u7 0,183
25,40 De?34 D.FA% 0,24% 0,257 0.2k 0.3R0 0,280 0,Y04 0,247 0,289
28460 0.z6% LRy L a.35% 0,377 14339 0,384 U.336 Ga3s 0,362 0,362
28,70 Bu38r 036 0,367,381 0,327 0.339  0.%2f B4304 D280 0, 2e%
23,50 0y?45 Gelab 3,187 0,198 4,222 0,187 0.1R7 0yth3 0,152 N, tz%
78,90 fut468 0,152 0,105,187 Q.12R 0.10%  N.tHS  DL.O08E D,08R 0,053
9.0 G055 N.025 =0,00L =r, 00c =0,000 a0 000 =5.007 «0,056 =0,034 »0,9%4
29,10 =0,08% «0,059 «0,09¢ P, 004 =u,0%4 ~D,0%4  «0,082 «0,08¢ =9,0847 =0,0%4
29,20 0,004 0,082 «0,05% 0,007 0,094 0,059 =0,071 =0,004 =0,094 =0,164
25,30 “0,064 =0, 0¥4  =0,0%6  an, 0oL =0,0% ~0,0%% =0,021 «0,094 =0,044 =N, 09y
29440 0,057 =0,047 «0,0%% «0,038 =n,034 *3,038 =0,024 =0,N24 «0,0u0 =0,007
2850 G.03%% 0.04% 0.05% feORY Gu0At Gu11F 010% q¢105 0140 0,123
29,80 0,128 D.te0 DL12E 0,14 nL1m3 0,194  0.1R7 D187 0,157 0,187
23,70 n.222 h,222 B,22¢  {,1a7 be147 9,222 04222 Oe?2? 0,222 N.222
P9uR0 fy222 Ge222 B,222 0,227 Nerl2 J.18¢ O,1%7 DetR? 0,128 1,147
29,90 APR TR 0,163 8,163 Cu14% 0.1A3 D.t2d n,12% Da.128 0. tLs 0,105



haTg 198Cafd=2y
COMPOKENT Y=D
T(SEC)

C.

010
ezl
Q.30
Jetl
Tas0
0unl
d.70
9,88
d.50

1.0l
1,10
1,20
130
1Tet,0
1.50
teal
1.70
TeR0
1.90

2.0l
2,10
2,20
2410
2.u0
2450
260
2.70
2.80
2,90

3.00
3,10
.70
330
3.kl
Y.30
.40
$.70
5.80
LI

4D
4,10
Ye20
by 30
badl
(Y31
Gyh0
Ge70
[
4a9t

Earph RRERR ey ~HRER $445

STATION
SAMPLING
f,054 f.051
0,01 A ne018
a,n74 B.074

=0, 155 afLt8l
=0, 0&A n,33%
LLETY n,004
afi N2 =g, U043
=N, 064 =0.101%
=0, 207 i 218
=0, 252 =0, 218
=000 «0.0886
=0,41% =0,675
«0, 710 =0,733
~N,884 »0,875
n,2n% 6,203
-t 101 0,078
=, YeN 0,195
0, hB4 =0.686
me20% 0,203
0,003 0,094
=0, 987 =D 064
“li hTh  =0,474
0,827 =0,550
=-t,0Rs =1,075
0,544 =0.55%
C=0,73% 0,722
B.47? f.bdB
LISETY f,13%
0,067 f.086
1,207 1,209
L PN LERAt:
.78 .22k
0460 8,695
LY 2] Ne226
0,277 0,326
=0, 21H 0,277
D452 =0,429
0.545% O, kiB
0,036 0y051
0,589 Ba5%%
.67 n.812
De624 0,818
N, 23R8 a,2%4
0,389 LIRS
1,384 1,373
0,367 0,320
0,242 «0,113
6,750 0,714
P67 GaekidB
wnlr30 w0277

NAKAT2U CRURTAL

INTERVAL 0,01

(SEC)

toTalL CnUNT DF BATA

VELOLTrY (kNEY

o.051
0,027
n.0%%
-0,140
0,018
0,016
T
0,148
-0,277
-0,422

=0,15¢

-0, 733
6797

20,242

C.07h
o, 051
[ Y
=, 187
n1a
r,Nag
w04 %
., 18T
= f6d
-, 172

-0, 125
=0.727
e R0
=r, 558

C,23R
-l ,P1F
ar,3nn
= BN
.Y )
-l 547

-0,752
0,358
-0,9%7
-1, %00
=N,8%h
-, 534
n,h12
-0, 12%
Pee??
1L NeD

Ny638
c.2?3
G554
n, 18P
-0, 350
=0, 5oL
=), 289
L0
[FN 22
fahZh

L. 518
Taf29
0,214
G.507
1,514
[P
LIREY
n,1sd
n,an?
=n,101

a.077
0, 0U4
=0,020
0,140
0,004
9.004
-0, 00K
=A,1A0
~0,2R5%
=-0,070

NRET
LI A4
-0.727
-n,3%5
0,097
“0.242
-0.442
0478
'PTAS
~0.584

0,768
0,581
=0.%32
-f 397
00N
=0 4KE

N,4%4
=0y148

Nak?2

T QRO

T
Ny281
04554
n,teR

i 547

=0.3%4

0,289
DL 4R
ny0%1
0.65%%

f.507
Deb¥4
nat58
Da84?
1.174
0,121
D.214
0,074
01?1
o Q0R

— 56—

tE Al
Qennd
=0, 008
=0,1469
0004
2.006
0,020
=0, TA0
=0,2F@
=0.114

«0,164
=0.792
=0,675
0,285
4,048
=0y 18%
“0.%25
0,371t
A.%5%
=046

=0,710
“G.678
=0, %47
=0 RG7
=0, 5R1
0,288
0,518
-0,230
N.7RA
.82

FLIA
[ R
0,459
=N.0F8
=D 265
“0,57%
ELTR EEA
Tetl2
3,078
G.753

0.&?2

Q.62

g0
9.8%1
1.0R80
0,074
t.278

0,051,

J.1568
Ta0064

ACTIVITY DESERVATERY {12}

3q00
G.059 0.062
fa0uG g.014
-0,020 =0.085
0,090 =0,11%
0.016 =0.00R
-0,008 =0,004
0,004 <0400R
0,195 04247
«0,500 =0.%1%%
“0,t87  =0,020
=0.21% =0.33%
=0,792 =0.722
-0.616 =0.675%
=0.195 N.07e
~0,00R =0.183
=0.16R  =0.055
~0,52% =0.4863
w0, 571 =0414R
0,520 fatat
-, 675 =~0.8%0Q
w0, 710 =lebal
0,678 =0,748
3,987 =0.F54
=0,BA5 =0.7RO
04593 ~0.451
«0,112 _=0,090
D.495 4285
0,207 =0.742
0a799 14022
1,080 1,033
0,612 0e930
du191 Qa4
0.612 0,529
6,073 =04109
“0.207 =0.19%
«0,523 =0.5%4
0,016 04062
Qudl’ 0,351
2.074 04084
G.B5R  O,R%R
0,390 0s250
9,530 82549
0,020 04008
1,139 1,118
G989 9,R93
D, 148 =0y125
0.402 0,578
~0u 031 0004 _
~0.008 0,018
Cy158 Gata2t

10815%1H

TURATION 30,00 ¢S50

n,ag?

f.0ss
=0,086
-0, 101
=0, hu¥
=0.020
=0, 0uR
=0, 2u7
=0,8%24
=0.043

P ¥
0,743
=0,675

G,n049
=0, 150
-0,0/8
=0, And
=-0,0%0

N, 75#
=-¢,850

0,594
=0, 7&H
=t,002
=0.,675
0,683
0,121
D,246
~0,187%
1.150
n.o2#

Q38?7
D.256
0,637
=0.230
=0,%63
=0.a41
Tu4 42
T.097
[ A
N R3G

DakaR
0,367
0.0n6
1.267
b.6ds
=0,277
0,547
0.tz
0.014
G, 00¢

-0,20%
781
-0l 522
-0,764

n,n27
-9,904
-n,155
-0.213
-9,242
-0, 574

~0,59%
LY TS
=0,884
9,21%
0,183
=0,37%
=733
0,107
0.214
-0, 952

-0,483
-0,762
-1,037
-0,405
-0,488
0,189
0,226
0,172
174
0,760

0,190
0,296
n, 43?7
0,214
=0,184
=0,452
n,425%
D121
D44
n,799

0,495
0,155
0,163
1,14
n.a7?

=0,26%
0,273

DLios

0,172

n.0%9
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DATE 1980=06w29 STATION  NAKAIZU CRUSTAL ACTIvITY CBSERVATORY(J1Z)
COMBORENT UaD SAMPLING TNYERVAL 0.0Y (SEC) TOTAL COUNT QF DATA 3040 DURATION 30,00 ¢SEC)
YeSel) VELOCYTTY (KINE)
500 0,039 N.074 0,135 faaf2 0.510 04530 0,659 PPLITS Dea12 0,539
Se10 8,530 0,602 0,402 ¢,3¥90  p,562 0,542 0. 708 0,704 0,758 0,589
5420 0587 0,507 0,565 0,647 0,671 0,647  0.601 Deh2h 0 647  N.587
5930 e NSBG 0,486 0,472 0,437 0,378 0,378 04507 0,695 0,495 0,578
5eb0 0,390 6,285 0,241 0,226  0.F81 0,275 0,355  B.4D? 0,437 0,554
5450 8,554  Q.589 0,812 0,024 0,354 0.556 .30 0.20% 0,133 0,214
5.80 0,226 0,530  ©,69¢ n.Ap1 1,361 1,326 1,747 1,RA¢ 1.3k 2.051
5.70 24060 24780 2,09 2,043 1,857 1,852 12490 1,324 YeZah N B4k
5480 b.A8Y 04583 0,581 0,250 =0,05% 0,031 w0 242 =0.280 «0,13% =N,594
5.90_ L =DLSSA. =0,9589 0,476 w0, 8k _=0,474 0,476 aB,457 ~D,789 =0,2% 0,084
4400 0,097 0,625 0,401 PR Be952 0,975  1.244 1,384 1,386 1,448
8410 1666 1,525 1,889 1,756 1,759 1,759 1.7 1.677 to66S 1,880
4420 1,618 1,568 1,525 4,537 1,3%% 1,341 Y291 Tet1% 1,118 0.505
6430 TL,R5R 0,753 0.577 0.58% 0.44% ¢.3190 0.27% 0.t09 0.10% =0,097
be40 o =0a 143 0,160 a0, 020 0,020 np,008 =0,020 =0.031 =04101 =0,10Y ~N,0%1
6450 d.004 0,074 0,294 0,285 Tt ?S Ga4ng 0,590 .390 0,390 8,507
LYY Qyh2h Ny it 0,528 0,914 1.11% Y104 1,304 Te?44 1,257 1244
8,74 1,237 1,232 1,191 1,807 1,057 0.940 0,846 0,495 n.530 0,347
Ge80 0,531 0.308 0,203 [PRE- D062 G,087 0,016 =04t4R =0,1%3 =0,0644
6490 =0.t01 0,101 =0,26%  +(,242 =0,242 =0.372 =0.3524 =037 ~A.3594 =0,58%
7.00 N 78R «0,803  =0,944 wn, 932 =p,982 =0,862 =0,850 «=0,7B0 «0,737 ~-0,440
7410 «0,523 =0.31% =0,406 wp,Y04 ~p,300 =0, TR =0,172 =0,180 =0,1¢% =0,00%
720 0.062  0.074  0,23% 0,216 0,758 8,250 0238 0,105 0,084 0,008
7.30 =0,13%  -0.18% 0,277 0,739 =0,38% 0,559 «0.3%9 =0,396 0,817 =4, 444
o4l =048 0,476 =0,45¢ wg,h4t =a0,452 ~0.33%  «0,83% «0.00R 0,082 0,183
7450 0,53 0,320 0,425 0,347 D.3YY q.3%1 04367 Dy448  0.6u4 0,513
7eb0 Ha602 0GR 0,348 fL613 0.480 2,624 0.b01% 0,577 bLk2?  TuAtY
Por0 0,285  n, 296 0,28b 0L ¥14 0 0,24 D.29% 0.216 0.2t 0L133 a0
TLAD =0,00% «0,008 «0,113 =0,94% =0,140 ~0.205  =0,300 =0,511 =0,48% =N,49%
7,58 3,952 ~0,90% ~0,9%1 &t fEF  -%,037 =104 =t,037 <%, 086 =1,154 =1,174
a,00 =1, 482 =1,632 =1,822 1,784 =1,810 21,950 =1,9%8 1,987 =t,9a7 =t,042
.10 =1,832 -1,90F 1,897 =1_880 «1,KRn =1,RZ1 =1, 821 &1,A21 =%.751 -1, 743
B,20 =1 h95 a1, 60% <Y 48% oy 691 =4 ,422 “te45Y  =t,494  =1.505 =1,5&¢ =1,987
.30 =1.822 1,658 1,72 -1 947 «1.9%0 ~2,813 eZ,4kl 2,805 =2, KKE =2 B4}
LYY =t MBS =3,187 23260 a5 4uk =F.470 =340t 3,854 =3,79A  =3,207 3,214
R.80 *1,202 =3,202 =3,200 =3,10K =35,138 =2.874 =2,78% «2.7%11 «2.5,7 =7 .5%2
840 ~2.641 «2,301 22,231 «1,927 «f,527 =1,599  =1,447 1,168 =1,t90 ~t,201
8,70 “1,075 0,946 «=0,909 =073 =0,748 0,616 0,548 0,534 =0.476 =0.474
8,80 ~0,511  =0,805 =0,405 =¢,55% =0,5%4 0,40k =0 218 <N, 207 =0,0%% =0,755
8.50 D006 0,088 0,097 1,294 0,294 0.378 0,402 0,413 0,507 0,539
9.00 DLAT7 0,859 0,859 729 3,753 DL P97 0.952 04%57 1,118 1,162
.10 14258 146355 Y, 459 1,6¢% 1,650 1L hES 1,742 1,717 1,817 1,29
F.20 TeRse 1.508 1.R40F 1,7¢2 1650 1.525 1,254 1e267 1,080 1,022
Fa30 0,952 0,81 0,893 0,83 [,8%3 GoB70 3,905 0,853 D92k 0,094
Pa4l 0,893 0,858  O0,R5E 0,741 n, 62 G.bL?  B.812  Ne812 0,554 0,5%R
9,50 4,519 0.824 0,604 ¢ LhaT D.085% 0471 0,647 hyd859 LTI 0,784
P.60 O TP4 0, Bed 0,835 6,70% 0,744 0,758 0,753 D474t 0,667 0,587
Fa70 0,545 Ded2S 0,428 . E55 Nelht 0215 Be109 0,109 0,059 =0,.30%
P80 =0,00% aDV1F w0125 ap,29R  =0.7KS n0u2F9  w0,406 =0.582 =0,359 =0,187
9.90 =N,182  =0,8380 ~0,1%5 0,078 0,004 0,004 Dat4h DeteR 0,298 N k1%

J— 57.__



DATE 1530=06~23
COMPONERT UsD
T(SeC}

10,00
10.10
18.20
10,30
10,40
10.50
10.40
10.70
YG.R0
13.90

11,00
T1.40
1,720
11,10
T1aul
11,50
Y14
MNert
ARY.1
11,40

12,00
12440
Y2.20
t2e30
F2440
12.50
1260
Y2.70
12480
2,90

13,010
15.10
13,20
13,30
1300
13.50
13eal
13.70
15,80
13.90

Thagt
14,10
1420
Y4430
Y440l
Y4,50
4,80
feo70
T4a80
14490

EVHRHEREe Yy —HEE® #4445

STATION

SAMPLING

fakQs
NaTlt
1174
1,620
N.88Y
0,113
~0.b4&4
L1 1%
gtk
1,567

-1.351
-0,554
0,675
-0.88%
0, RAG
-l kTA
8, 14K
-1
1,190
PR

G.09¢
a,18%
M 62
LINLE 13
0,857
Gy214
0,581
1,084
-0 REN
af,02n

n,477
ne612
Neat?
faan?
T
rL300
ATy
1,791
1,184
0,554

=N §59
-0,0%
-t 248
.27
=1,771
1,190
=0,71N
-0,05%
6,08
ALT5%

0,507
0,844
1,209
1,441
0,764

-0,289

0,589

1.0

1,728

1,552

1,547
-0,%23
o 675
0, B35
«-N,885
0,452
0,148
n.621
n.390
B.154

0,109
D.17%
.02
Oa647
n.952
Nag14
=0.5%3
=1,0g¢
«0.B5%
0,004

0,919
0,549
f,612
n.52%0
De261
NDuks!
1.018
tocat
1,115
Be343

ELMT L
-n,97%
1,243
1,248
.t,27t
1,756
N %46
-0, 008
N, tasd
D555

NAKAYZY

INTERVAL R, 0T

(SELY

TOlTAL EOUNT QF

VELOLITY (xIME)

0,498
0,905
1Lst
§,.39¢
0,694

0,32t

-0,663

-t,218

1,810

1,501

-1,150
«0, 593
-8,757
-0, 567
-0,90%
-0, 3%
0,30t
0,7?v
0,250
0.t5¢

T,138
B,21e
0,472
0, 6%
0,89%
0,1d%
=0,64¢
=1,131
.y, 792
Q,a62

3,5%%
a,52¢
G, AYE
n, 5%l
0,241
0,457
VLot
1,287
t,12?
0,387

-0, 457
-0,85¢
1,271
=1,24¢
1,285
1,151
-0,525
-0,02C

B, 16k

0,345

0,695
0.987
1,314
1,584
TN

al 324

“C.683

1,775

-1, R0

=T ,541

=1.190
-n, 501
an, 745
=, 75
a0, F9?
=0, 335
-1
L tas
e 2nd
e

P, T4k
a2
[N 1A
L TR
.94
Tolith
-r,TaE
EATRES]
RPN
R ]

LY
R 4
[SE.A I
iz
234
a7
1,115
1,167
1,087
Oaént

PR AR
=, H0
i, 28T
AN
-1,
1,040
ar,ut?
[RONLE
G179
€331

0577
14082
1,305
1,271
0,355
~0.5%9
“0.7'0
=1.342
“t. 51
at, 541

=0, P44
-0,593
0,757
0,994
0,874
G242
0,320
D.6fY
n.2%4
ne2%4

Da188
0,248
PIES
B.T1R
0,728
0,00k
-0, 758
1,143
i bt5
De1hR

0,556
nett2
612
Ne341
0,258
[N
[IRET
1227
tafted
0,%hE

“Ha593
-t 087
-1,342
-1,2%%
1,248
0,701
2?7
i NR
AN
Ne2 8%

— H8 —

0.577
TH069
Y.308
1,291
G.378
=0,371
=.722
=1,585
=1.751
=1,50%

=0,8R5
=0,416
~0.80%
0.k
=0,850
=0.144
Nak?2
04671
0,156
0179

D214
0,508
0.5R%
0,823
o802
=0 145
“0.,920
-1,104
0,452
0,543

Tai%h
0,612
0,502
.13t
TeEh3
04530
Y115
te258
Da952
N.N7h

=851
=1,073
=1.565
1,30/
=t.zbl
0,991
=0.e?7
=0, 008
0,203
N.2%4

CRUSTAL ACTIyITY OBSERVATARYC(J1I)

nATA 30080

0,647
1.127
1.549
Yet2?
0,208

~Gakd 7

-0,757

=t kk?

-1,728

=168

=y,a827
=0,840
=0.,839
“0,5%2
=0,850
ri,132
Ot
0.471
0,164
3179

0,703
0,298
0.577
Ge811
Dada?
=0.177
“N.920
=1.094
0,68
0,3%5

0.565
Ga.b0d
6,519
0. 285
0,250
Tea?1
tela?
ta?td
U895
=090

“0afB8
EAPRTA]
-t.585
1,27
1,178
=0, 885
0,177
0,004
T2k
0u281

1981811

BURATION 5C,00 (Secy

0eh47
1,139
1,398
1,080
0.t21
=04441
“0, 780
~t,517
1,427
el bk?

=0.698
04586
=3.RRS
937
-0,688
-0,031
0,634
0,612
0,097
AT

Qe2t4
0,331
Naki?
0,928
Oeb7?

=0y371

0,251

1,023

=0,3%59
B3R

04577
0.577
Bat9%
0,272
04773
BytR?
1,187
Te232
GRS

aly 4k

~0,757
14143
=1.35%
1271
1,178
a0y A74
B.t7?
0,004
0,285
0,213

0.45%
1,139
1.3
Y045
NLETY
“O. k52
=0, 750
-1, %1
~1.8¢2
“l, 667

=0,710
=0.62%
=0, 845
0,937
=0 bnb
-0,.0¢20
Dbl
N.577
0,109
0,1h8

0203
0,551
0.44?
0,340
Gaf?
0, h0h
=1,049
=t.0gk
=0, 21F
[

0,994
0.577
Gubal
0.241
0,794
N.BsE
1,247
T, 287
UL PGh

=0.76%

~0,R15
1,10
=1, 5350
=t,2¢71%
=1 1yn
i, 27
0,187

0,00k

N30

0.27%

% PR
1,174
1,408
0,881
0,125
0,452
PRI
=1,A34
=1.6%1
“1,15%

=0,581
=0,464%
=0,9%82
-0,932
=0.5%}
no07e
0,471
0,517
0,134
0,169

2,214
D,33%
N,434
G52
LT
0,444
=147
=1.02%
=0,73%
0,614

0,554
0,507
0,467
0,223
f,329
ﬂ,ia1
Ta2ddk
Te221
6,647
-fr,412

=0.474
-1.225
=1,28%
=27t
1,173
=0,790
b TR
0,437
N,355
0,233



IDERE & £ UEE T L SRR B O EREN — AT

DaTe 1980-0g=29 STETOM NARALZY {RUSTAL ALTIVETY DEBSERVATIDRY(J1Z}

COMPONERT U=D SAMPELI 6 INTERVAL 0,01 (SEC) TOTAL CoOUNT DF DATA 300G CURRTION %(,00 (SeCy
T(SEL) VELOETTY (»17E)

15,60 n,243 a,273 a,25¢ t 2% nazté 0.201 G.teR  O4tad 0,133 0,097
15,10 n,agr  0,03%  0,01¢ [ ] 2,037 =0,020 =0,08f =0,0k =N_07R
thez0 af N7 «0,078 0,090 ap, 1ol 9,101 a0, it =0,137 =0.%éh =N, 10 =0,125§
15,30 =N, 137  =0,180 =0,183 =181 -0,2%% "B, 2?77 =0,300 =0.324 =0,8524 =M, 359
15440 =t te7 0,335 0,355 =r 324 =0, 355 “0.312 =0,254 =0,21R =0,213 =0,18%
15,50 =0, 140 =0,078 =0,04% -0,055 0,051 0,097 0,168 0,294 0,214 0,548
BT 0,347 fa43f 0,472 fy kAl Y] 0,49% 7.5350 0,550 0,519 0,554
t5.70 By 547 n.530 0,554 [e4%6 0e429 0,601 B.8%2 04612 D,AT7 0,412
15440 nLn24 n.612 0.554 LT 04554 0.554 0,554 Daks 0,494 0,429
1590 n,.0? 0,350 0,320 Ce33d G370 G454% 0.55¢ 04355% 0,320 9,233
Y400 Ne214 De2%4 0,04t £l 057 0,059 G,051 0,05t =0,020 =0,0¢0 =0,060%
1810 =0,043 «=0,043 =0,045 =~0,06% =0,C0R 0.064 0.004% D5y n,0%% a,ni3
The 20 0,044 =~0,008 o018 G016 =0,G08B G,01% 9,039 =0,055 =0,043 0,043
16430 =0,M&% 0,046 =0,137 =0, 12% -0,101 *0.130 0,175 0,172 =0,098 =0,242
V6,40 =0,277  «0,277F «0,400 0,429 =0,478 =0.558 ~0,558 #0:628 «0,651 =0,47%
156450 -, %4 =0, 710 -0 RGS  =r,R05F  -N,R03 0,920 ~0,909 =0.909 ~0,A85 =0,374&
16,60 =N, 235 =0,874 0,803 0,752 =0,79%2 =0,69% a0,698 =0,8%8 =0,95F =0,534
Ve 700 ey hfh =0, k7 =0 3RBZ AN, EF1 -0,359 0,382 0,342 =8.789 =0,300 <0,%69
LI L =N, 242 =0,242 =0,t8C =-n,080 =0,07R =0, 008 0,008 0,109 0,153 12t
thag0 n,251 2,250 0,35% GobtH OekkD 0,568 0,577 B.47% 0,741 0,744
17,00 0,748 0.f%%  O,BTC D.R0Y Ny R Gl 928 B,328 0,952 0,508 0,90%
17410 £.952 04940 g,316 ry¥52 Da952 0.3%3 J.88% G 870 0.R35 n,844
17.50 [ Y 0.776 0, 77¢ ehd4 Hat%4 N,659 D.624 D4558 0.547 n,.55%4
17450 LA fe51% 0,495 N,a37 Debid Be507 LY Dqbt? Nuts? 1,637
1748 nLETH NeS%0 G 37k PPRE1d B33t 0,320 Qs259¢ B.273 0,341 n.521
17450 a3t 0,531 0,331 .33t 0e320 T,3%5 Q50 402 0,413 9,413
17,40 fh1 Bebkd 0,660 0,507 Tek9% 0,554 0,530 0.530 £.51% 7,531
t7.70 0,5%4 0,658 G.65% 0,894 T.708 0,728 . 84kb RLLE] 0,893 G,914
17.20 a,987¢ 1.010 1,016 1,010 tenta 1,033 Y4030 14040 1,043 1.087
17.50 teigs t.C40 1,06% 1,089 Ta0h7 1,033 1,033 1y 045 t.oto 0,9¢%
15,400 0,987 0.952 0,943 0,858  0,R5K DeBIS Q0,776 Dg?2& 0,718 0,482
18410 Q641 Be354 0,84% fyd9% Bouf2 B.460 Beti3? Deb3? [ 1 2,347
18,20 G.320 64285 0,2%¢ 0,261 ns2?3 6,273 Ge2t4 0q214 C.168 0,189
18,10 LR R D087 6,10% sl Na179 G.0%7 0,074 04074 n.ne? B.N74
18440 0,074 6,097 0,097  &,097 0,097 6,097  N,t48  Dy%eB 0,148  0,14%
18,50 0,179 04214 0,216 n,Pt6  D.226 6.2%8 0,238 04238 0,273 0,27%
18,40 fa275 . Qa337 a,320 Gud2n De3it Qafid 0,351 0,341 .35 4,355
18,70 0,855 04355 0,343 04355 0,343 0,135 Q261 04261 .26 LA
18.30 0,179 n,129 9,121 L.097 Dy074 0,074 8,004 «0,008 =0,078 ~0,079
18,50 0,078 =0,101 =9,137 =n,195 =05,2'8 =0, 218 0,242 =0,28% =0,300 =0,300
19.00 =036 =0,8585 =0,3159 =0,347 w~0.3H2 “R 382 =Q0,5%7 =04408 =0,387 =D, 4%7
19,10 B =0.617 =R bte  =0,484 =0 ,452 =0,47¢ “P,4b4 w676  =0,426 =0.476 0,482
19,20 “0,452 =0s652 «0,394 «0,359 =3,159 =0.35%  #0.35% +0,35% ~0.%35% =0,33%
19,350 0,335 0,359 0,399 ~0,3%9 -0,359 3,359 «0,28% ~04254 -0,254 =0.181
19040 =0 1RS «0,140 0,940 =0,140 =0,12% =0,125 =0,101 =04078 =0,078 =0,113%
19,50 Ge115 0,137 =0,18F 0,185 =Q,242 =34254 =0,289 0,332 -0,%82 =0,483
19460 =0, 4R% =0,523 -G,581 =0,%9% 0,722 0,688 «D,6R6 =0.,651 =0,45% =0,7%7
19,70 =0, 710 =0 098 =0,722 0,720 =0.698 =0,710 =0 710 =0,710 «0.TI0 ~=0,89%
19.80 =0, 68R =0,5675 =0_,840 =0,651 =0.4886 “0, 640 =0,5%5 =0,%58 0,589 ~0,423
19,90 ~0,40% =0.593 0,554 =0,5%34 =0,523 =05t =0.511  =0y441 =0,44) =~0,382



"AYE 19B0=06&-27
COMBONENT U=b
TiSel)

20,60
20,10
20,70
20410
20.a0
20,50
20,40
20.70
FO.&0
2oy

r.0f
21410
21,20
21,50
[APTd
21450
21eal
Pte70
71,40
21,50

22,00
72,10
22.70
22.40
22440
72,50
22480
22,10
2.0
PZ.?D

23,00
23.10
23,20
23440
25440
23,50
21,80
23,70
731.R0
23,50

74,00
2he10
24470
a3t
2huu0
2450
24460
24.78
24420
24490

BUBKHERR V4 —HREH $£445

— 60—

StaTraN NARA[2M CRUSYAL ACTTviTY OASFAVATORY L)1)
SAMPLT NG INTERWAL #,LY (560} TO0TAL ¢munT 0Ff DATA 1000
VELDCITY (WEYF)
al 337 =0,5%% =0,39% 0,350 0,315 0,312 =0,500
«f 254 0,254 =0,247 «0,08%4 =0,747 0,242 ad, 242
2N 177 a0 172 0,180 an 140 =0,13%7 =0,0k& =0,05%
f.nts 0,018 0,00 i, B1r NS L 9.027 .00k
LR n,a5% 0,864 r,Coe =n,078 =0,043 «N.043%
=P, MEY 0,020 =0,008 w020 =0,008 0,020 =-g.008
«fL B4 0,043 =0,07F 0,085 =0,043 0,078 0,064
P PO Y B L T S T L D =0.242 =0,242
«0,%30"  =0,300  «0,300 <0,335 =0.4359 nl,a6h =D,429
«f 4T w0, GTF a0, 417 <n,3RP 0,350 0,359 0,359
“0, 859 w0,547 =0,26% =0,24¢ =0 300 =0.76% =0,277
SN 4L WBL3T? el 240 w0, 21R =0.21K =0L.1RY =0,16%
S0,NE1 =D,043  =0,00F .00 asnts =0,070 N0k
A,N94 n,0s2 0,05t S ayn?g n.074 N.086
B, 191 0?21 0,16¢ 8,238 0,224 0,214 De224
0,294 0,273 0,273 0,28¢ Ne23% N.27% N.250
"e27% 0,191 0,179 0,19 n,191 G.214 0.158
P14 n.121 G, 0% T o7 n,17¢ T 144 TethA
n,191 0.17% 0 0,179 n,129 ne1 73 Q.148  0.20%
Na28% ne24% S Al 0,273 0.273 0,296 D278
n.241 N.238  0,23R  0,30% 0,273 L2085 3.23R
ny2t6 te2th 0,214 U 168 0,203 n,238 0,216
.18  Q.216 0,214 o154 Ne158 0.156 Tat2t
a,05¢ 6,097 D,10%  n,0%7 0.0%1 0.0%39 0,074
f,nep 0,133 0,12t 6. 087 Q.19 0.097 0,153
o, 5.1583 3,121 n, 097 4,097 0,097 Ga10%
8,024 0.03% N,08% 4,074 fy0elt g.016  0.016
0,008 «A,078 a0,06% «0,02R =3,078 =0.048 ~0.068
“f, 107 «0,081 «0,0435 «n, 043 =0,070 =3.,020 =Q.055
=0,A0R 8,008 0,00 n,019 Nafte g,0t6 0,024
ot t.0%7 0,10¥% n,1¢3 Ne158 o, 156 Det5%
0,203 7 0,214 0,203 r.2a% 0.2358 B.238 .27%
0,214 04214 0.2 rn,2a% ne2ts 0,714 0,273
N.2r3 0,281 a,261 f.275% Ne238 B.?26 G179
0,454 0,135 0,133 0,135 0,148 0,168 0,154
N,15&4 0,168  0,15¢ n,1a% net24 0.133 0,109
0,138 0,133 0,10% D109 0,039 8,03% 0,051
9.062 0,097 0,074 0,087 9.0487 G.087 0.097
N5 0,016 «0,031 =0,043 =0,078 =0.078 =0,068
w172 «=0,18% «0,1%5 =0,18% -f,14} “0.218  =0.742
0,277 =0.300 «0,300 -n,300 =0,33%5 =0.347  ={,459
afg k4 =0,417 =0, 35% =n,559 =0,3%4 =0,371  =0,3159
a0 627 mO.kt7 =0, 414 0,417 «B,406 =0,406  «0.417
“0,371 0,371 =0,359 -0, 371 0,417 “D ai7 =Db17
0,387 =0,3%4 0,359 0,389 =0,3% “De3?1 w0 A7
=0,312 «0,300 0,135 =0,374 =0,26% =0, 242 =0,262
0,180 wB.160 =8,42% =0,t25 =0,101 0,101 =g 101
~0,125 _+0,125  =0,128% =113 =0.101 =0.084 =0.078
«0.101 =0,10Y =0,04F =0,086 =03,078 0,157 =0.12%
w0020 =0,020 «0,85%% ~0,031 =-¢,008 3,008 =0,0CR

1981&1H

ODURATTON 14,04

=04765
-0.18%

0,014
=0,020
=D, 708
=0y 008
=Dy 078
04742
-0y 347
“By %94

an, 277
B, 2R
0,051
G.133
Dy 23%
Ba?4m
0yt 21
N.16%
N,214
0.2

0,738
04718
T.183
9,074
Be124
0.087
02004
«0,086
0,031
0,087

Dytar
Be?73
04235
0,191
FPRTL
Gy121
De0§2
04074
=0,183
0,277

0,374
n0y417
=0 %47
-Gy 387
-, 40p
=3y 21R
0172
~Go 113

0.f104

Oy01g

-0.7¢?
“0,19%

0.1
~0,0pa
0,081
=-0,0uL8
0,101
0,777
=0, 571
=0, 394

-0,254
=N, 125
0,016
0.047
0,773
n, 261
0.133
etel
0,149
0,254

Q,203
0,205
0,133
0.074&
n,0e?
0,074
0,014
~0,043
-q,0u8
a,ns9

8,179
8,275
Qu298
0.20%
0,168
0.141
0,087
0,086
=0,172
=0,26%

-0,34%
~0,417
=0,%47
=0.3vq
=N, 3ug
=0,7a7
0,148
=0a113
-0,0314
f.027

(SFCY

=-h,z7?
-8,1%5

037

0,004
=0.7%3
0,923
=0,12%
=0,%071
=0,35%
-0,582

=0,247
=011
0,014
0,107
6,274
0,281
N, 1338
[P N
0,191
G,285%

0,214
c.t9t
0,109
a.nth
a,ue?
0,082
~0,0603
0,099
0,008
0,138

0,214
nL214
n,27%
0,154
a,154
0,133
8,949
074

=0,14%

-0, 254

-0.371
0,441
=0.5%79
-0,394
-0,394
=0,195
“,137
0,125
“0,043

¢.03%



I B L UEEIC & 2 BB SRR — KT

NATE 1980«06=~2% STATION Nakalzi CRUSTAL acTlwlTY ORSERVATORY(IrI)

COMBONENT yap SAMPE NG INTERVAL 0,01 (§EC) TOtaL CouNnT OF DATA 3000 DURATION 30,00 €SEC)
T(Seg) VELDCTTY (K{ME}

25,80 n,051% 0,099 0,074 0,097 0.097 G121 L.133 0,007 g.124 0,138
25,10 n.ts2 0,086 0,155 g,t3% 0,133 0.097 0,007 0,087 0,129 0,133
25,20 N,138 D, Y4a 0,160 B.133 0,143 D168 0 188 0,191 hL1sk 0,168
25,30 N,%21_ 0,'2r _0,10% 05,097 n,50e G188 0,154 Dytyx 0,087 .09t
25440 0,09/ 0,097 0.10% 4,097 0,109 Tu188 0a188 BetéR 0,479 0,184
25,50 n,tEg 0,1%1 0,203 [T Ny 148 T.042 0.097 Nyt5s v.097 0.10%
2540 N, 104 6,086 g,a7% 0.04¢ 0.0% . 014 0,027 AL E A .016 a,0t8
25,70 TaN39 n,004 =0,00& n,Gtea Callid 0,018 2.03%9 T 0A2 N.035% 0,051
75,40 n,NER 0,062 0,062 0,038 4,051 1,109 D121 0,109 0,074 9,184
25,90 LIS ES 0,109 0,097 Bea133 0,108 D.097 f.074 Celi?h 0,148 a,134
26,00 0,743 0,133 0,153 PR R X 0.13% Telts 0,138 Netet De2té 0,191
2h,.10 N,154 0,166 0,168 fy 101 D151 D.1bH De2lh LEY AN 0,168 n, 59
28,20 fN.214  NM48 g 188 0,220 0a2l4 De2té B.258  D,23% 0,703 n,214
24.30 0.73R n.2%4 0,2 Ned2é Q214 04205 Te214 0. 203 Ou2t4 f,214
A0 Ny 214 nelth a,21¢ Cefld 2420% 0179 Gu2ld Cy214 n,ire 3,191
2450 N 214 n,2t4 a,214 ¢aPal 0,238 G.275 Ta20% Qa?th 0.27% a,224
26,40 n,2sn Q273 0,275 a,273 D230 0,754 Da275 D.27% 0.285% 0,503
28470 ra131 0.296 a,29¢ (14385 D24 0.27% Te296 J.2RS 0,296 1,295
26,30 D,29h 0,296 0,28% 0226 0.2R% LT 0,275 D4273  Ou296  0,%4%
26,90 fp b s 0,28% g,29¢ fL.7ah Ne238 Q.28 DaZ3R Te226 Ne?14 0,133
27,00 fig1%3 n. 48 0,144 0.138 Nel148 0.158 D.0862 Ge 086 G, 097 =N,908%
22.10 =0,008 =0,008 =0, 031 an Da6 «0,147 =0,129 =0,172 =0.195 =0,21R =0, 242
7.0 af 242 04560 =0,324 =0,35% =0,35%¢ 0,371 =0,52% =0,488 <0474 0,534
27,30 «0,92% =0,589 0,581 wn 593 0,944 =0,5%6 «0,508 «0.59% =0,5%3 ~0,52%
2704t A, 414 a0, 818 =0 £40 w0 840 =0,Al6 =0,6148 =N.5%5 ~2,406 -0,6%4 =f,55%
27,40 w0, 58% =0,%985 =D, 805 =G,6%0 =0,573 20,581 =0,534 0,523 =0,52} =0,474
27,40 SR hAh w0017 =0, 42%  =G,6b4) =047 0,406 =0,382 =M,382 ~0.3¢4 =0,3%9
27,10 =h, 387 20,359 «0,3%% 0,356 =f,28% “0,29% 0,277 ~0,2%4 =0,47 =D, P77
27,40 =0, P45 a0.242 =0,177 0,140 =n, 140 20,160 =N, 137 =B,07R =0,.07R <R 184
77,40 =N, 175 0,086 <0, 06Ff an,0F¥ =3,03% =0.,0%31  =9,G20 bALLE 0,089 =0,023
28,00 D006 0,03%  0,0t& 0,004 D074 0,074 Det74 Bel0® 0,007 0,133
2R,10 Ny tii n,154 0,179 ¢ Ne2th 9.250 Ga27% Ga25R N, 74k N7y
23,24 ng3ar a,320  0,28% oL 28k LYRER] Ga463 7s35% Tel2n 0,331 0,1
28,50 AT 0,320 0,3%5 o, 3&% 9,331 D67 1.378  0.%20 0.3 9,35%
28,40 n,472 n,3ZR 0,820 p, 83 0.378 0,35% 04355 0,413 Dyt 0,463
23,50 a,574 Na328 0,37F  0.YAT .29 0.3520  0.3%20 04390 0,347 0,329
28,40 fadgd 6,355 0,355 £,355 245%0 LELRE] D465 Ua37R T390 0,418
24,70 e,ign 0,378 0,370 SR Ga355 0,574 0,374 Be¥7R 0.35% 0,13

?A.R0 0,355 D343 0,228 ry 241 0,294 n,25% Da b0 De?ls Ta? b LA T
28,90 0,214 0,203 0,088 0,133 IS LY n.us? 9.10% 0,109 n,086  N,NT4
29.6:0 0,004 0,016 0,008 =-r,0%1  -p,0G3% «0u0LE =D,063 =010t =0,07R <=0,073
29410 0,172 0,172 =0,1%% w0, 21F 0,218 =0,25%6 =0.,242 0,247 =0.28% =0,285
9,00 L E00 =0, 312 &0,53% WD, 524 =0.3%5 =0.55% N 3?1 =0.4350 =0, 3mP -0, 3R7
27440 =0,%94 D394 0, 590 w0, %04 =0, 382 =0,326  =0,.35% 0,417 =0.39s =0, 3194
?%.40 20 190 D, 3H? 0,394 =n G064 =0.417 =0.324 =0,35% «0.,417 =1,359 a0, 359
2940 =0,8595  =D,394 <0 _ 39  =n,T04 =Q,382 o0, 45% =0,382 =0,417 =0,417 =N_417
PG.s0 0,417 =0.417 =0,38¢ =n,Iu2 -n,3% =0,359 0,559 ~0,3%9 =0,33% =0,%24
73,70 =0, 3558 «0,300 =027/ =n,300 =0,2%% *Ne242 =D,242 =0.42%4 =0,21R  =0,2%3
79,80 0,198 w0172 0,477 =0 TED mi, 1AD ~0,140 =0,%4% 148 =0,19t  =0,10

29,50 0,101 20,086 <0, 041 -0, 0fF =g,n?0 =0,008 =0,02N W0 0,006 0,004

—_ 61 J—



